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277CA/999 Edit Documentation

Overview

To document established X12 error codes reported in the 837D Claim Ingestion process.

277CA Validations

. Validation
Reject Reason 837D Loop Acknowledge.n:\ent/Statulentlty Reference Notes
Identifier Code(s) .
File(s)
- ) CSCC A8: "Acknowledgement/Rejected for
Billing provider must be relational field in error”
"associated" to the 2010AA/NM109 " .
; ) CSC 496 "Submitter not approved for
submitter (from a trading ) - T PCF Mapped
electronic claim submissions on behalf of
partner management 1000A/NM109 this entity.”
perspective). EIC: 85 "Billing Provider"
Billing Provider NPI must be
a valid NPI.
or
CSCC A7:"Acknowledgement/Rejected for
Billing Provider not valid in Invalid Information”
PECOS for this 2010AA/NM109 CSC 562: "Entity's National Provider PECOS Mapped
Receiver/MAC ID Identifier (NPI)"
EIC: 85 "Billing Provider"
or
Billing Provider NPI format
invalid
Beneficiary Identifier is not » )
an accepted MBI format CSCC AT7: Ackno_vvle“dgement/ReJected for
Invalid Information
or 2010BA/NM109 CSC 164: "Entity's contract/member CWF Mapped
number"
. ) EIC: IL "Subscriber"
Beneficiary MBI Inactive
CSCC A8: "Acknowledgement/Rejected for
relational field in error”
Billing Provider EIN not CSC 562: "Entity's National Provider
found. 2010AA/REF.EI Identifier (NPI)" PECOS Mapped
CSC 128: "Entity's tax id"
EIC: 85 "Billing Provider"
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5 Validation
Reject Reason 837D Loop Acknc_nfvledgement/Stutus/Entlty Reference Notes
Identifier Code(s) .
File(s)
CSCC A7:"Acknowledgement/Rejected for
Billing Provider has no Invalid Information..
ng 2010AA/NM109 CSC 743: "Entity's credential/enrollment PECOS Mapped
active enrollment : B
information.
EIC: 85 "Billing Provider"
Claim Frequency code must CSCC A7:"Acknowledgement/Rejected for Future
be "1" g Y 2300/CLM05-3 Invalid Information” N/A Use
’ CSC 535: "Claim Frequency Code"
The total submitted L )
charges must equal the 2300/CLMO02 CSCC. AT Ackno_vvle“dgement/ReJected for
sum of all service line 2400/5V302 Invalid Infermation N/A Mapped
CSC 178: "Submitted Charges"
charge amounts.
Rendering NPI must be
valid NPI.
or
Rendering Provider not
valid in PECOS for this
Receiver/MAC ID CSCC A7: "Acknowledgement/Rejected for
Invalid Information”
or 2310B/NM109 CSC 562: "Entity's National Provider PECOS Mapped
Identifier (NPI)"
Billing provider does not EIC: 82 "Rendering Provider"
have permission to bill for
the rendering provider.
or
Rendering Provider has no
active Medicare IDs (PTAN)
CSCC A7:"Acknowledgement/Rejected for
Service date must not be a Invalid Information”
future date. 2300/2400/DTP472 | -5 510: "Future date” ) Mapped
CSC 187 "Date(s) of service."
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. o Validation
Reject Reason 837D Loop Acknowledgement/Status/Entity Identifier Reference Notes
Code(s) X
File(s)
Diaanosis Code CSCC A7:"Acknowledgement/Rejected for Invalid For
Mieon 2300/HI Information” - Future
9 CSC 254: "Principal diagnosis code” Use
Beneficiary Part B
Dates
or CSCC A7: "Acknowledgement/Rejected for Invalid
2300/2400/DTP.472 | Information” CWF Mapped
Service line dates CSC 187: "Date(s) of service."
not exactly within
claim service
dates range.
CSCC A1: "Acknowledgement/Receipt-The
claim/encounter has been received. This does not
mean that the claim has been accepted for
) adjudication.”
Receiver Accept i CSC 19: "Entity acknowledges receipt of ANSEX12 Mapped
claim/encounter. Usage: This code requires use of
an Entity Code."
EIC: PR "Payer”
CSCC A1: "Acknowledgement/Receipt-The
claim/encounter has been received. This does not
mean that the claim has been accepted for
Billing Provider adjudication.”
Accept ) CSC 19: "Entity acknowledges receipt of ANSEX12 Mapped
claim/encounter. Usage: This code requires use of
an Entity Code."
EIC: PR "Payer"
CSCC A2: "Acknowledgement/Receipt-The
claim/encounter has been received. This does not
mean that the claim has been accepted for
Insured or adjudication.”
Subscriber Accept |~ CSC 20: "Entity acknowledges receipt of ANSIXT2 Mapped
claim/encounter. Usage: This code requires use of
an Entity Code."
EIC: PR "Payer”
CSCC A7:"Acknowledgement/Rejected for Invalid
Beneficiary Date Information”
of Birth is Incorrect 2010BA/DMGO2 CSC 158: "Entity's date of birth." CWF Mapped
EIC: IL "Subscriber"
CSCC A7:"Acknowledgement/Rejected for Invalid
Beneficiary Information”
Surname Incorrect 2010BA/NM103 CSC 504: "Entity's Last Name." CWF Mapped
EIC: IL "Subscriber"
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. o Validation
Reject Reason 837D Loop Acknowledgement/Status/Entity Identifier Reference Notes
Code(s) X
File(s)
CSCC A7:"Acknowledgement/Rejected for Invalid
Beneficiary First Information”
Initial Incorrect 2010BA/NM104 CSC 505: "Entity's First Name." CWF Mapped
EIC: IL "Subscriber”
CSCC A7:"Acknowledgement/Rejected for Invalid
Beneficiary MBI is Information”
not known to the [ 2010BA/NM109 CSC 743: "Entity's credential/enrollment CWF -
system information.”
EIC: IL "Subscriber"
SCel?\I/ETCwedgrtees (r)i];r to CSCC A7:"Acknowledgement/Rejected for Invalid
P 2300/2400 Information” - Mapped
the allowed date CSC 187: "Date(s) of service."
1/1/2024 ' '
837D Disposition / Error .
Loop/Segment/Element Response | Usage | Repeat Code Dental edits
Submitter Detail N N . N N
Header - - - - -
AK905 =1:"Functional | Only one iteration of
Header/GS 799 R ) Group Not Supported". | GSis allowed.
AK905 = 1:"Functional
Header/GS01 999 R - Group Not Supported”. Must be present
AK905 =14:"Unknown | Must be present and 2
Header/G502 299 R i Security Originator”. - 15 AN characters.
AK905 =13:"Unknown | Must be present and 2
Header/GS03 299 R ) Security Recipient". -15 AN characters.
GS04 must be present
- . and a valid date in
Header/GS04 999 R . AK905 * T Tunctional | ccyyMMDD format.
P PP " | Cannot be a future
date.
AK905 =1:"Functional | Must be present and
Header/GS05 299 R ) Group Not Supported". | valid format
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837D
Loop/Segment/Element

Response

Usage

Repeat

Disposition / Error
Code

Dental edits

Header/GS06

999

AKQ05 = 1:"Functional
Group Not Supported".

GS06 must be >0 and
<=999,999,999.
leading zeros allowed

Header/GS08

999

AK905 = 1: "Functional
Group Not Supported".

Empty: **~ Functional
Group not supported.

Header/ST

999

IK502 = 6: "Missing or
Invalid Transaction Set
Identifier".

ST must be present.

Header/ST

999

IK502 = 1: "Transaction
Set Not Supported"
OR

AK905 = 5:"Number
Included Transaction
Sets Does Not Match
Actual Count”

OR

IK502 = 6: "Missing or
Invalid Transaction Set
Identifier"

OR

IK502 = 15:
"Implementation One
or More Segments in
Error"

Only one iteration of
ST is allowed.

Header/STO1

999

IK502 = 6: "Missing or
Invalid Transaction Set
Identifier".

STO1 must be present.

Header/STO1

999

IK502 = 6: "Missing or
Invalid Transaction Set
Identifier".

STO1 must be "837".

Header/ST02

999

IK502 = 7: "Missing or
Invalid Transaction Set
Control Number".

ST02 must be present.

Header/ST02

999

IK502 = 7: "Missing or
Invalid Transaction Set
Control Number".

STO2 must be 4-9
characters.

Header/ST02

999

IK502 =7: "Missing or
Invalid Transaction Set
Control Number".

ST02 must contain at
least four non-space
characters.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits

K502=7:"Missing or | >T02Mustbe
Header/ST02 999 - - Invalid Transaction Set | POP

" accepted AN
Control Number".
characters.

IK502 = 23:

"Transaction Set STO2 must be a
Header/ST02 999 - - Control Number Not unique number within

Unique within the the ISA-IEA envelope.

Functional Group".

IK502 = 16:
Header/ST03 999 R - Implem_entonon STO3 must be present.

Convention Not

Supported”.

IK502 =19: "Invalid

Transaction Set STO3 must be
Header/sT03 299 - ) Implementation "005010X224A1".

Convention Reference”
Header/BHT 999 R - K304 = 3: RAquU'r?d BHT must be present.

Segment Missing

K304 = 5 "Segment Only one iteration of
Header/BHT 999 - 1 Exceeds Maximum Y

" BHT is allowed.

Use
Header/BHTO1 990 R ) IK403 =1: Requmeo[ . BHTO1 must be

Data Element Missing" | present.
Header/BHTO1 999 - - k403 =7: Invalid Code | g\ 161 myst be '0019".

Value" - 0019
Header/BHTO2 990 R ) IK403 = 1: Reqwr'ed' . BHTO02 must be

Data Element Missing" | present.
Header/BHTO2 990 ) ) K403 = 7:"Invalid Code [ BHT02 must be valid

Value" - 00,18 values.
Header/BHTO3 099 R i IK403 = 1: "Required BHTO3 must be

Data Element Missing"

present.

National Government Services, Inc.

Page 6 of 159



837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
Header/BHTO3 990 i ) K403 = 5:" Data Element BHTO3 must be 1 -
Too Long 30 characters.
IK403 = 6: "Invalid BETSFOE%STN%
Header/BHTO3 999 - - Character in Data Pop
" accepted AN
Element
characters.
Header/BHTO4 990 R ) K403 = 1: R_eqwrﬂed Data | BHT04 must be
Element Missing present.
BHT04 must be a
IK403 = 8:"Invalid valid date in
Header/BHTO4 299 ) - Date’ CCYYMMDD CCYYMMDD
format.
Header/BHTO5 990 R ) K403 =1: Requwﬂed Data | BHTO5 must be
Element Missing present.
K403 = 9: "Invalid Time" BHTO5 must a
Header/BHTO05 999 - - HHMM, HHMMSS, valid time ina
HHMMSSD, HHMMSSDD valid time format.
Header/BHTO6 990 R ) K403 =1: Requwﬂed Data | BHT06 must be
Element Missing present.
IK403 = 7:"Invalid Code BHTO6 must be
Header/BHTO06 999 - - value” CH cH
o Only one iteration
1000A.010 999 R - K304 =4 'Loop Occurs | ¢1500, is
Over Maximum Times
allowed.
1000ANM1.010 999 ) ) IK304 = 3: R‘eq‘uir?d 1T000A.NM1T must
Segment Missing be present.
1000ANM101.010 990 R ) IK403 = 1: Reqwrﬂed Data [ 1000A.NM101 must
Element Missing be present.
1000ANM101.020 990 ) ) K403 = 7:"Invalid Code 100”OA".NM101 must
Value be "41".
1000ANM102.010 990 R ) IK403 = 1: "Required Data | 1000A.NM102 must

Element Missing"

be present.
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K403 = 7:"Invalid Code

1000A.NM102 must

1000ANM102.020 299 ) ) Value" be valid values.
el Response | Usage | Repeat | Disposition / Error Code Dental edits
Loop/Segment/Element P 9 P P
1000ANM103.010 990 R ) 1K403 = 1: R_eqwrﬂed Data | 1000A.NM103 must
Element Missing be present.
L 1000A.NM103 must
1000ANM103.020 999 - - IK403 = 5: 'Data Element 1,57 4
Too Long
characters.
K403 = 6: "Invalid 1000ANM103 must
1000ANM103.030 999 . - Character in Data contain at least
Element” one non-space
character.
K403 = 6: "Invalid 1000A.NM103 must
1000ANM103.040 999 : - Character in Data be populated with
Element” accepted AN
characters.
1K403 = 113: If 1000A.NM102 is
"Implementation "2" 1000ANM104
1000ANM104.010 299 S ) Dependent "Not Used" must not be
Data Element Present” present.
_cun 1T000A.NM104 must
1000A.NM104.030 999 : - IK403 = 5: 'Data Element ||\ %" 25
Too Long
characters.
K403 = 6: "Invalid 1000ANM104 must
1000ANM104.050 999 : - Character in Data contain at least
Element’ one non-space
character.
K403 = 6: "Invalid 1000ANM104 must
1000A.NM104.060 999 . - Character in Data be pOpUleted with
Element” accepted AN
characters.
. 1T000A.NM105 must
IK403 = 6: "Invalid )
1000ANM105.010 999 S - Character in Data contain at least
Element” one non-space
character.
1K403 = 113: If 1000ANM102 is
"Implementation "2" 1000A.NM105
1000ANM105.020 299 ) ) Dependent "Not Used" must not be
Data Element Present” present.
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IK403 = 5:"Data Element

1000A.NM105 must

1000A.NM105.040 999 - - " be1-25
Too Long
characters.
o Response | Usage | Repeat | Disposition / Error Code Dental edits
Loop/Segment/Element P 9 P P
K403 = 6: "Invalid [OODATIMIOS must
1000ANM105.060 999 - - Character in Data Pop
" accepted AN
Element
characters.
K405 =110: Must not be
1000A.NM106.010 999 N/U - "Implementation "Not resent
Used" Element Present” P ’
1K403 = 110: Must not be
1000A.NM107.010 999 N/U - "Implementation "Not resent
Used" Element Present” P ’
1000ANM108.010 990 R ) 1K403 = 1: R_eqwrﬂed Data [ 1000A.NM108 must
Element Missing be present.
1000ANM108.020 990 ) ) K403 = 7:"Invalid Code 1OO"OAI.'NM108 must
Value be "46".
1000ANM109.010 999 R ) 1K403 =1: Reqwrﬂed Data T000A.NM109 must
Element Missing be present.
K403 = 6:"Invalid 1O00ANMIDY must
1T000A.NM109.020 999 - - Character in Data
" two non-space
Element
characters.
IK403 = 4: "Data Element
Too Short" 1000ANM109 must
1000ANM109.030 299 ) ) IK403 = 5:"Data Element | be 2-80 characters.
Too Long"
K403 = 6: "Invalid LOO0ANMIOZ must
1000A.NM109.050 999 - - Character in Data Pop
" accepted AN
Element
characters.
K403 = 12: LO0DATMIOD st
1000A.NM109.070 999 - - "Implementation Pattern PP
. " electronic
Match Failure )
submitter.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
K403 =110:
1000A.NM110.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:
1000ANM111.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present"
IK403 = 110:
1000A.NM112.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
1000A PER.O10 099 R i IK304 = 3: R_eq_mr?d 1000A.PER must be
Segment Missing present.
oo Only two iterations
1000A.PER.020 999 - - K304 =5:°Segment 1 £1000A.PER are
Exceeds Maximum Use
allowed.
1000A PERO1.010 099 R i IK403 = 1: Requmed ) 1000A.PERO1 must be
Data Element Missing present.
1000APERO1.020 990 ) ) K403 N 7:"Invalid Code ]O(”)OA.PERO1 must be
Value IC".
IK403 = 6: "Invalid 1000A.PERO2 must
1000A.PER02.010 999 S - Character in Data contain at least one
Element” non-space character.
1000A.PER02.020 999 - - "Implementation !
Pattern Match Failure” 1000A.PERO2 must
not = 1000A.NM103.
For the 2nd
IK403 = 113:
"Implementation 1000A.PER
1000A.PER02.040 999 - - " . | transmitted,
Dependent "Not Used
. | TOOOA.PERO2 must
Data Element Present
not be present.
1000A PERO2.060 099 ) i IK403 = 5: "Data 1000A.PERO2 must be

Element Too Long"

1- 60 characters.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
K403 = 6: "Invalid 1000A.PERO2 must be
1000A PER02.080 999 - - Character in Data | POPUiated with
" accepted AN
Element
characters.
IK403 =1: "Required
1000A.PER03.010 999 R - Data Element 1000APERO3 must be
Missing" present.
1000A PERO3.020 990 . ) IK403 =7: Ir1"vcnl|o| 1OQOA.PER03 must be
Code Value valid values.
IK403 = 1: "Required
1000A.PER04.010 999 R - Data Element 1000APERO4 must be
Missing’ present.
K403 = 6: "Invalid 1000A.PERO4 must
1000A.PER04.020 999 - - Character in Data contain at least one
Element” non-space character.
IK403 = 5:"Data 1000A.PERO4 must be 1
1000APER0O4.030 299 ) ) Element Too Long" - 256 characters.
K403 = 6: "Invalid 1000A.PERO4 must be
1000A.PER04.050 999 . - Character in Data po'OUlOtZd with
Element” accepted AN
characters.
1000A PERO5.010 099 S ) K403 =7: In"volld 1OQOA.PER05 must be
Code Value valid values.
. . If 1000A.PERO5 is "EX",
1000A.PER05.020 999 - - 'Cchgg \‘/g'lu'g.vo“d 1000A.PERO3 must be
TE"
.'.Ei%zi:t%nol If 1000A.PEROG is
1000A.PER06.010 999 S - Required Data present, 1000A.PERO5
Element Missing" must be present.
K403 = 6:"Invalid 1000A PERO6 must
1000A.PER06.020 999 - - Character in Data contain at least one

Element"

non-spdce character.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
IK403 = 5:"Data 1000A.PERO6 must
1000A.PER06.030 299 ) i Element Too Long" be 1-256 characters.
K403 = 6: "Invalid [O00APEROS must
1000A.PER06.050 999 - - Character in Data bop
" accepted AN
Element
characters.
IK403 = 2: "Conditional If 1000A.PERO7 is
1000A.PERO7.010 999 S - Required Data Element | present, 1000A.PER0O5
Missing" must be present.
1000A PERO7.020 099 ) i K403 = 7:"Invalid Code 1OQOA.PERO7 must be
Value valid values.
o . If 1000A.PERO7 is "EX’,
1000A PER07.030 999 - - K403 =7 Invalid Code | 4660 pEROS must
Value ki
be "TE".
IK403 = 2: "Conditional [ If 1000A.PEROS is
1000A.PER08.010 999 S - Required Data Element | present, 1000A.PERO7
Missing” must be present.
IK403 = 6: "Invalid 1000A.PERO8 must
1000A.PER08.020 999 - - Character in Data contain at least one
Element" non-space character.
IK403 = 5:"Data 1000A.PERO8 must
1000APER08.030 299 ) ) Element Too Long" be 1-256 characters.
K403 = 6:"Invalid [O0DAPERDS must
1000A PER08.050 999 - - Character in Data bop
" accepted AN
Element
characters.
K403 =110:
1000A.PER09.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK304 = 4:"Loop Occurs [ Only one iteration of
10008.010 299 R ! Over Maximum Times" | 1000B is allowed.
1000B.NM1.010 990 ) ) IK304 = 3: "Required 1000B.NM1 must be

Segment Missing"

present.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
1000B.NM101.010 090 R ) IK403 = 1: Requmed ) 1000B.NM101 must
Data Element Missing" | be present.
1000B.NM101.020 990 ) ) K403 N 7:"Invalid Code 100,,08;,NM101 must
Value be "40".
1000B.NM102.010 990 R ) IK403 =1: Requi(eq . 1000B.NM102 must
Data Element Missing" | be present.
1000B.NM102.020 990 ) ) IK403 = 7:"Invalid Code 100"O"B.NM102 must
Value be "2".
1000B.NM103.010 999 R ) K403 = 1: ReqU|r.eo|. . 1000B.NM103 must
Data Element Missing" | be present.
IK403 = 5: "Data 1000B.NM103 must
1000B.NM103.020 299 ) i Element Too Long" be 1- 60 characters.
K403 = 6:"Invalid 1O00BMIOS must
1000B.NM103.030 999 - - Character in Data pop
" accepted AN
Element
characters.
IK403 = 6: "Invalid 1000B.NM103 must
1000B.NM103.040 999 - - Character in Data contain at least one
Element” non-space character.
K403 =110:
1000B.NM104.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:
1000B.NM105.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present"
IK403 =110:
1000B.NM106.010 999 N/U - "Implementation "Not | Must not be present.
Used" Element Present”
IK403 = 110:
1000B.NM107.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”
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837D Disposition / Error q
Loop/Segment/Element Response | Usage | Repeat Code Dental edits
1000B.NM108.010 090 R ) IK403 = 1: Requiﬁed ) 1000B.NM108 must
Data Element Missing be present.
1000B.NM108.020 990 ) ) K403 N 7:"Invalid Code 100”OB:'NM108 must
Value be "46".
1000B.NM109.010 990 R ) IK403 =1: Requi(eq . 1000B.NM109 must
Data Element Missing be present.
IK403 = 112: 1000B.NM109 must
1000B.NM109.050 999 - - "Implementation be [contractor put
Pattern Match Failure" | receiver code here]
IK403 = 12:
1000B.NM109.060 999 - - "Implementation ;O%%Bl GNS'T&OQ must
Pattern Match Failure” 9
K403 =110:
1000B.NM110.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:
1000B.NM111.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 =110:
1000B.NM112.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat Error Code e )
Billing Provider | _ - . - -
Detail
IK304 = 3:
2000A.HL.010 999 R 1 "Required 2000A.HL must be present.
Segment Missing"
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK304 = 5:"Segment . . .
2000AHL020 | 999 . . Exceeds Maximum | O One iteration of 2000AHL is
" allowed.
Use
IK403 = 1: "Required
2000A.HL0O1.010 | 999 R - Data Element 2000A.HLO1 must be present.
Missing"
2000AHLO1.020 | 999 i ) IK403 = 5: "Data ) 2000A.HLO1T must be 1-12
Element Too Long characters.
IK403 = 6: "Invalid
2000A.HL0O1.030 | 999 - - Character in Data 2000A.HLO1 must be numeric.
Element”
2000A.HLO1.040 | 999 - - Ikaos = 7. Invalid The first HLOT must be 1"
Code Value
K403 = 110:
2000AHL02.010 | 999 NU |- Implementation "NOt | vyt 1ot e present.
Used" Element
Present"
IK403 = 1: "Required
2000A.HL0O3.010 | 999 R - Data Element 2000A.HLO3 must be present.
Missing"
2000A.HL03.020 | 999 - - 1kaos = 7. Invalid 2000A.HLO3 must be "20".
Code Value
IK403 = 1: "Required
2000A.HL04.010 | 999 R - Data Element 2000A.HLO4 must be present.

Missing"
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837
Loop/Segment

Response

Usage

Repeat

Error Code

Acknowledgement/Status/Entity
Identifier Code(s)

2000A.HL04.020

999

IK403 = 7: "Invalid
Code Value"

2000A.HLO4 must be "1".

2000A.PRV.010

999

IK304 = 5:"Segment
Exceeds Maximum
Use"

Only one iteration of 2000A.PRV is
allowed.

2000A.PRV01.010

999

IK403 = 1: "Required
Data Element
Missing"

2000A PRVO1 must be present.

2000A.PRV01.020

999

K403 = 7: "Invalid
Code Value"

2000A.PRVO1 must be "BI".

2000A.PRV02.010

999

IK403 = 1: "Required
Data Element
Missing"

2000A.PRV02 must be present.

2000A.PRV02.020

999

K403 = 7: "Invalid
Code Value"

2000A.PRV02 must be "PXC".

2000A.PRV03.010

999

IK403 = 1: "Required
Data Element
Missing"

2000A.PRV0O3 must be present.

2000A.PRV04.010

999

N/U

K403 = 110:
"Implementation "Not
Used" Element
Present"

Must not be present.

2000A.PRV06.010

999

N/U

K403 = 110:
"Implementation "Not
Used" Element
Present"

Must not be present.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK304 = 14:
2000ACURO10 | 999 S - Jmplementation 15550 CUR must not be present.
Not Used” Segment
Present"
IK304 = 4:"Loop . . .
2010AA.010 999 R 1 Occurs Over Only one iteration of 2010AA s
X ) " allowed.
Maximum Times
2010AANM1.010 | 999 - - K304 = 3: Required | 510AA NM1 must be present.
Segment Missing
IK403 = 1: "Required
2010AANM101.010 | 999 R - Data Element 2010AA.NM101 must be present.
Missing"
2010AANM101.020 | 999 - - k403 = 7. Invalid | 5510AANM101 must be "85".
Code Value
IK403 = 1: "Required
2010AANM102.010 | 999 R - Data Element 2010AA.NM102 must be present.
Missing”
2010AANM102.020 | 999 - - k403 = 7. Invalid | 5510AANM102 must be valid values.
Code Value
IK403 = 1: "Required
2010AANM103.010 | 999 R - Data Element 2010AA.NM103 must be present.
Missing”
IK403 = 6: "Invalid .
2010AANM103.020 | 999 - - Character in Data | 201 OAANMIOS must contain at

Element”

least one non-space character.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
2010AANM103.030 | 999 ) ) 1K403 = 5: "Data . 2010AANM103 must be 1- 60
Element Too Long characters.
K403 = 6: "Invalid
2010AANM103.050 | 999 - - Character in Data | 201OAANMI03 must be populated
" with accepted AN characters.
Element
1K403 = 113:
"Implementation -
2010AA.NM104.010 | 999 S - Dependent "Not If 2010AANM102 is "2",
f 2010AANM104 must not be present.
Used" Data Element
Present"
K403 = 6: "Invalid .
2010AANM104.030 | 999 - - Character in Data | 221OAANMI04 must contain at
" least one non-space character.
Element
2010AANM104.040 | 999 ) ) IK403 = 5: "Data . 2010AA.NM104 must be 1- 35
Element Too Long characters.
K403 = 6: "Invalid
2010AANM104.060 | 999 - - Character in Data | 2010AANM104 must be populated
" with accepted AN characters.
Element
1K403 = 3:
"Implementation e
2010AANM105.010 | 999 S - Dependent "Not If 2010AANM102 is "2",
" 2010AANM105 must not be present.
Used" Data Element
Present”
IK403 = 6: "Invalid .
2010AANM105.030 | 999 - - Character in Data | 201OAANMIO0S must contain at

Element"

least one non-space character.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
2010AA NM105.040 | 999 ) ) 1K403 = 5: "Data . 2010AANM105 must be 1-25
Element Too Long characters.
IK403 = 6: "Invalid
2010AANM105.060 | 999 - - Character in Data | 201OAANMI0S must be populated
" with accepted AN characters.
Element
1K403 = 110:
"Implementation
2010AANM106.010 | 999 N/U - "Not Used" Element Must not be present.
Present”
1K403 = 113:
"Implementation i
2010AANM107.010 | 999 S - Dependent "Not If 2010AANM102 is 2",
f 2010AANM107 must not be present.
Used" Data Element
Present"
K403 = 6: "Invalid )
2010AANM107.030 | 999 - - Character in Data | 2010AANMIO7 must contain at
" least one non-space character.
Element
2010AA NM107.040 | 999 ) ) IK403 = 5: "Data . 2010AA.NM107 must be 1-10
Element Too Long characters.
K403 = 6: "Invalid
2010AANM107.060 | 999 - . Character in Data | 2010AANMI07 must be populated
" with accepted AN characters.
Element
2010AANM108.030 | 999 - - k403 = 7:"Invalid 2010AANM108 must be "XX".

Code Value"
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
1K403 = 2:
"Conditional 2010AANM109 must be present if
2010AANM109.010 | 999 S - Required Data 2010AANMI08 is present.
Element Missing"
IK403 = 110:
"Implementation
2010AANM110.010 | 999 N/U - "Not Used" Element Must not be present.
Present"
IK403 = 110:
"Implementation
2010AANM111.010 | 999 N/U - "Not Used" Element Must not be present.
Present"
K403 = 110:
"Implementation
2010AANM112.010 | 999 N/U - "Not Used" Element Must not be present.
Present"
2010AAN3.010 999 R - K304 = 3: Required | 510AA N3 must be present.
Segment Missing
IK304 = 5:"Segment . . .
2010AAN3020 | 999 : - Exceeds Maximum | O one iteration of 2010AANS is
" allowed.
Use
IK403 = 1: "Required
2010AA.N301.010 999 R - Data Element 2010AAN301 must be present.
Missing"
IK403 = 6: "Invalid )
2010AAN301.020 | 999 - - Characterin Datag | 2010AANSO0T must contain at least

Element”

one non-space character.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK403 = 5:"Data
2010AA.N301.030 | 999 - - Element Too 2010AAN301 must be 1- 55 characters.
Long"
IK403 = 6:"Invalid .
2010AAN301.050 | 999 . . Character in 2010AANSOT must be populated with
" accepted AN characters.
Data Element
IK403 = 6: "Invalid )
5010AAN302.005 | 999 S ) Character in 2010AAN302 must contain at least one
" non-space character.
Data Element
IK403 = 5:"Data
2010AA.N302.010 | 999 - - Element Too 2010AAN302 must be 1- 55 characters.
Long"
IK403 = 6: "Invalid )
2010AAN302.030 | 999 ) i Character in 2010AAN302 must be populated with
" accepted AN characters.
Data Element
K304 = 3:
2010AAN4.010 | 999 R - Required 2010AAN4 must be present.
Segment
Missing"
K304 = 5:
2010AAN4.020 999 ) ) Segment Only one iteration of 2010AAN4 is
Exceeds allowed.
Maximum Use"
K403 =1:
2010AAN401.010 | 999 R - "Required Data 2010AA.N401 must be present.
Element Missing"
IK403 = 6: "Invalid )
2010AAN401.020 | 999 ) ) Character in 2010AAN401 must contain at least two
" non-space characters.
Data Element
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837

Acknowledgement/Status/Entity

"Not Used" Element
Present"

Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK403 = 4: "Data
Element Too Short" 2010AA.N401 must be 2-30
2010AAN401.030 | 999 ) ) IK403 = 5:"Data characters.
Element Too Long"
IK403 = 6: "Invalid
2010AAN401050 | 999 . - Character in Data | 2010AANA0T must be populated
. with accepted AN characters.
Element
1K403 = 2:
"Conditional If 2010AA.N404 is not present,
2010AAN402.010 | 999 S ) Required Data 2010AA.N402 must be present.
Element Missing”
1K403 = 2:
"Conditional If 2010AA.N404 is not present,
2010AAN403.010 | 999 S ) Required Data 2010AAN403 must be present.
Element Missing"
IK403 = 6: "Invalid
2010AA.N403.020 | 999 S - Character in Data If 2010AA.N403 is not numeric.
Element”
1K403 = 110:
"Implementation
2010AAN404.010 | 999 S - "Not Used" Element Must not be present.
Present"
IK403 = 110:
2010AAN405.010 | 999 NU |- Implementation |y qt not pe present.
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837
Loop/Segment

Response

Usage

Repeat

Error Code

Acknowledgement/Status/Entity
Identifier Code(s)

2010AAN406.010

999

N/U

IK403 =110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AA.N407.005

999

IK403 = 110:
"Implementation
"Not Used" Element
Present"

Must not be present.

2010AA.REF.010

999

IK304 = 3: "Required
Segment Missing"

2010AA.REF must be present.

2010AA.REF.020

999

IK304 = 5: "Segment
Exceeds Maximum
Use"

Only one iteration of 2010AA.REF
with REFO1 ="EI" or "SY" is allowed.

2010AA.REF01.010

999

IK403 = 1: "Required
Data Element
Missing"

2010AA.REFO1 must be present.

2010AA.REF01.020

999

IK403 = 7:"Invalid
Code Value"

2010AA.REFO1 must be valid values.

2010AA.REF02.010

999

IK403 = 1: "Required
Data Element
Missing"

2010AA.REF02 must be present.

2010AA.REF02.020

999

IK403 = 6: "Invalid
Character in Data
Element"

2010AA.REF02 must be populated
with accepted AN characters.
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837
Loop/Segment

Response

Usage

Repeat

Error Code

Acknowledgement/Status/Entity
Identifier Code(s)

2010AA.REF03.010

999

N/U

1K403 = 110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AA.REF04.010

999

N/U

K403 = 110:
"Implementation
"Not Used" Element
Present"

Must not be present.

2010AA.REF.010

999

IK304 = 19:
"Implementation
Dependent "Not
Used" Segment
Present"

2010AAREF with REFO1 ="1G" may be
present when 2010AA.NMT1 is present
and 2010AA.NM109 is not present.

2010AA.REF.030

999

K304 =19:
"Implementation
Dependent "Not
Used" Segment
Present”

2010AA.REF must not be present.

2010AA.REF01.010

999

IK403 = 1: "Required
Data Element
Missing"

2010AA.REFO1 must be present.

2010AA.REF01.020

999

1K403 = 7: "Invalid
Code Value"

2010AA.REFO1 must be "1G".

2010AA.REF02.010

999

IK403 = 1: "Required
Data Element
Missing"

2010AA.REF02 must be present.

2010AA.REF03.010

999

N/U

1K403 = 110:
"Implementation
"Not Used" Element
Present"

Must not be present.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)

1K403 = 110:

"Implementation
2010AA.REF04.010 | 999 N/U - "Not Used" Element Must not be present.

Present"

IK304 = 5:"Segment ) .
2010AAPER020 | 999 S - Exceeds Maximum | ONW two iterations of 2010AAPER

. are allowed.

Use

IK403 = 1: "Required
2010AA.PER0O1.010 | 999 R - Data Element 2010AA.PEROT must be present.

Missing"
2010AA.PER01.020 | 999 - - 1kaos = 7. Invalid 2010AAPEROT must be "IC".

Code Value

1K403 = 2:

"Conditional For the 1st 2010AA.PER transmitted,
2010AAPERO2.010 | 999 S ) Required Data 2010AA.PERO2 must be present.

Element Missing”

1K403 = 3:

"Implementation )
2010AA PER02.020 | 999 ) ) Dependent "Not For the 2nd 2010AA.PER transmitted,

f 2010AA.PERO2 must not be present.

Used" Data Element

Present"

IK403 = 10: "Exclusion | 2010AA.PERO2 must not =
2010AAPER02.030 | 999 : - Condition Violated" | 1000APERO2.

IK403 = 6:"Invalid :
2010AA.PER02.040 | 999 : - Characterin Data | 201CAAPERO2 must contain at least

Element"

one non-space character.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK403 = 5: "Data
2010AAPER02.050 | 999 . . Element Too | 2O10AAPEROZmust be 1- 60
" characters.
Long
IK403 = 6:
"Invalid 2010AA.PERO2 must be populated with
2010AAPER02.070 | 999 ) ) Character in accepted AN characters.
Data Element”
K403 = 1:
2010AA.PER03.010 | 999 R - "Required Data | 2010AA.PERO3 must be present.
Element Missing"
2010AA.PER03.020 | 999 - - 1kaos = 7. ‘Invalid | 510a4 PERO3 must be valid values.
Code Value
K403 = 1:
2010AA.PER04.010 | 999 R - "Required Data | 2010AA.PERO4 must be present.
Element Missing"
IK403 = 6:
2010AA PER04.020 | 999 ) ) Invalid ' 2010AA.PERO4 must contain at least
Characterin one non-space character.
Data Element”
IK403 = 5:"Data
2010AAPER04.030 | 999 - - Element Too 2010AAPERO4 must be 1-256
" characters.
Long
IK403 = 6:
2010AA PER04.050 | 999 ) ) Invalid ' 2010AA.PERO4 must be populated with
Characterin accepted AN characters.
Data Element”
2010AA.PER05.010 | 999 S - 1kaos = 7. ‘Invalid | 5510aA PEROS must be valid values.
Code Value
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
2010AA PER05.020 | 999 ) ) K403 =7: In"volid If201OAﬁ.PE"R05 is "EX" 2010AA.PERO3
Code Value must be "TE
K403 = 2:
"Conditional If 2010AA.PERO6 is present
2010AAPER06.010 | 999 S ) Required Data 2010AA.PERO5 must be present.
Element Missing"
IK403 = 6: "Invalid )
2010AAPER06.015 | 999 - - Character in Data | 2010AAPEROS must contain at least
Element” one non-space character.
IK403 = 5:"Data
2010AAPER06.020 | 999 . . Element Too 2010AA.PERO6 must be 1-256
" characters.
Long
IK403 = 6: "Invalid
2010AAPER06.040 | 999 - . Character in Data | 2010AAPERO6 must be populated
" with accepted AN characters.
Element
K403 = 2:
"Conditional If 2010AA.PEROQ7 is present,
2010AAPERO7.010 | 999 S ) Required Data 2010AA.PERO5 must be present.
Element Missing"
2010AAPER07.020 | 999 - - ka3 = 7. ‘invalid 1 5510AA PERO7 must be valid values.
Code Value
2010AA PER0O7.030 | 999 ) ) K403 =7: In"volld If201OAﬁ.PE"RO7 is "EX", 2010AA.PERO5
Code Value must be "TE".
K403 = 2:
>010AA PER08.010 | 999 S ) Conditional If 2010AA.PERO7 is present,

Required Data
Element Missing"

2010AA.PERO8 must be present.
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837

Acknowledgement/Status/Entity

Code Value"

Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK403 = 6: "Invalid )
2010AAPER08.015 | 999 . . Character in Data | 2019AAPEROE must contain at least
" one non-space character.
Element
2010AA PER08.020 | 999 _ ) IK403 = 5: "Data . 2010AA.PERO8 must be 1-256
Element Too Long characters.
IK403 = 6:"Invalid
2010AA PER08.040 | 999 - - Character in Data | 2010AAPERO8 must be populated
" with accepted AN characters.
Element
IK403 =110:
"Implementation
2010AA.PER09.010 | 999 N/U - "Not Used" Element Must not be present.
Present"
IK304 = 4:"Loop . . .
2010AB.NM1.010 990 S 1 Occurs Over Only one iteration of 2010AB.NM1 is
X ! " allowed.
Maximum Times
IK403 = 1: "Required
2010AB.NM101.010 [ 999 R - Data Element 2010AB.NM101 must be present.
Missing"
2010ABNM101.020 | 999 - - ka0s = 7. Invalid | 5510AB.NM101 must be "87".
Code Value
IK403 = 1: "Required
2010AB.NM102.010 | 999 R - Data Element 2010AB.NM102 must be present.
Missing"
2010AB.NM102.020 | 999 : . K403 =7:Invalid | 5510AB NM102 must be valid values.
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837
Loop/Segment

Response

Usage

Repeat

Error Code

Acknowledgement/Status/Entity

Identifier Code(s)

2010AB.NM103.010

999

N/U

1K403 =110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AB.NM104.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present"

Must not be present.

2010AB.NM105.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present"

Must not be present.

2010AB.NM106.010

999

N/U

K403 = 110:
"Implementation
"Not Used" Element
Present"

Must not be present.

2010AB.NM107.010

999

N/U

1K403 =110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AB.NM108.010

999

N/U

1K403 =110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AB.NM109.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present"

Must not be present.
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837 Response | Usage | Repeat | Error Code Acknowledgement/Status/Entity
Loop/Segment p 9 P Identifier Code(s)
IK403 =110:
"Implementation
2010AB.NM110.010 | 999 N/U - "Not Used" Element Must not be present.
Present”
IK403 = 110:
"Implementation
2010AB.NM111.010 | 999 N/U - "Not Used" Element Must not be present.
Present"
IK403 = 110:
"Implementation
2010AB.NM112.010 | 999 N/U - "Not Used" Element Must not be present.
Present"
IK304 = 16:
2010AB.N3.010 000 R ) Implementation If 2010AB.NMT1 is present, 2010AB.N3
Dependent must be present.
Segment Missing"
IK304 = 5: "Segment . . .
2010ABN3.020 | 999 : - Exceeds Maximum | OnW one iteration of 2010ABN3 is
" allowed.
Use
IK403 = 1: "Required
2010AB.N301.010 | 999 R - Data Element 2010AB.N301 must be present.
Missing"
IK403 = 6: "Invalid )
2010ABN301.020 | 999 - - Character in Data | 2010ABN301 must contain at least
" one non-space character.
Element
2010AB.N301.030 | 999 i ) IK403 = 5: "Data 2010AB.N301 must be 1-55

Element Too Long"

characters.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK403 = 6: "Invalid
2010ABN301.050 | 999 . . Character in Data | 2010ABNSOT must be populated
" with accepted AN character.
Element
IK403 = 6: "Invalid .
2010ABN302010 | 999 s . Characterin Data | 2010ABNSO2 must contain at least
" one non-space character.
Element
2010ABN302.040 | 999 ) ) IK403 = 5: "Data . 2010AB.N302 must be 1-55
Element Too Long characters.
IK403 = 6: "Invalid
2010AB.N302.060 | 999 - - Characterin Data | 2010ABN302 must be populated
" with accepted AN character.
Element
IK304 = 16:
2010AB.N4.010 990 R ) Implementation If 2010AB.NM1 is present, 2010AB.N4
Dependent Segment [ must be present.
Missing"
IK304 = 5:"Segment . . .
2010ABN4.020 | 999 - - Exceeds Maximum | OnlY one iteration of 2010AB.N4 is
" allowed.
Use
IK403 =1: "Required
2010AB.N401.010 | 999 R - Data Element 2010AB.N401 must be present.
Missing"
IK403 = 6: "Invalid .
2010ABN401.020 | 999 - : Characterin Data | 2010ABN40T must contain at least

Element"

two non-space characters.
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837
Loop/Segment

Response

Usage

Repeat

Error Code

Acknowledgement/Status/Entity
Identifier Code(s)

2010AB.N401.030

999

IK403 = 4:"Data
Element Too Short"
IK403 = 5:"Data
Element Too Long"

2010AB.N401 must be 2-30
characters.

2010AB.N401.050

999

IK403 = 6: "Invalid
Character in Data
Element”

2010AB.N401 must be populated
with accepted AN characters.

2010AB.N402.010

999

K403 = 2:
"Conditional
Required Data
Element Missing”

If 2010AB.N404 is not present,
2010AB.N402 must be present.

2010AB.N403.010

999

K403 = 2:
"Conditional
Required Data
Element Missing"

If 2010AB.N404 is not present,
2010AB.N403 must be present.

2010AB.N403.020

999

IK403 = 6: "Invalid
Character in Data
Element”

If 2010AB.N403 is not numeric.

2010AB.N404.010

999

1K403 =110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AB.N405.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present"

Must not be present.

2010AB.N406.010

999

N/U

K403 = 110:
"Implementation
"Not Used" Element
Present"

Must not be present.
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837 Loop/Segment

Response

Usage

Repeat

Error Code

Acknowledgement/Status/Entity
Identifier Code(s)

2010AB.N407.005

999

K403 =110:
"Implementation
"Not Used"
Element Present”

Must not be present.

837D
Loop/Segment/Element

Response

Usage

Repeat

Disposition /
Error Code

Dental edits

Subscriber Detail

2000B.010

999

>1

IK304 =17:
"Implementation
Loop Occurs
Under Minimum
Times"

2000B must be present.

2000B.HL.010

999

IK304 = 3:
"Required
Segment Missing"

2000B.HL must be present.

2000B.HL.020

999

IK304 = 5:
"Segment
Exceeds
Maximum Use"

Only one iteration of 2000B.HL is
allowed.

2000B.HL01.010

999

K403 =1:
"Required Data
Element Missing"

2000B.HLO1 must be present.

2000B.HL01.020

999

IK403 = 5:"Data
Element Too
Long"

2000B.HLO1 must be 1-12
characters.

2000B.HL01.030

999

K403 = 6:"Invalid
Character in
Data Element”

2000B.HLO1 must be numeric.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits

K403 - 12 thevailue of the previove.
2000B.HL01.040 999 - - "Implementation HLO1 (2000A HLOF:;) lus

Pattern Match Failure” ' P

one.
2000B.HL02.010 990 R ) IK403 = 1: Requir_ed_ . 2000B.HL0O2 must be
Data Element Missing present.
2000B.HL0O2 must be equal

K403 = 112:

2000B.HL02.020 999 - - "Implementation to the value of the HLOT
. . | RQO00AHLO1) of the parent

Pattern Match Failure aL
2000B.HLO3.010 990 R ) IK403 = 1: Requir'ed' . 2000B.HL0O3 must be

Data Element Missing present.
2000B.HL03.020 999 . - a03 =7 invalid Code | 5500BHLO3 must be 22"
2000B.HLO4.010 990 R ) IK403 = 1: Requireq ) 2000B.HLO4 must be

Data Element Missing present.
2000B.HL04.015 999 - - 'VK;[%Z.: 7-nvalid Code | 56608 HLO4 must be 0"
5000B.SBR.O10 990 R ] IK304 = 3: R_eq_uir?d 2000B.SBR must be

Segment Missing present.

IK304 = 5:"Segment Only one iteration of
20008.5BR.020 299 ) ) Exceeds Maximum Use" [ 2000B.SBR is allowed.
2000B.SBRO1.010 990 R ) IK403 = 1: Requireq ) 2000B.SBRO1 must be

Data Element Missing present.
2000B.SBRO1.020 990 i ) K403 = 7:"Invalid Code ?O"OOB.SBRO1 must be "S" or

Value P".
2000B.SBR0O2.010 990 S ) IK403 = 1: "Required 2000B.SBR0O2 must be

Data Element Missing”

present.
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837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2000B.SBRO2.020 990 ) ) K403 = 7:"Invalid Code ?O(")OB.SBRoz must be
Value 18"
IK403 = 13: "Implementation
2000B.SBR03.004 999 S - Dependent "Not Used” Data | 2000B-SBRO3 must
" not be present
Element Present
IK403 = 13: "Implementation
2000B.SBR04.005 999 S - Dependent "Not Used’ Data | 2000B-SBRO4 must
" not be present
Element Present
5000B.SBRO5.010 990 S ) IK403 = 7:"Invalid Code 2OQOB.SBR05 must be
Value valid values.
1. ) If 2000B.SBRO1 is "P",
2000B.5BRO5.040 999 - - K403 =110: Implementation | 55445 caRO5 Must
Not Used" Element Present
not be present.
IK403 = 2: "Conditional If 2000B.SBRO1 is not
2000B.SBR05.050 999 - - Required Data Element "P",2000B.SBR0O5
Missing" must be present.
IK403 = 110: "Implementation
2000B.SBR06.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2000B.SBR07.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2000B.SBR08.010 999 N/U - "Not Used" Element Present” Must not be present.
2010BANMI.010 990 R ] IK;SQ4 = 3 Required Segment | 2010BA.NM1 must be
Missing present.
2010BANM1.020 990 ) ) IK304 = 4:"Loop Occurs Over | Only one iteration of

Maximum Times"

2010BANM1 allowed.
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837D

Disposition / Error

Element Too Long"

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
IK403 = 1: "Required
2010BANM101.010 999 R . Data Element 2010BANMIOT must be
S present.
Missing
2010BA.NM101.020 999 - - k403 = 7. “Invalid 2010BANM101 must be "IL".
Code Value
IK403 = 1: "Required
2010BANM102.010 999 R : Data Element 2010BANMI02 must be
S present.
Missing
IK403 = 1: "Required
2010BA.NM103.010 999 R - Data Element 2010BANMIOS must be
S present.
Missing
IK403 = 6:"Invalid 2010BA.NM103 must contain
2010BA.NM103.020 999 - - Character in Data at least one non-space
Element” character.
2010BANM103.030 9990 i ) IK403 = 5: "Data ) 2010BANM103 must be 1 - 60
Element Too Long characters.
IK403 = 6: "Invalid 2010BANM103 must be
2010BA.NM103.050 999 - - Character in Data populated with accepted AN
Element” characters.
IK403 = 6:"Invalid 2010BA.NM104 must contain
2010BA.NM104.020 999 - - Character in Data at least one non-space
Element” character.
5010BANM104.030 999 S ) K403 = 5:"Data . 2010BA.NM104 must be 1- 35
Element Too Long characters.
IK403 = 6: "Invalid 2010BA.NM104 must be
2010BA.NM104.050 999 - - Character in Data populated with accepted AN
Element" characters.
IK403 = 6:"Invalid 2010BA.NM105 must contain
2010BA.NM105.010 999 S - Character in Data at least one non-space
Element” character.
5010BANM105.020 990 i ) IK403 = 5: "Data 2010BANM105 must be 1-25

characters.
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837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
IK403 = 6: "Invalid 2010BANM105 must be
2010BA.NM105.040 999 - - Character in Data populated with accepted
Element" AN characters.
K403 =110:
2010BA.NM106.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present"
IK403 = 6:"Invalid 2010BANM107 must
2010BA.NM107.010 999 S - Character in Data contain at least one non-
Element” space character.
2010BANM1I07.020 099 ) i IK403 = 5:“ Data Element | 2010BANM107 must be 1 -
Too Long 10 characters.
IK403 = 6:"Invalid 2010BANM107 must be
2010BA.NM107.040 999 - - Character in Data populated with accepted
Element” AN characters.
2010BANM108.010 099 S i IK403 = 1: Requwﬂed Data | 2010BANM108 must be
Element Missing present.
2010BANM108.020 990 ) ) K403 N 7:"Invalid Code ”201HOBA.NM108 must be
Value MI".
5010BANM109.010 990 S ) IK403 = 1: Requirﬂed Data | 2010BANM109 must be
Element Missing present.
IK403 =110:
2010BA.NM110.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BA.NM111.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:
2010BA.NM112.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
'l'rnio?eznigntotion 2010BAN3 must be
2010BAN3.005 999 S - P present when

Dependent Segment
Missing"

2000B.SBRO2 is "18".
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837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits

IK304 = 5:"Segment Only one iteration of
2010BANS.010 299 ) ) Exceeds Maximum Use" | 2010BANS3 is allowed.
2010BAN301.010 990 R ) IK403 = 1: R_equirﬂed Data | 2010BA.N301 must be

Element Missing present.

IK403 = 6: "Invalid 2010BAN301 must
2010BA.N301.020 999 - - Character in Data contain at least one non-

Element” space character.
2010BAN301.030 990 i ) IK403 = 5:" Data Element | 2010BA.N301 must be 1-

Too Long 55 characters.

IK403 = 6: "Invalid 2010BA.N301 must be
2010BA.N301.050 999 - - Character in Data populated with accepted

Element” AN characters.

IK403 = 6: "Invalid 2010BA.N302 must
2010BA.N302.020 999 S - Character in Data contain at least one non-

Element" space character.
2010BAN302.030 990 ) ) IK403 = 5:" Data Element | 2010BA.N302 must be 1 -

Too Long 55 characters.

IK403 = 6: "Invalid 2010BA.N302 must be
2010BA.N302.050 999 - - Character in Data populated with accepted

Element" AN characters.

.'.rriofe;lgnmtion 2010BAN4 must be
2010BA.N4.005 999 S - De pendent Segment present when

=pena 9 2000B.SBRO2 is "18".

Missing

IK304 = 5:"Segment Only one iteration of
2010BAN4.010 299 ) ) Exceeds Maximum Use" | 2010BAN4 is allowed.
2010BAN401.010 990 R ) IK403 = 1: Reqwrﬂed Data | 2010BA.N401 must be

Element Missing present.

IK403 = 6: "Invalid 2010BA.N401 must
2010BA.N401.020 999 - - Character in Data contain at least two non-

Element”

spdace characters.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits

IK403 = 4: "Data Element

Too Short" 2010BA.N401 must be 2-
2010BAN401.030 299 ) ) IK403 = 5: "Data Element | 30 characters.

Too Long"

IK403 = 6:"Invalid 2010BAN401 must be
2010BA.N401.050 999 - - Character in Data populated with

Element” accepted AN characters.

IK403 = 2: "Conditional If 2010BA.N404 is not
2010BA.N402.010 999 S - Required Data Element present, 2010BA.N402

Missing" must be present.

IK403 = 2: "Conditional If 2010BA.N404 is not
2010BA.N403.010 999 S - Required Data Element present, 2010BA.N403

Missing" must be present.

IK403 = 6:"Invalid .
2010BAN403.020 999 S - Character in Data If 2010BAN403 is not

" numeric.

Element

IK403 = 110:
2010BA.N405.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”

IK403 = 110:
2010BA.N406.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”

IK304 = 16:
2010BADMG.010 990 S ) Implementation 2010BA.DMG must be

Dependent Segment present.

Missing"

IK304 = 5: "Segment Only one iteration of
2010BADMG020 999 ] - Exceeds Maximum Use" | 2010BA.DMG is allowed.
2010BA DMGO1.010 990 R ) IK403 = 1: Reqwrﬂed Data | 2010BA.DMGO1 must be

Element Missing present.
2010BA.DMGO1.020 990 i ) IK403 =7: "Invalid Code 2010BA.DMGO1 must be

Value"

"D8".
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits

2010BA DMG02.010 990 R ) IK403 = 1: Reqwrﬂed Data [2010BA.DMGO02 must be
Element Missing present.

2010BA.DMGO02 must be
2010BA.DMG02.020 999 - - IK403 = 8: "Invalid Date" a valid date in format
CCYYMMDD

2010BA DMG03.010 990 R ) IK403 = 1: Requwﬂed Data | 2010BA.DMGO03 must be
Element Missing present.

2010BADMG03.020 990 i ) IK403 = 7:"Invalid Code 201}OBA.DMGOB must be
Value valid values.
IK403 = 110:

2010BA.DMG04.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
1K403 = 110:

2010BA.DMG05.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
1K403 = 110:

2010BA.DMG06.010 999 N/U - “Implementation "Not Must not be present.
Used" Element Present”
K403 = 110:

2010BA.DMG07.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
1K403 = 110:

2010BA.DMG08.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
1K403 = 110:

2010BA.DMG09.010 999 N/U - “Implementation "Not Must not be present.
Used" Element Present”
K403 = 110:

2010BA.DMG10.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”

National Government Services, Inc.

Page 40 of 159




837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
1K403 = 110:
2010BA.DMG11.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
oo Only one iteration of
2010BAREF.010 999 S : K504 =5 Segment 1 5610BA REF with REFO1 =
Exceeds Maximum Use At
Y4" is allowed.
>010BAREFO1.010 990 R ) K403 = 1: R_eqwrﬂed Data | 2010BA.REFO1 must be
Element Missing present.
5010BA.REFO1.020 990 ) ) K403 = 7:"Invalid Code '201”OBA.REFO1 must be
Value Y4"
2010BA REF02.010 990 R ) IK403 = 1: Requwﬂed Data | 2010BA.REF02 must be
Element Missing present.
IK403 = 6: "Invalid 2010BA.REFO2 must
2010BA.REF02.020 999 - - Character in Data contain at least one non-
Element" space character.
2010BA REF02.030 990 ) ) IK403 = 5:" Data Element | 2010BA.REFO2 must be 1 -
Too Long 50 characters.
IK403 = 6: "Invalid 2010BA.REF02 must be
2010BA.REF02.050 999 - - Character in Data populated with
Element" accepted AN characters.
K403 = 110:
2010BA.REF03.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BA.REF04.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
5010BB.NM1.010 990 R 1 IK304 = 3: R‘eq‘mr?d 2010BB.NM1 must be
Segment Missing present.
2010BB.NM1.020 990 ) ) IK304 = 4:"Loop Occurs Only one iteration of

Over Maximum Times"

2010BB.NM1 is allowed.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
5010BB.NM101.010 990 R ) IK403 = 1: Reqmr"ed Data |2010BB.NM101 must be
Element Missing present.
2010BB.NM101.020 990 ) ) IK403 = 7:"Invalid Code ?O1QBB.NM101 must be
Value PR".
2010BB.NM102.010 990 R ) IK403 = 1: Reqwr”ed Data | 2010BB.NM102 must be
Element Missing present.
5010BB.NM102.020 990 ) ) IK403 = 7:"Invalid Code ?91OBB.NM102 must be
Value 2"
2010BB.NM103.010 990 R ) IK403 = 1: Reqwrﬂed Data [ 2010BB.NM103 must be
Element Missing present.
IK403 = 6: "Invalid 2010BB.NM103 must
2010BB.NM103.020 999 - - Character in Data contain at least one non-
Element" space character.
2010BB.NM103.030 990 ) ) K403 = 5:" Data Element | 2010BB.NM103 must be 1
Too Long - 60 characters.
IK403 = 6: "Invalid 2010BB.NM103 must be
2010BB.NM103.050 999 - - Character in Data populated with
Element" accepted AN characters.
IK403 =110:
2010BB.NM104.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 10:
2010BB.NM105.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BB.NM106.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BB.NM107.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
2010BB.NM108.010 990 R ) IK403 = 1: Requwﬂed Data | 2010BB.NM108 must be

Element Missing present.
2010BB.NM108.020 990 ) ) IK403 = 7:"Invalid Code ?O]OBB.NM108 must be

Value PI".
2010BB.NM109.010 990 R ) IK403 = 1: Reqwr”ed Data | 2010BB.NM109 must be

Element Missing present.

IK403 = 6: "Invalid 2010BB.NM109 must
2010BB.NM109.020 999 - - Character in Data contain at least two non-

Element” space characters.

IK403 = 4: "Data Element

Too Short" 2010BB.NM109 must be 2-
2010BBNM109.030 299 i ) IK403 = 5:"Data Element | 80 characters.

Too Long"

IK403 = 6: "Invalid 2010BB.NM109 must be
2010BB.NM109.050 999 - - Character in Data populated with

Element” accepted AN characters.

IK403 = 10:
2010BB.NM110.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”

IK403 = 110:
2010BB.NM111.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”

IK403 =110:
2010BB.NM112.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”

IK304 = 5:"Segment Only one iteration of
2010BB.N3.010 299 S ) Exceeds Maximum Use" 2010BB.N3 is allowed.
2010BB.N301.010 990 R ) IK403 = 1: Reqwrﬂed Data | 2010BB.N301 must be

Element Missing present.

IK403 = 6: "Invalid 2010BB.N301 must
2010BB.N301.020 999 - - Character in Data contain at least one non-

Element"

space character.
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Missing"

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
2010BB.N301.030 9990 ) ) IK403 = 5: "Data ) 2010BB.N301 must be 1-55

Element Too Long characters.

IK403 = 6:"Invalid 2010BB.N301 must be
2010BB.N301.050 999 - - Character in Data populated with accepted

Element” AN characters.

IK403 = 6: "Invalid 2010BB.N302 must contain
2010BB.N302.020 999 ) - Character in Data at least one non-space

Element" character.

IK403 = 5: "Data 2010BB.N302 must be 1 -
2010BB.N302.030 299 ) ) Element Too Long" 55 characters.

IK403 = 6: "Invalid 2010BB.N302 must be
2010BB.N302.050 999 - - Character in Data populated with accepted

Element" AN characters.

IK304 = 5: "Segment Only one iteration of
2010BB.N4.010 999 S - Exceeds Maximum Use" | 2010BB.N4 is allowed.
2010BB.N401.010 990 R ) IK403 = 1: ReqU|r'ed' ) 2010BB.N401 must be

Data Element Missing present.

IK403 = 6: "Invalid 2010BB.N401 must contain
2010BB.N401.020 999 - - Character in Data at least two non-space

Element" characters.

IK403 = 4:"Data

Element Too Short" 2010BB.N401 must be 2-30
2010BBN401.030 299 ) ) IK403 = 5:"Data characters.

Element Too Long"

IK403 = 6: "Invalid 2010BB.N401 must be
2010BB.N401.050 999 - - Character in Data populated with accepted

Element" AN characters.

IK403 = 2: "Conditional If 2010BB.N404 is not
2010BB.N402.010 999 ) - Required Data Element | present, 2010BB.N402

must be present.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
IK403 = 2: "Conditional If 2010BB.N404 is not
2010BB.N403.010 999 S - Required Data Element | present, 2010BB.N403 must
Missing" be present.
IK403 = 6: "Invalid )
2010BB.N403.020 999 S . Character in Data If 2010BB.N403 is not
" numeric.
Element
IK403 = 110:
2010BB.N404.010 999 S - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:
2010BB.N405.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:
2010BB.N406.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present"
IK403 =110:
2010BB.N407.005 999 S - "Implementation "Not Must not be present.
Used" Element Present”
2010BB.REF with REFO1 =
IK304 = 2: "Unexpected | "G2" must be present when
2010BB.REF.010 799 S - Segment” 2010AANMI09 is not
present.
- Only two iterations of
2010BB.REF.020 999 - - K304 = 5. /Segment | 5010BB.REF with REFO1 =
Exceeds Maximum Use" | L 2 0 ~ "o
G2" or "LU" are allowed.
IK304 =19:
"Implementation 2010BB.REF must not be
2010BB.REF.030 299 ) ) Dependent "Not Used" | present.
Segment Present”
2010BB.REEO1.010 990 R ) IK403 =1: Requmeo[ . 2010BB.REFO1 must be
Data Element Missing present.
5010BB.REF01.020 990 ) ) IK403 =7:"Invalid Code | 2010BB.REFO1 must be

Value"

valid values.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2010BB.REF02.010 099 R ) IK403 = 1: Requwﬂed Data 2010BB.REF02 must be
Element Missing present.
IK403 = 6:"Invalid 2010BB.REF02 must
2010BB.REF02.020 999 N/U - Character in Data contain at least one-
Element” none space character.
2010BB.REF02.030 990 N/U ) IK403 = 5:“ Data Element 2010BB.REF02 must be
Too Long 1-50 characters.
K403 = 6:"Invalid 2010BBREF02 Must be
2010BB.REF02.050 999 R - Character in Data Pop
" accepted AN
Element
characters.
IK403 = 110:
2010BB.REF03.010 999 R - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:
2010BB.REF04.010 999 R - "Implementation "Not Must not be present.

Used" Element Present"

IK304 = 19: "Implementation
2000C.HL.010 999 R >1 Dependent "Not Used"
Segment Present”

Loop must not be
present.

IK304 = 19: "Implementation
2000C.PAT.010 999 S - Dependent "Not Used"
Segment Present”

Segment must not be
present.

IK304 = 19: "Implementation
2010CANM1.010 999 S - Dependent "Not Used"
Segment Present”

Loop must not be
present.

IK304 = 19: "Implementation
2010CAN3.010 999 - - Dependent "Not Used"
Segment Present”

Segment must not be
present.

IK304 = 19: "Implementation
2010CA.N4.010 999 - - Dependent "Not Used"
Segment Present”

Segment must not be
present.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
IK304 = 19: "Implementation Segment must
2010CA.DMG.010 999 - - Dependent "Not Used" Segment 9
" not be present.
Present
IK304 = 19: "Implementation
2010CAREF.010 999 - - Dependent "Not Used” Segment | 2010CAREF must
" not be present.
Present
IK304 = 19: "Implementation
2010CA.REF.010 999 - - Dependent "Not Used" Segment | 2010CAREF must

Present”

not be present.
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Loop/Segment/Eleme
nt

Respons
e

Usag

Repea

Disposition / Error Code

Dental
edits

Claim Detail

2300.CLM Loop.010

999

100

IK304 = 4:

"Loop Occurs Over Maximum Times"

Only
one00
iterations
of the
2300 loop
are
allowed.

2300.CLM.010

999

IK304 = 3:
Missing"
K304 =17."
Times”

"Required Segment
OR

‘Implementation Loop Occurs Under Minimum

2300.CLM
must be
present.

2300.CLM.020

999

IK304 = 5:

"Segment Exceeds Maximum Use"

Only one
iteration
of
2300.CLM
is allowed.

2300.CLM01.010

999

IK403 =1:"

'Required Data Element Missing"

2300.CLMO
1 must be
present.

2300.CLM01.020

999

IK403 = 6:

"Invalid Character in Data Element”

2300.CLMO
1 must
contain at
least one
non-space
character.

2300.CLM01.030

999

IK403 = 5:

"Data Element Too Long"

2300.CLMO
1 must be
1-38
characters

2300.CLM01.050

999

IK403 = 6:

"Invalid Character in Data Element”

2300.CLMO
1 must be
populated
with
accepted
AN
characters
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2300.CLM02.010 999 R - K403 = 1: 'Required Data | »31)y | M02 must be present.
Element Missing
2300.CLM02.020 999 - - IK403 = &: “Invalid Character | 5214 | M02 must be numeric.
in Data Element
e 2300.CLM02 must be >= 0 and <=
2300.CLM02.045 999 ; - K403 = 5: "Data Element 99,999,999.99 and limited to 0,1, or
Too Long . o
2 decimal positions.
IK403 = 110: "Implementation
2300.CLM03.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2300.CLM04.010 999 N/U - "Not Used" Element Present” Must not be present.
2300.CLM05-1.010 999 R - K403 = 1: 'Required Data | 31y | M05-1 must be present.
Element Missing
2300.CLM05-2.010 999 R - K403 = 1: 'Required Data | 31y | M05-2 must be present.
Element Missing
2300.CLM05-2.020 999 . - s sy Invalid Code 2300.CLM05-2 must be "B
2300.CLM05-3.010 999 R - K403 = 1: 'Required Data | 34, | M05-3 must be present.
Element Missing
2300.CLM06.010 999 R - K403 = 1: 'Required Data | 5364 | Mo6 must be present.

Element Missing"
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

2300.CLM02.010 999 R - IK403 = 1: "Required Data 2300.CLM02 must be present.
Element Missing

2300.CLM02.020 999 - - K403 = 6: "Invalid Characterin | 5364 o M2 must be numeric.
Data Element

2300.CLM07.020 999 - - IK403 = 7:"Invalid Code Value® | 2200.CLMO7must be valid

2300.CLM08.010 999 R - K403 = 1: 'Required Data 2300.CLMO8 must be present.
Element Missing

2300.CLM08.020 999 ; - IK403 = 7:"Invalid Code Value® | 23)0-CLMOB must be valid

2300.CLM09.010 999 R - IK403 = 1: "Required Data 2300.CLMO9 must be present.
Element Missing

2300.CLM09.020 999 - - IK403 = 7:"Invalid Code Value" | 2300.CLMO must be valid
IK403 = 110: "Implementation

2300.CLM10.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 2: "Conditional If 2300.DTP with DTPO1 = 439 is

2300.CLM11-1.010 999 R - Required Data Element present, then 2300.CLM11 must
Missing" be present.

2300.CLM11-1.020 999 R - IK403 = 7:"Invalid Code Value' | 2300.CLMITTmust be valid
IK403 = 2: "Conditional )

2300.CLM11-2.010 999 S - Required Data Element 2500.CLMT1-21is present

Missing"

2300.CLM11-1 must be present.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2300.CLM02.010 999 R - K403 =1: ‘Required Data | 536 ¢ M2 must be present.
Element Missing
IK403 = 6:"Invalid
2300.CLM02.020 999 - - Character in Data 2300.CLM02 must be numeric.
Element”
IK403 = 2: "Conditional If 2300.CLM11-1 or 2300.CLM11-2 is
2300.CLM11-4.010 999 S - Required Data Element "AA", then 2300.CLM11-4 must be
Missing" present.
. If 2300.CLM11-1 or 2300.CLM11-2 is
IK403 = 2: "Conditional )
; "AA" and 2300.CLM11-4 is not
2300.CLM11-5.010 999 S - qug|relg Data Element present, then 2300.CLM11-5 must be
Missing
present.
2300.CLM12.010 999 s - xa03 =7 nvalid Code | 5500, cLM12 must be valid values.
K403 =110:
2300.CLM13.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:
2300.CLM14.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:
2300.CLM15.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:
2300.CLM16.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

IK403 = 110: "Implementation
2300.CLM17.010 999 N/U - "Not Used" Element Present” Must not be present.

K403 = 10: "Implementation
2300.CLM18.010 999 N/U - "Not Used" Element Present” Must not be present.
2300.CLM19.010 999 S - 'VK(;‘[?JZ.,: 7-"Invalid Code 2300.CLM19 must be valid values.
2300.CLM20.010 999 S - 'VK;[%Z;.,: 7:Invalid Code 2300.CLM20 must be valid values.

IK304 = 16: "Implementation | If 2200.CLM11-1 or CLM11-2 ="AA" or
2300.DTP.010 999 S - Dependent Segment "OA" then 2300.DTP with DTPO1 =

Missing" 439" must be present.

IK304 = 5:"Segment Exceeds | Only one iteration of 2300.DTP
2300.DTP.020 299 - - Maximum Use” with DTPO1 = "439" is allowed.
2300.DTP01.010 999 R - IK403 = 1: 'Required Data 2300.DTPO1 must be present.

Element Missing
2300.DTP01.020 999 - - ez T Invalid Code 2300.DTPO1 must be "439"
2300.DTP02.010 999 R - K403 = 1: 'Required Data | 5314 1po2 must be present.

Element Missing
2300.DTP02.020 999 - - '\/K(;‘l%i =7:Invalid Code 2300.DTP0O2 must be "D8".
2300.DTP03.010 999 R - K403 =1: 'Required Data 2300.DTPO3 must be present.

Element Missing"
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

2300.DTP03.020 999 - - K403 = 8: "Invalid Date” ég%ﬂﬁgérpoﬁgf a valid date in
o o || | ouene meen oo
2300.DTP01.010 999 R - Lﬁg?ﬁ;ﬁ;ﬁ;‘?ﬁg?d Data | 5300.0TPOT must be present.
2300.DTP01.020 999 - - '\/Ksﬁse.,: 7-"Invalid Code 2300.DTPO1 must be "452".
2300.DTP02.010 999 R - 'E'ngf’ezgz[;ﬁseg#g?d Data | 5200.0TPO2 must be present.
2300.DTP02.020 999 ; - Aoz ‘Invalid Code 2300.DTP02 must be "D8".
2300.DTP03.010 999 R - Lﬁg?ﬁ;ﬁ;ﬁ;‘?ﬁg?d Data 1 5300.0TPO3 must be present.
2300.DTP03.020 999 - - IK403 = 8: "Invalid Date’ govov'?mgé?o‘ﬁgf avalid date in
N O R O e e e
2300.DTP01.010 999 R - 'E'Tiﬁf’eiﬂﬁﬁfs?ﬁg-ed Data | 5300.0TPOT must be present.
2300.DTP01.020 999 ; - s ‘Invalid Code 2300.DTPO1 must be "472".
2300.DTP02.010 999 R - K403 =1: 'Required Data | 5340 51poo must be present.

Element Missing"
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
2300.CLM02.010 999 R - K403 = 1: 'Required | 5246 | Mo2 must be present.

Data Element Missing

IK403 = 6: "Invalid
2300.CLM02.020 999 - - Character in Data 2300.CLM02 must be numeric.

Element”

If D8:2300.DTP03 must be a valid date
in CCYYMMDD format.

2300.DTP03.020 999 - - IK403 = 8: "Invalid Date If RD8: 2300.DTPO3 must be a valid
date in the format of CCYYMMDD-
CCYYMMDD.

IK304 = 5:"Segment Only one iteration of 2300.DTP with
2300.DTP.010 299 S ) Exceeds Maximum Use" [ DTPO1="050"is allowed.
2300.DTP01.010 999 R ; K403 = 1: 'Required | 5344 5TPO1 must be present.

Data Element Missing
2300.DTP01.020 999 - : ka0 = 7:nvalid Code | 55005701 must be "050".
2300.DTP02.010 999 R - K403 = 1: 'Required | 5246 P02 must be present.

Data Element Missing
2300.DTP02.020 999 - - '\/K(;‘l%i = 7-Invalid Code | 5366 bTPO2 must be "DS".
2300.DTP03.010 999 R ; K403 = 1: 'Required | 5344 5TPO3 must be present.

Data Element Missing

g . « | 2300.DTP0O3 must be a valid date in
2300.DTP03.020 999 - - IK403 = 8: "Invalid Date CCYYMMDD format.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2300.DN1.010 990 S 1 IK304 =5: Seg[nent Exceeds iny one iteration of 2300.DN1

Maximum Use is allowed.
2300.DN101.010 999 S - K403 = &: Invalid Characterin 1 53665N101 must be numeric.

Data Element
2300.DN102.010 999 S - K403 = &: "Invalid Characterin | 53665N102 must be numeric.

Data Element

K403 = 110: "Implementation
2300.DN103.010 999 NU - "Not Used" Element Present" Must not be present.

o . . 2300.DN104 must be
2300.DN104.010 999 S - K403 = 6:"Invalid Characterin | (o i ted with accepted AN

Data Element

characters.
5300.DN104.020 990 S ) IK403 = 6: Invqhd Characterin 2300.DN104 must contain at

Data Element least one non-space character.
2300.DN104.030 990 S ) IK403": 5:"Data Element Too 2300.DN104 must be 1-80

Long characters.

IK304 = 5: "Segment Exceeds Only thirty five iterations of
2500.DN2.010 299 S 35 Maximum Use" 2300.DN2 are allowed.
2300.DN201.010 999 R - IK403 = 1: "Required Data 2300.DN201 must be present.

Element Missing

o . ) 2300.DN201 must be
2300.DN201.020 999 R - K403 = 6: "Invalid Characterin | 0 oied with accepted AN

Data Element”

characters.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
o . . 2300.DN201 must contain at
2300.DN201.030 999 R - K403 = o: Inv?hd Characterin least one non-space
Data Element
character.
2300.DN201.040 990 R ) IK4OSH: 5:"Data Element Too 2300.DN201 must be 1-50
Long characters.
2300.DN202.010 999 R - IK403 = 1: 'Required Data 2300.DN202 must be present.
Element Missing
2300.DN202.020 999 R . K403 = 7:"Invalid Code Value' | 2300DN202 must be valid
values. Eor M
K403 = 110: "Implementation
2300.DN203.010 999 NU - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2300.DN204.010 999 NU - "Not Used" Element Present” Must not be present.
K403 = 10: "Implementation
2300.DN205.010 999 NU - "Not Used” Element Present” Must not be present.
IK403 = 110: "Implementation
2300.DN206.010 999 NU - "Not Used" Element Present” Must not be present.
IK304 = 5: "Segment Exceeds Only ten iterations of
2300.PWK.010 299 S 10 Maximum Use" 2300.PWK are allowed.
2300.PWK01.010 999 R - K403 =1: 'Required Data 2300.PWKOT must be present.

Element Missing"
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2300.PWKO01.020 999 - - IK403 = 7:"Invalid Code Value" [ 2300.PWKO1 must be valid values.
2300.PWK02.010 999 R - IK403 = 1: 'Required Data 2300.PWKO02 must be present.
Element Missing
2300.PWK02.020 999 - : 1K403 = 7: "Invalid Code Value® | 2300 PWK0Zmust be valid
IK403 = 10: "Implementation
2300.PWK03.010 999 N/U - "Not Used" Element Present” Must not be present.
K403 = 10: "Implementation
2300.PWK04.010 999 N/U - "Not Used" Element Present” Must not be present.
|IK403 = 2: "Conditional When 2300.PWKO5 is present,
2300.PWK05.010 999 S - Required Data Element 2300.PWKO02 must be “BM”, “EL",
Missing" “EM”, “FX" or “FT".
2300.PWKO05.020 999 - - IK403 =7:"Invalid Code Value" | 2300.PWKO5 must be "AC".
IK403 = 2: "Conditional When 2300.PWKO06 is present,
2300.PWK06.010 999 S - Required Data Element 2300.PWKO02 must be “BM”, “EL”,
Missing" “EM”, “FX” or “FT".
IK403 = 4: "Data Element Too
Short" 2300.PWKO6 must be 2-50
2300.PWK06.020 299 ) ) IK403 = 5: "Data Element Too | characters.
Long"
2300.PWKO06.040 990 ) ) IK403 = 6:"Invalid Character | 2300.PWK06 must be populated

in Data Element”

with accepted AN characters.
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i ) ; 2300.PWKO6 must contain at
2300.PWK06.060 999 - - K403 = 6:"Invalid Character in least two non-space
Data Element
characters.
2300.PWK07.010 999 NU - IK403,.: '10: Implementﬂotlon Not Must not be present.
Used" Element Present
2300.PWK08.010 999 NU - IK403,.: '10: Implementﬂotlon Not Must not be present.
Used" Element Present
2300.PWK09.010 999 NU |- K403 = 110: Implementation "NOt |\, 1\t pe present.
Used" Element Present
IK304 = 19: "Implementation
2300.CN1.010 999 NU |- Dependent "Not Used" Segment | 2200-CNT must not be
" present.
Present
IK304 = 5:"Segment Exceeds Only one iteration of
2500 AMT.010 299 S ! Maximum Use" 2300.AMT is allowed.
2300.AMT01.010 999 R - L'fég?n;’ Required Data Element | 5364 AMT01 must be present.
2300.AMT01.020 999 - - IK403 = 7:"Invalid Code Value" 2300.AMTO1 must be "F5".
2300 AMT02.005 990 R ) IK403 = 1 Required Data Element | 2300.AMT02 must be
Missing present.
2300 AMT02.010 990 ) ) IK403 = 6:"Invalid Character in 2300.AMTO02 must be

Data Element”

numeric.
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IK403 = 5: "Data Element Too 2300.AMTO02 must be >= 0 and
2300.AMT02.015 999 - - Long" <= 99.999.99.

IK403 = 10: "Implementation
2300.AMT03.010 999 N/U - "Not Used" Element Present Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2300.REF
2300 REF.010 299 S ) Maximum Use" with REFO1 ="G3" is allowed.
2300.REF01.010 999 R - K403 =1: ‘Required Data 2300.REFO1 must be present.

Element Missing
2300.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2300.REFO1 must be"G3".
2300.REF02.010 999 R - K403 =1: ‘Required Data 2300.REF02 must be present.

Element Missing

IK403 = 10: "Implementation
2300.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 110: "Implementation
2300.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5: "Segment Exceeds Only one iteration of 2300.REF
2300.REF.010 299 S ! Maximum Use" with REFO1 ="4N" is allowed.
2300.REF01.010 999 R - IK403 = 1: "Required Data 2300.REFOT must be present.

Element Missing
2300.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2300.REFO1 must be "4N".

National Government Services, Inc.

Page 59 of 159



837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2300.REF02.010 999 R - IK403 = 1: "Required Data 2300.REFO2 must be present.

Element Missing
2300.REF02.020 999 . - K403 = 7:"Invalid Code Value' | 2200 REFO2 must be valid

values

IK403 = 110: "Implementation
2300.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 110: "Implementation
2300.REF04.010 999 N/U - "Not Used" Element Present" Must not be present.

2300 REF.010 999 N/U ] 2300.REF with REFO1 ="F8
must not be present.

IK304 = 5: "Segment Exceeds Only one iteration of 2300.REF
2300.REF.010 299 S ! Maximum Use" with REFO1 = "9F" is allowed.
2300.REF01.010 999 R - IK403 = 1: 'Required Data 2300.REFOT must be present.

Element Missing
2300.REF01.020 999 - - IK403 =7: "Invalid Code Value" 2300.REFO1 must be"9F".
2300.REF02.010 999 R - IK403 = 1: "Required Data 2300.REFO2 must be present.

Element Missing

o ) . 2300.REF02 must contain at
2300.REF02.020 999 - - K403 = 6: "Invalid Characterin | 2o sne non-space

Data Element

character.
2300.REF02.030 099 ) ) IK403 = 5: "Data Element Too 2300.REF02 must be 1-50

Long"

characters.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
o ) ) 2300.REF02 must be
2300.REF02.050 999 - - K403 = 6:"Invalid Character in populated with accepted AN

Data Element

characters.

IK403 = 110: "Implementation
2300.REF03.010 999 N/U - "Not Used” Element Present” Must not be present.

IK403 = 110: "Implementation
2300.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5: "Segment Exceeds Only one iteration of 2300.REF
2300.REF.010 299 S ! Maximum Use" with REFO1 ="G1" is allowed.
2300.REF01.010 999 R - IK403 = 1: 'Required Data 2300.REFOT must be present.

Element Missing
2300.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2300.REFO1 must be "G1".
2300.REF02.010 999 R - IK403 = 1: 'Required Data 2300.REFO2 must be present.

Element Missing

_ . . 2300.REF02 must contain at
2300.REF02.020 999 - - K403 = 6. Invcghd Character in least one non-space

Data Element

character.
2300.REF02.030 099 ) i IK4OZ>“= 5:"Data Element Too 2300.REF02 must be 1-50

Long characters.

o ) ) 2300.REF02 must be
2300.REF02.050 999 - - K403 = 6:"Invalid Characterin ' 1 Gted with accepted AN

Data Element”

characters.
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IK403 = 110: "Implementation
2300.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 110: "Implementation
2300.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2300.REF
2300 REF.010 299 S ! Maximum Use" with REFO1 ="9A" is allowed.
2300.REF01.010 999 R - K403 = 1: 'Required Data 2300.REFO1 must be present.

Element Missing
2300.REF01.020 999 - - IK403 =7:"Invalid Code Value" 2300.REFO1 must be "9A".
2300.REF02.010 999 R - K403 = 1: 'Required Data 2300.REF02 must be present.

Element Missing

o ) ) 2300.REF02 must contain at

2300.REF02.020 999 ; - K403 = 6:"Invalid Characterin |0 ot one non-space

Data Element

character.

5300.REF02.030 990 ) ) IK403”: 5:"Data Element Too 2300.REF02 must be 1-50

Long characters.

o ) . 2300.REF02 must be

2300.REF02.050 999 - - K403 = 6: Invcghd Character in populated with accepted AN

Data Element

characters.

2300.REF03.010 999 N/U - IK403 = 110: Implementation Must not be present.

"Not Used" Element Present"
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IK403 = 110: "Implementation
2300.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5: "Segment Exceeds Only one iteration of 2300.REF
2300 REF.010 299 S ! Maximum Use" with REFO1 ="9C" is allowed.
2300.REF01.010 999 R - IK403 = 1: 'Required Data 2300.REFOT must be present.

Element Missing
2300.REF01.020 999 - - IK403 =7:"Invalid Code Value" 2300.REFO1 must be "9C".
2300.REF02.010 999 R - IK403 = 1: 'Required Data 2300.REFO2 must be present.

Element Missing

_ . . 2300.REF02 must contain at

2300.REF02.020 999 - - K403 = 6. Inv?hd Character in least one non-space

Data Element

character.

2300.REF02.030 990 ) ) |K403”= 5:"Data Element Too 2300.REF02 must be 1-50

Long characters.

o ) . 2300.REF02 must be

2300.REF02.050 999 - - K403 = 6. Inv?hd Characterin populated with accepted AN

Data Element

characters.

IK403 = 110: "Implementation
2300.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.
2300.REF04.010 999 N/U - IK403 = 110: Implementation Must not be present.

"Not Used" Element Present"
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Maximum Use"

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

IK304 = 5: "Segment Exceeds Only one iteration of 2300.REF
2300.REF.010 299 S ! Maximum Use" with REFO1 ="D9" is allowed.
2300.REF01.010 999 R - IK403 = 1: 'Required Data 2300.REFOT must be present.

Element Missing
2300.REF01.020 999 - - IK403 =7:"Invalid Code Value" 2300.REFO1 must be "D9".
2300.REF02.010 999 R - IK403 = 1: "Required Data 2300.REFO2 must be present.

Element Missing

o ) . 2300.REF02 must contain at

2300.REF02.020 999 - - IK403 = 6: "Invalid Characterin |0 one non-space

Data Element

character.

2300.REF02.030 099 ) i IK403“= 5:"Data Element Too 2300.REF02 must be 1-20

Long characters.

o ) ) 2300.REF02 must be

2300.REF02.050 999 - - K403 = 6: "Invalid Characterin |\ J 1 1 1ted with accepted AN

Data Element

characters.

IK403 = 110: "Implementation
2300.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 110: "Implementation
2300.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.
2300K3.010 999 S 10 IK304 = 5: "Segment Exceeds Only ten iterations of K3 are

allowed.

National Government Services, Inc.

Page 64 of 159



837D
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2300.K301.010 999 R - IK403 = 1: 'Required Data 2300.K301 must be present.
Element Missing
o ) . 2300.K301 must contain at
2300.K301.020 999 - - K403 = &: Inv?hd Character in least one non-space
Data Element
character.
2300.K301.030 990 ) ) IK403"= 5:"Data Element Too 2300.K301 must be 1-80
Long characters.
IK403 = 6:"Invalid Character in 2300.K301 must be populated
2300K301.050 299 ) ) Data Element" with accepted AN characters.
IK403 = 10: "Implementation
2300.K302.010 999 N/U - "Not Used" Element Present Must not be present.
IK403 = 10: "Implementation
2300.K303.010 999 N/U - "Not Used" Element Present" Must not be present.
2300.NTE.010 990 s 5 IK3Q4 =5: Seg[nent Exceeds iny one iteration of 2300.NTE
Maximum Use is allowed.
2300.NTEO1.010 999 R - IK403 = 1: 'Required Data 2300.NTEO1 must be present,
Element Missing
2300.NTEO1.020 999 - . K403 = 7:"Invalid Code Value” | 2300-NTEOT must be valid
values.
2300.NTE02.010 999 R - IK403 = 1: 'Required Data 2300.NTEO2 must be present.
Element Missing
_ s ) . 2300.NTEO2 must contain at
2300.NTE02.020 999 - - K403 = 6: “Invalid Character in least one non-space

Data Element”

character.
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"Not Used" Element Present”

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2300.NTE02.030 099 ) ) IK403"= 5:"Data Element Too 2300.NTEO2 must be 1- 80

Long characters.

IK403 = 6: "Invalid Characterin | 2300.NTEO2 must be populated
2300.NTE02.050 299 ) ) Data Element” with accepted AN characters.
2300.H1.010 990 ) ) |K3Q4 =“3: Required Segment FSOP.HI with HIO1-1 ="ABK" or

Missing TQ" must be present.

o Only one iteration of 2300.HI
2300.H1.040 999 - . K304 = 5:"Segment Exceeds |\ iy Hi01.1 = "ABK” or "TQ" is

Maximum Use

allowed.
2300.H101-1.010 999 R - 1403 = 1: ‘Required Data 2300HI01-1 must be present.

Element Missing
2300.H101-1.020 999 - - IK403 = 7:"Invalid Code Value" | 2300.HI01-1 must be "ABK". TQ
2300.H101-2.010 999 R - 1403 = 1: ‘Required Data 2300.HI01-2 must be present.

Element Missing
5300.H101-2100 990 ) ) IK403 = 6: Inv?lid Characterin ?;OO.HIO1—2 must not contain a

Data Element .

IK403 = 10: "Implementation
2300.H101-3.010 999 N/U - "Not Used" Element Present” Must not be present.
2300.HI01-4.010 999 NU |- IK403 =110: Implementation | ), ot be present.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

2300.H101-5.010 999 NU |- K403 = 110: "Implementation "Not Used" | \y ;1\t be present.
Element Present

2300.H101-6.010 999 N/U - K403 = 10: Impl§mentot|on Not Used Must not be present.
Element Present

2300.H101-7.010 999 N/U - K403 = 10: Impl§mentot|on Not Used Must not be present.
Element Present

2300.HI01-8.010 999 NU |- K403 = 110: "Implementation "Not Used" | vy o+ 1ot be present.
Element Present

_ o . " 2300.HI102-1 must

2300.H102-1.020 999 S - IK403 = 7:"Invalid Code Value be "ABF" or TQ

2300.H102-2.090 990 ) ) IK403 = 6 Invalid Character in Data 2300.HIO2—%must not
Element containa .

2300.H102-3.010 999 N/U - K403 = 10: Impl§mentot|on Not Used Must not be present.
Element Present

2300.H102-4.010 999 NU |- K403 = 110: "Implementation "Not Used" | vy o+ 1ot pe present.
Element Present

2300.H102-5.010 999 NU |- K403 = 110: "Implementation "Not Used” | vy o+ 1ot pe present.
Element Present
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2300.H102-6.010 999 NU - K403 = 110: "Implementation 'Not |\, 1\t pe present.
Used" Element Present
2300.H102-7.010 999 NU - K403 = 10: “Implementation "NOt |y, 1\t pe present.
Used" Element Present
2300.H102-8.010 999 NU - K403 = 10: “Implementation "NOt |\, 1\t be present.
Used" Element Present
2300.H102-9.010 999 NU |- K403 = 10: "Implementation "NOt |y, 1\t pe present.
Used" Element Present
A . ) 2300.HI03 can only be
2300.HI03.010 999 S - K403 = 2:"Conditional Required | " C i 9300 HI02 is
Data Element Missing
present.
2300.HI03- o . " 2300.HI03-1 must be "BF" or
1020 999 R - IK403 =7:"Invalid Code Value "ABF".
2300.H103-2.090 990 ) ) IK403 = 6: Invcghd Characterin 2300.!—'|I03—%must not
Data Element contain a”.
2300.H103-3.010 999 NU - K403 = 110: "Implementation 'Not |\, 1\t pe present.
Used" Element Present
2300.HI03-4.010 999 NU - K403 = 110: "Implementation "Not |\, &t ot hhe present.

Used" Element Present”
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2300.H103-5.010 999 NU - K403 = 110: "Implementation "NOt | ;¢ 1ot be present.
Used" Element Present
2300.H103-6.010 999 N/U - |K403.,= '10: Implementﬂonon Not Must not be present.
Used" Element Present
2300.H103-7.010 999 N/U - |K403.,= '10: Implementﬂonon Not Must not be present.
Used" Element Present
2300.H103-8.010 999 NU |- K403 = 10: "Implementation 'NOt | ;o 1ot e present.
Used" Element Present
2300.H103-9.010 999 N/U - |K403.,= 10: Implement"otlon Not Must not be present.
Used" Element Present
- . ) 2300.H104 can only be
2300.HI04.010 999 s - K403 =2: "Conditional Required |\ o0 if 9300.HI03 is
Data Element Missing
present.
2300.HI104-1.020 999 R - IK403 = 7: "Invalid Code Value' ?jg?.:H'O4'1 must be "BF" or
2300 H104-2.090 900 ) ) IK403 = ¢: Inv?lld Character in 2300.HIO4—"2|' must not
Data Element containa .
2300.HI04-3.010 999 NU |- K403 = 110: "Implementation "Not |y, 1\t e present.

Used" Element Present”
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

2300.H104-4.010 999 NU |- K403 = 110: "Implementation "Not Must not be present.
Used" Element Present

2300.H104-5.010 999 N/U - |K403,.= 10: Implementﬂotlon Not Must not be present.
Used" Element Present

2300.H104-6.010 999 N/U - |K403,.= 10: Implementﬂotlon Not Must not be present.
Used" Element Present

2300.H104-7.010 999 NU |- K403 = 110: Implementation "Not Must not be present.
Used" Element Present

2300.H104-8.010 999 N/U - |K403,.= 10: Implement“otlon Not Must not be present.
Used" Element Present

2300.H104-9.010 999 NU |- K403 = 110: "Implementation "Not Must not be present.
Used" Element Present

2300.H105.010 999 N/U - |K403,.= 10: Implementﬂotlon Not Must not be present.
Used" Element Present

2300.HCP.005 999 NU |- K304 = 14: Implementation "Not Must not be present
Used” Segment Present

5310ANMI.010 990 ) 5 IK304 = 4:"Loop Occurs Over Only two iterations of

Maximum Times"

2310A are allowed.
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2310ANM1.020 990 S ) IK304 = 5: Segment ) Only one iteration of 2310A.NM1 is
Exceeds Maximum Use allowed.
2310ANM101.010 990 R ) IK304 = 2 Unexpected 231QA.NM101 must be present and a
segment valid value.
o ) For the first iteration of the referring
2310ANM101.030 999 - - K403 =7 Invalid Code | 0\ ider loop, 2310ANMI101 must be
Value DI
DN".
o ) For the second iteration of the
2310A.NM101.040 999 - - k403 . 7-Invalid Code referring provider loop, 2310A.NM101
Value "oz
must be "P3".
2310A.NM102.010 999 R - K403 = 1: 'Required DAtA | 5246 NM102 must be present.
Element Missing
2310ANM102.020 999 . . ka03 = 7:invalid Code | 5510ANM102 must be "1
2310ANM103.010 999 R - K403 = 1: ‘Required DAta | o310 NM103 must be present.
Element Missing
IK403 = 6: "Invalid .
2310A.NM103.020 999 - - Character in Data 2310ANM103 must contain at least
" one non-space character.
Element
2310ANM103.030 990 i ) K403 = 5:" Data Element | 2310A.NM103 must be 1- 60
Too Long characters.
IK403 = 6: "Invalid )
2310A.NM103.050 999 . - Character in Data 2510ANM103 must be populated with
Element” accepted AN characters.
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2310ANM104.010 990 S ) IK403 = 6: Invclzllhd Characterin [ 2310A.NM104 must contain at
Data Element least one non-space character.
2310ANM104.020 990 ) ) |K403”= 5:"Data Element Too 2310A.NM104 must be 1-35
Long characters.
L ) . 2310ANM104 must be
2310ANM104.040 999 - - K403 = 6: "Invalid Characterin | | ted with accepted AN
Data Element
characters.
2310ANM105.010 990 S ) IK403 = 6: Invclzllhd Characterin [ 2310A.NM105 must contain at
Data Element least one non-space character.
2310ANM105.020 990 ) ) |K403”= 5:"Data Element Too 2310A.NM105 must be 1-25
Long characters.
o ) . 2310A.NM105 must be
2310A.NM105.040 999 - - K403 = 6. Invcl?hd Characterin populated with accepted AN
Data Element
characters.
K403 = 10: "Implementation
2310ANM106.010 999 N/U - "Not Used" Element Present” Must not be present.
5310ANM107.010 990 S ) IK403 = 6: Inv?hd Characterin [ 2310A.NM107 must contain at
Data Element least one non-space character.
5310ANM107.020 990 ) ) IK403"= 5:"Data Element Too 2310A.NM107 must be 1-10
Long characters.
o . . 2310A.NM107 must be
2310ANM107.040 999 - - K403 = 6: "Invalid Characterin | 0| ed with accepted AN

Data Element”

characters.
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2310A.NM108.030 999 - - IK403 = 7:"Invalid Code Value" | 2310A.NM108 must be "XX".

IK403 = 2: "Conditional )

2310ANM109.010 999 s - Required Data Element 2310ANM109 must be present if
S 2310ANM108 is present.

Missing

IK403 = 10: "Implementation
2310A.NM110.010 999 N/U - "Not Used" Element Present Must not be present.

IK403 = 10: "Implementation
2310ANM111.010 999 N/U - "Not Used" Element Present" Must not be present.

IK403 = 110: "Implementation
2310ANM112.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5: "Segment Exceeds Only one iteration of 2310A.PRV
2310APRV.020 299 S ) Maximum Use" with PRVO1 ="RF" is allowed.
2310APRVO1.010 999 R - IK403 = 1: 'Required Data 2310APRVO1 must be present.

Element Missing
2310A.PRV01.020 999 - - IK403 = 7:"Invalid Code Value" | 2310A.PRVO1 must be "RF".
2310APRV02.010 999 R - IK403 = 1: 'Required Data 2310APRV02 must be present.

Element Missing
2310A.PRV02.020 999 - - IK403 =7:"Invalid Code Value" | 2310A.PRV02 must be "PXC".
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2310A.PRV03.010 999 R - L’Tiﬁ;ghﬁfﬁ;’éﬂed Data 1 5310A PRVO3 must be present.
IK403 = 110: "Implementation
2310A.PRV04.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2310A.PRV05.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2310A.PRV06.010 999 N/U - "Not Used" Element Present” Must not be present.
" . If 2310A.NMT1 is present, 2310A.REF
IK304 = 19: "Implementation : g e
2310AREF.010 999 s - Dependent "Not Used" with REFO1 ="G" or '0B" may be
Segment Present” present when 2310A.NM109 is not
9 present.
IK304 = 19: "Implementation
2310A.REF.030 999 - - Dependent "Not Used" 2310A.REF must not be present.
Segment Present”
2310A.REF01.010 999 R - 'E'T‘e‘?fe;g:MFfses?ﬁg?d Data 2310A.REFO1 must be present.
2310AREF01.020 999 - - ka03 =7 Invalid Code 2310A.REFO1 must be valid values.
2310AREF02.010 999 R - K403 = 1: 'Required Data | 514 REF02 must be present.

Element Missing"
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o . When 2310A.REF01 = "0B",
2310AREF02.020 999 - . K403 = &: ‘Invalid Character | »z10a REFO2 must contain at least
in Data Element
one non-space character.
- When 2310A.REFO1 = "0B",
2310AREF02.040 999 - - K403 = 5:"Data Element T00 | 53104 REF02 must be 1- 50
9 characters.
o ) When 2310A.REFO1 = "0B",
2310A.REF02.060 999 - - IK403 = : “Invalid Character | 3465 REF02 must be populated
in Data Element .
with accepted AN characters.
IK403 = 110: "Implementation
2310A.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2310A.REF04.010 999 N/U - "Not Used" Element Present Must not be present.
5310B.NM1.010 990 S 1 |K3Q4 =4: Lpop (")ccurs Over | Only one iteration of 2310B.NM1 is
Maximum Times allowed.
2310B.NM101.010 990 R ) IK304 = 2 Unexpected 231OB.NM101 must be present and
segment a valid value.
2310BNM102.010 999 R - IK403 = 1: 'Required Data | 3105 \M102 must be present.
Element Missing
2310BNM102.020 999 - - ka03 = 7:nvalid Code 2310BNM102 must be valid values.
2310B.NM103.010 999 R - K403 =1: ‘Required Data | 53165 \M103 must be present.

Element Missing"
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L . ) 2310B.NM103 must contain
2310B.NM103.020 999 - - K403 = 6: Inv?hd Characterin at least one non-space
Data Element
character.
2310B.NM103.030 999 . . K403 = 5:"Data Element Too Long" | 251OBNM103 must be 1 - 60
characters.
o ) ) 2310B.NM103 must be
2310B.NM103.050 999 . : 1403 = 6: ‘Invalid Character in populated with accepted
Data Element
AN characters.
IK403 = 13: "Implementation If 2310B.NM102 is "2",
2310B.NM104.015 999 S - Dependent "Not Used" Data 2310B.NM104 must not be
Element Present” present.
L . . 2310B.NM104 must contain
2310BNM104.020 999 - - K403 = 6:"Invalid Character in at least one non-space
Data Element
character.
2310BNM104.030 999 . . K403 = 5:"Data Element Too Long” | 2o 10BNM104 must be 1- 35
characters.
L ) ) 2310B.NM104 must be
2310B.NM104.050 999 - - K403 = 6:"Invalid Character in populated with accepted
Data Element
AN characters.
IK403 = 113: "Implementation If 2310B.NM102 is "2",
2310B.NM105.015 999 S - Dependent "Not Used" Data 2310B.NM105 must not be
Element Present” present.
_ g . . 2310B.NM105 must contain
2310B.NM105.020 999 - - K403 = 6. Invcl?hol Characterin at least one non-space
Data Element
character.
2310BNM105.030 999 . . K403 = 5: "Data Element Too Long” | 2010BNMT05 must be 1 -25

characters.
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o ) ) 2310B.NM105 must be
2310B.NM105.050 999 - - K403 = 6:"Invalid Character in populated with accepted
Data Element
AN characters.
2310B.NM106.010 999 NU |- K403 = 10: "Implementation "NOt | vy ¢ 1ot e present.
Used" Element Present
IK403 = 13: "Implementation If 2310B.NM102 is "2",
2310B.NM107.010 999 S - Dependent "Not Used" Data 2310B.NM107 must not be
Element Present” present.
_ g . . 2310B.NM107 must contain
2310B.NM107.020 999 - - K403 = 6: "Invalid Character in at least one non-space
Data Element
character.
2310B.NM107.030 999 - ; IK403 = 5. "Data Element Too Long’” | T 2310BNM107 must be 1-10
characters.
o ) ) 2310B.NM107 must be
2310B.NM107.050 999 - - K403 = 6: "Invalid Character in populated with accepted
Data Element
AN characters.
2310B.NM108.030 999 - - IK403 =7:"Invalid Code Value" 2310B.NM108 must be "XX".
o - i 2310B.NM109 must be
2310BNM109.010 999 s - K403 = 2. "Conditional Required | oot if 2310BNM108 is
Data Element Missing
present.
2310B.NM110.010 999 NU |- k403 = 110: Implementation "Not |\, ot be present.

Used" Element Present”
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IK403 = 110: "Implementation
2310B.NM111.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2310B.NM112.010 999 N/U - "Not Used" Element Present Must not be present.
IK304 = 5:"Segment Exceeds Only one iteration of
2310B.PRV.020 999 S - . . g., 2310B.PRV with PRVO1 ="PE" is
Maximum Use
allowed.
2310B.PRVO1.010 999 R - IK403 = 1: 'Required Data 2310B.PRVO1 must be present.
Element Missing
2310B.PRV01.020 999 - - IK403 = 7:"Invalid Code Value" 2310B.PRVO1 must be "PE".
2310B.PRV02.010 999 R - IK403 = 1: 'Required Data 2310B.PRVO2 must be present.
Element Missing
2310B.PRV02.020 999 - - IK403 = 7:"Invalid Code Value" 2310B.PRV02 must be "PXC".
2310B.PRV03.010 999 R - IK403 = 1: 'Required Data 2310B.PRVO3 must be present.
Element Missing
IK403 = 110: "Implementation
2310B.PRV04.010 999 N/U - "Not Used" Element Present” Must not be present.
2310B.PRV05.010 999 NU |- K403 = 110: Implementation Must not be present.

"Not Used" Element Present”
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IK403 = 110: "Implementation
2310B.PRV06.010 999 N/U - "Not Used" Element Present” Must not be present.
IK304 = 19: "Implementation If 2310B.NM1 is present, 2310B.REF
2310B.REF.010 999 S - Dependent "Not Used" with REFO1 ="G', "0B", "G2" or 'LU
Segment Present” may be present when 2310B.NM109
is not present.
IK304 = 19: "Implementation
2310B.REF.030 999 - - Dependent "Not Used" 2310B.REF must not be present.
Segment Present”
2310B.REF01.010 999 R - Lﬁ:%BeTW;:MF?sesciwlgr"ed Data 1 5310B.REFO1 must be present.
2310B.REF01.025 999 - - '\/chl?fe,.: 7-"Invalid Code 2310B.REFO1 must be valid values.
2310BREF02.010 999 R - Lﬁg%ﬁ;;ﬁfﬁﬁgfd Data 1 5310B.REFO2 must be present.
_s.w . When 2310B.REF0O1 = ="0B", "G2" or
2310B.REF02.020 999 . - K403 ~ & Invalid Character | - 53108 REFO2 must contain at
least one non-space character.
- When 2310B.REFO1 = "0B", "G2" or
2310B.REF02.040 999 . - IK403 = 5 'Data Blement | 53108 REFO2 must be 1 - 50

Too Long"

characters.
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When 2310B.REFO1 = ="0B", "G2" or
IK403 = 6: "Invalid "LU", 2310B.REFO2 must be
2510BREF02.060 299 ) ) Character in Data Element" | populated with accepted AN
characters.
IK403 =110:
2310B.REF03.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:
2310B.REF04.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
5310C.NM1.010 990 S ’ IK304 = 4: ‘Loop O_ccur"s Only one iteration of 2310C.NM1 is
Over Maximum Times allowed.
2310C.NM101.010 990 R ) K304 = 2 Unexpected 231QC.NM101 must be present and a
segment valid value.
2310C.NM102.010 999 R - K403 =1: ‘Required Data | 531 NM102 must be present.
Element Missing
2310C.NM102.020 999 - - aos T Invalid Code 2310C.NM102 must be "2".
2310C.NM103.010 999 R - K403 = 1: 'Required Datd | H3160 NM103 must be present.
Element Missing
5310C.NM103.020 990 ) ) IK403 = 6: I_nvohd . 2310C.NM103 must contain at least
Character in Data Element" | one non-space character.
2310C.NM103.030 990 ) ) IK403 = 5:“ Data Element 2310C.NM103 must be 1- 60
Too Long characters.
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o ) ) 2310C.NM103 must be
2310C.NM103.050 999 - - K403 = 6:"Invalid Character in populated with accepted AN
Data Element
characters.
IK403 = 10: "Implementation
2310C.NM104.010 999 N/U - "Not Used" Element Present” Must not be present.
K403 = 110: "Implementation
2310C.NM105.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2310C.NM106.010 999 N/U - "Not Used" Element Present” Must not be present.
K403 = 10: "Implementation
2310C.NM107.010 999 N/U - "Not Used" Element Present” Must not be present.
2310C.NM108.010 999 S - IK403 =7:"Invalid Code Value" 2310C.NM108 must be "XX".
IK403 = 2: "Conditional Required [ If 2310C.NM108 is present,
2310CNM109.010 299 S ) Data Element Missing" 2310C.NM109 must be present.
IK403 = 10: "Implementation
2310C.NM110.010 999 N/U - "Not Used" Element Present” Must not be present.
2310C.NM111.010 999 NU |- IK403 = 10: Implementation | & 1ot be present.

"Not Used" Element Present"
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IK403 = 110: "Implementation
2310C.NM112.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 16: "Implementation If 2310C.NM1 is present,
2310CN3.010 299 R ) Dependent Segment Missing" 2310.N3 must be present.
2310C.N3.020 990 ) ) |K304 =5 Segment Exceeds iny one iteration of 2310C.N3

Maximum Use is allowed.
2310C.N301.010 999 R - K403 = 1: 'Required Data 2310C.N301 must be present.

Element Missing

o ) ) 2310C.N301 must contain at
2310C.N301.020 999 ; - K403 = 6: Invalid Characterin |06 "one non-space

Data Element

character.
2310C.N301.030 990 ) ) IK403”: 5:"Data Element Too 2310C.N301 must be 1-55

Long characters.

o . . 2310C.N301 must be
2310C.N301.050 999 ; - IK403 = 6:"Invalid Characterin |0 i ied with accepted AN

Data Element

characters.
o . . 2310C.N302 must contain at
2310C.N302.020 999 S - K403 = &: Inv?lld Character in least one non-space

Data Element

character.
2310C.N302.030 990 ) ) IK403"= 5:"Data Element Too 2310C.N302 must be 1-55

Long characters.

o ) . 2310C.N302 must be
2310C.N302.050 999 - - K403 = 6: "Invalid Characterin | 0 1o d with accepted AN

Data Element”

characters.
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IK304 = 16: "Implementation If 2310C.NM1 is present,
2310CN4.010 299 R ) Dependent Segment Missing" 2310.N4 must be present.
2310C.N4.020 990 ) ) |K304 =5 Segment Exceeds iny one iteration of 2310C.N4
Maximum Use is allowed.
2310C.N401.010 999 R - K405 = 1. Required Data 2310C.N401 must be present.
Element Missing
o . . 2310C.N401 must contain at
2310C.N401.020 999 - - K403 = 6: Invqlld Character in least two non-space
Data Element
characters.
IK403 = 4: "Data Element Too
Short" 2310C.N401 must be 2-30
2310CN401.030 299 ) ) IK403 = 5: "Data Element Too characters.
Long"
g . . 2310C.N401 must be
2310C.N401.050 999 - - K403 = &: Invqlld Characterin populated with accepted AN
Data Element
characters.
IK403 = 2: "Conditional Required | If 2310C.N404 is not present,
2310CN402.010 299 S ) Data Element Missing" 2310C.N402 must be present.
IK403 = 2: "Conditional Required | If 2310C.N404 is not present,
2310C.N403.010 299 S ) Data Element Missing" 2310C.N403 must be present.
2310C.N403.020 999 s - K403 = 6:"Invalid Characterin 15316 N403 is not numeric.
Data Element
2310C.N404.010 999 S - K403 =110: Implementation Must not be present.

"Not Used" Element Present”

National Government Services, Inc.

Page 83 of 159



837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
IK403 = 110: "Implementation
2310C.N405.010 999 N/U - "Not Used" Element Present” Must not be present.
K403 = 10: "Implementation
2310C.N406.010 999 N/U - "Not Used" Element Present” Must not be present.
K403 = 10: "Implementation
2310C.N407.005 999 S - "Not Used" Element Present” Must not be present.
2310D.NM1.010 999 S ] IK3Q4 =4: Lpop ?ccurs Over Only one iteration 2310D.NM1 is
Maximum Times allowed.
2310D.NM101.010 990 R ) IK304 = 2 Unexpected 231OD.NMjO1 must be present
segment and a valid value.
2310D.NM102.010 999 R - IK403 = 1: "Required Data 2310D.NM102 must be present.
Element Missing
2310D.NM102.020 999 - - IK403 = 7:"Invalid Code Value" 2310D.NM102 must be "1".
2310D.NM103.010 999 R - IK403 = 1: "Required Data 2310D.NM103 must be present.
Element Missing
310D NM103.020 990 ) ) IK403 = 6: |nV(|:|Ilid Characterin | 2310D.NM103 must contain at
Data Element least one non-space character.
310D NM103.030 990 ) ) IK403 = 5: "Data Element Too 2310D.NM103 must be 1- 60

Long"

characters.
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o ) ) 2310D.NM103 must be
2310D.NM103.050 999 - - K403 = 6:"Invalid Character in populated with accepted AN
Data Element
characters.
2310D.NM104.010 990 s . IK403 = 6: Invcl?hd Characterin | 2310D.NM104 must contain at
Data Element least one non-space character.
2310D.NM104.020 990 ) . IK4OSH: 5:"Data Element Too 2310D.NM104 must be 1 - 35
Long characters.
o ) ) 2310D.NM104 must be
2310D.NM104.040 999 - - K403 = 6:"Invalid Character in populated with accepted AN
Data Element
characters.
2310D.NM105.010 990 s . IK403 = 6: Invcl?hd Characterin | 2310D.NM105 must contain at
Data Element least one non-space character.
2310D.NM105.020 099 ) ) IK403"= 5:"Data Element Too 2310D.NM105 must be 1-25
Long characters.
L ) . 2310D.NM105 must be
2310D.NM105.040 999 - - IK403 = 6: "Invalid Characterin | o ted with accepted AN
Data Element
characters.
IK403 = 110: "Implementation
2310D.NM106.010 999 N/U - "Not Used" Element Present” Must not be present.
2310D NM107.010 990 S ) IK403 = 6: Invclzllhd Characterin | 2310D.NM107 must contain at
Data Element least one non-space character.
310D NM107.020 990 ) ) IK403 = 5:"Data Element Too 2310D.NM107 must be 1-10

Long"

characters.
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o i : 2310D.NM107 must be
2310D.NM107.040 999 - - K403 = 6:"Invalid Character in populated with accepted AN

Data Element

characters.
2310D.NM108.030 999 - - IK403 =7:"Invalid Code Value" 2310D.NM108 must be "XX".

IK403 = 2: "Conditional Required | If 2310D.NM108 is present,
2310D.NM109.010 299 S ) Data Element Missing" 2310D.NM109 must be present.

IK403 = 10: "Implementation
2310D.NM110.010 999 N/U - "Not Used" Element Present” Must not be present.

K403 = 10: "Implementation
2310D.NM111.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 10: "Implementation
2310D.NM112.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2310D.PRV
2310D.PRV.020 299 S ) Maximum Use" with PRVO1 ="AS" is allowed.
2310D.PRVO1.010 999 R - IK403 = 1: "Required Data 2310D.PRVO1 must be present.

Element Missing
2310D.PRV01.020 999 - - IK403 = 7:"Invalid Code Value" | 2310D.PRVO1 must be "AS".
2310D.PRV02.010 999 R - K403 =1: "Required Data 2310D.PRVO2 must be present.

Element Missing"
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2310D.PRV02.020 999 - . K403 = 7 "Invallid Code Value' 23 0D PRVO2 must be
310D PRV03.010 990 R ) IK403 = 1 Required Data Element 2310D.PRV03 must be
Missing present.
2310D.PRV04.010 999 NU |- K403 = 10: “Implementation "Not Must not be present.
Used" Element Present
2310D.PRV05.010 999 NU |- K403 = 110: Implementation "Not Must not be present.
Used" Element Present
2310D.PRV06.010 999 NU |- K403 = 110: “Implementation "Not Must not be present.
Used" Element Present
IK304 = 5: "Segment Exceeds Only three iterations of
2310DREF.010 299 S i Maximum Use" 2310D.REF are allowed.
IK304 =19: "Implementation
2310D.REF.015 999 - - Dependent "Not Used” Segment 2310D REF must not be
" present.
Present
2310D.REFO1.010 090 R i IK403 =J: Required Data Element 2310D.REFO1 must be
Missing present.
2310D.REF02.010 099 R i IK403 = 1: "Required Data Element 2310D.REF02 must be

Missing"

present.
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e When 2310D.REFO1 = "0B" or "LU",
2310D.REF02.020 999 ; ] IK403 = 6:"Invalid Character | 5z14n peE02 must contain at ledst
in Data Element

one non-space ChCerCter.

. When 2310D REFO1 = "0B" or "LU",
2310D.REF02.040 999 - - K403 = 5 "Data Element | 52161 BEE62 must be 1- 50
Too Long
characters.

e When 2310D.REFO1 = "0B" or "LU",
2310D.REF02.060 999 - ; K403 = 6: "Invalid Character | »z460 pEF0 must be populated
in Data Element ;
with accepted AN characters.

K403 =110:
2310D.REF03.010 999 N/U - "Implementation "Not Used" | Must not be present.
Element Present”

K403 =110:
2310D.REF04.010 999 N/U - "Implementation "Not Used" | Must not be present.
Element Present”

5310E.NM1.010 999 S ] IK304 = 4: ' Loop Qccur”s Only one iteration 2310E.NM1 is
Over Maximum Times allowed.

2310ENM101.010 999 R ) IK304 = 2 Unexpected 231QE.NM101 must be present and a
segment valid value.

2310E.NM102.010 999 R - K403 = 1: 'Required Data | 3466 NM102 must be present.
Element Missing

2310E.NM102.020 999 - - l\fc?l?fé": 7:"Invalid Code 2310ENM102 must be "2".
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2310E.NM103.010 099 N/U ) IK403 = 110: Impl?mentotlon Not Used Must not be
Element Present present.
2310ENM104.010 990 N/U ) IK403 =110: Impl“ementonon Not Used Must not be
Element Present present.
2310ENM105.010 990 N/U ) IK403 =110: Impl“ementonon Not Used Must not be
Element Present present.
5310ENM106.010 990 N/U ) IK403 =110: Impl?mentotlon Not Used Must not be
Element Present present.
2310E.NM107.010 990 N/U ) IK403 = 110: Impl?mentonon Not Used Must not be
Element Present present.
2310ENM108.010 099 N/U ) IK403 = 110: Impl?mentotlon Not Used Must not be
Element Present present.
2310ENM109.010 990 N/U ) IK403 =110: Impl“ementonon Not Used Must not be
Element Present present.
5310ENM110.010 990 N/U ) IK403 = 110: Impl?mentotlon Not Used Must not be
Element Present present.
5310ENM111.010 990 N/U ) IK403 = 110: Impl?mentotlon Not Used Must not be
Element Present present.
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IK403 = 110: "Implementation
2310E.NM112.010 999 N/U - "Not Used" Element Present” Must not be present.
. . If 2310E.NM1 is present, 2310E.REF
IK304 = 19: "Implementation : g i
2310E.REF.010 999 S - Dependent "Not Used" with REFO1 = "1G" or "0B" may be
Segment Present” present when 2310E.NM109 is not
present.
IK304 = 19: "Implementation
2310E.REF.030 999 - - Dependent "Not Used" 2310E.REF must not be present.
Segment Present”
2310E.REF01.010 999 R - Lﬁg&gghﬁfg#g?d Data 2310E.REFOT must be present.
2310E.REF01.020 999 - - '\/Ksﬁif 7-"Invalid Code 2310E.REFO1 must be valid values.
2310E.REF02.010 999 R - Lﬁg?ﬂi}gﬁfgﬁéﬂed Data 2310E.REF02 must be present.
e When 2310E.REFO1 = "0B",
2310E.REF02.020 999 . - s "E'le'g’g't‘f' Character | 5210E REFO2 must contain at least
one non-space character.
e When 2310E.REFO1 = "0B",
2310E.REF02.040 999 - - :_'ffr?:s..‘ 5:"Data Element Too | 5210e REF02 must be 1 - 50
9 characters.
o When 2310E.REFO1 = "0B",
2310E.REF02.060 999 - - K403 = 6:Invalid Character | 5316¢ per02 must be populated

in Data Element”

with accepted AN characters.
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K403 =110:

2310E.REF03.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:

2310E.REF04.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”

2320010 990 ) 10 IK304 = 4: _ Loop Qccurﬂs Up to ten iterations of the 2320 loop
Over Maximum Times are allowed.

5320.SBR.O10 990 S ) IK304 = 5: Segment . Only one iteration of 2320.SBR is
Exceeds Maximum Use allowed.

2320.5BR01.010 999 R - K403 = 1: 'Required DAta | 5356 spRoT must be present.
Element Missing

2320.5BR01.020 999 . . ka03 = 7:invalid Code 1 5370.58RO1 must be valid values.

Each iteration of 2320.SBRO1 must

2320.SBRO1.030 990 ) ) K403 = 7:"Invalid Code contain a different code yolue (each

Value code value may appear in one and
only one SBRO1 element).

2320.5BR02.010 999 R . K403 = 1: ‘Required DAta | 5354 spR02 must be present.
Element Missing

2320.5BR02.020 999 - - K403 = 7:"Invalid Code 1 5356 spRO2 must be valid values,

Value"
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IK403 = 113: "Implementation
2320.SBR03.004 999 S - Dependent "Not Used" Data 2520.SBRO3 must not equal
" 2330A.NM109
Element Present
o ) ) 2320.SBR0O3 must contain at
2320.5BR03.010 999 - . K403 = 6:"Invalid Character in least one non-space
Data Element
character.
2320.SBR03.020 999 - ; IK403 = 5: "Data Element Too Long" | 2520-BRO3 must be 1- 50
characters.
o . . 2320.SBR0O3 must be
2320.SBR03.040 999 - - K403 = 6. Invcl?hd Characterin populated with accepted
Data Element
AN characters.
Caaw . - If 2320.SBRO3 is present,
2320.5BR04.010 999 S - K403 =10: "Exclusion Condition 2320.5BRO4 must not be
Violated
present.
o . ) 2320SBR04 must contain at
2320.SBR04.020 999 - - K403 = o: Inv?hd Characterin least one non-space
Data Element
character.
2320.5BR04.030 999 - - IK403 = 5: "Data Element Too Long' | 2520-5BR04 must be 1- 60
characters.
e ) ) 2320.SBR04 must be
2320.SBR04.050 999 - - K403 = 6:"Invalid Character in populated with accepted
Data Element
AN characters.
2320.SBR05.020 999 S - IK403 = 7: "Invalid Code Value' 32218':58%5 must be valid
2320.5BR06.010 999 NU |- K403 = 110: "Implementation "Not |y, 1\t e present.

Used" Element Present”
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2320.SBR07.010 999 NU |- K403 = 110: Implementation "Not |\ i 1ot be present.

Used" Element Present
2320.SBR08.010 999 NU |- K403 = 110: “Implementation "NOt |y it ot be present.

Used" Element Present
2320.5BR09.010 999 s . K403 = 7: "Invalid Code Value' 2330 5BRO9 must be valid

IK304 = 19: "Implementation

Dependent "Not Used" Segment

Present" If 2320.CAS is
2320.CAS.010 999 S - present, 2320.SBR must be

OR present.

IK304 = 2: "Unexpected Segment”

IK304 = 5:"Segment Exceeds Only five iterations of
2320.CAS.020 299 ) ) Maximum Use" 2320.CAS are allowed.
2320 CASO1.010 990 R ) CSC 41: Speciol handling required | 2320.CASO1 must be

at payer site present.
2320.CASO1.020 990 ) . CSsC 286:'Other payer's Explongtion 2320.CASO1 must be valid

of Benefits/payment information values.
2320.CAS02.010 990 R ) IK403 = 1 Required Data Element [ 2320.CAS02 must be

Missing present.
2320.CAS03.010 990 R ) IK403 = 1: "Required Data Element | 2320.CAS03 must be

Missing"

present.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2320.CAS03.020 999 . . K403 = &: ‘Invalid Character | 5356 cA03 must be numeric.
in Data Element
o 2320.CASO3 must be >=-99,999.99,
2320.CAS03.050 999 - - :_Ko4r?3"_ 5 'Data ElementToo | g
9 <= 99,999.99.
2320.CAS04.010 999 S . :_'24r?g3.,= 5:'DataElement Too | 5250 cAs04 must be 1-15 digits.
IK403 = 2: "Conditional If 2320.CASO5 is
2320.CAS05.010 999 S - Required Data Element present, 2320.CAS02 must be
Missing" present.
IK403 = 2: "Conditional .
} If 2320.CAS06 is present,
2320.CAS06.010 999 ) - Reqwreypl Data Element 2320.CASO5 must be present.
Missing
2320.CAS06.020 999 - - K403 = &: Invalid Character | 5354 cAs06 must be numeric.
in Data Element
- 2320.CAS06 must be >= -
2320.CAS06.050 999 - - K403 =5 "Data Element T00 | 65,969.99. and
9 <= 99,999.99.
IK403 = 2: "Conditional If 2320.CASO7 is
2320.CAS07.010 999 S - Required Data Element present, 2320.CASO5 must be
Missing" present.
2320.CAS07.020 999 . . 'L'fjr?;,: 5:'Data Element Too | 5354 cAS07 must be 1-15 digits.
IK403 = 2: "Conditional If 2320.CAS08 is
2320.CAS08.010 999 ) - Required Data Element present, 2320.CASO5 must be
Missing" present.
IK403 = 2: "Conditional !
2320.CAS09.010 999 s - Required Data Element If 2320.CASO9 is present,

Missing"

2320.CAS08 must be present.
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2320.CAS09.020 999 . . K403 = &: Invalid Character | 525 cAs09 must be numeric,
in Data Element
oo 2320.CAS09 must be >= -
2320.CAS09.050 999 - - :_Ko4r?3"_ 5 'Data Element Too | 66 599 99 and
9 <=99,999.99.
IK403 = 2: "Conditional If 2320.CAS10 is
2320.CAS10.010 999 S - Required Data Element present, 2320.CAS08 must be
Missing" present.
2320.CAS10.020 999 - - 'L’z"'r?g?’.,: 5:'Data Element Too | 5276 cAS10 must be 1-15 digits.
IK403 = 2: "Conditional If 2320.CAS11 is
2320.CAS11.010 999 ) - Required Data Element present, 2320.CAS08 must be
Missing" present.
IK403 = 2: "Conditional .
} If 2320.CAS12 is present,
2320.CAS12.010 999 S - Rqulreﬂd Data Element 2320.CAS11 must be present.
Missing
2320.CAS12.020 999 - - K403 = &: Invalid Character | 5355 cAs12 must be numeric.
in Data Element
_ .o 2320.CAS12 must be >=-99,999.99.
2320.CAS12.050 999 - - :ﬁ??’ 5 'Data Element Too | g
9 <= 99,999.99.
IK403 = 2: "Conditional If 2320.CAS13is
2320.CAS13.010 999 S - Required Data Element present, 2320.CAS11 must be
Missing" present.
2320.CAS13.020 999 . . :_'2?93.,: 5:'Data Element Too | 5370 cAST3 must be 1-15 digits.
IK403 = 2: "Conditional If 2320.CAS14 is
2320.CAS14.010 999 ) - Required Data Element present, 2320.CAS11 must be

Missing"

present.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
IK403 = 2: "Conditional .
! If 2320.CAS15 is present,
2320.CAS15.010 999 S - quwreﬂd Data Element 2320.CAS14 must be present.
Missing
2320.CAS15.020 999 . . K403 = 6: Invalid Character | 5356 cas15 must be numeric.
in Data Element
R 2320.CAS15 must be >=-99,999.99.
2320.CAS15.050 999 - - K403 =5 "Data Element Too | g
9 <= 99,999.99.
IK403 = 2: "Conditional If 2320.CAS16 is
2320.CAS16.010 999 S - Required Data Element present, 2320.CAS14 must be
Missing" present.
2320.CAS16.020 999 - - 'L'f)‘lr?;.: 5:'DataElementToo | 5356 cAs16 must be 1-15 digits.
IK403 = 2: "Conditional If 2320.CAS17 is
2320.CAS17.010 999 S - Required Data Element present, 2320.CAS14 must be
Missing" present.
IK403 = 2: "Conditional .
; If 2320.CAS18 is present,
2320.CAS18.010 999 S - quwreﬂd Data Element 2320.CAS17 must be present.
Missing
2320.CAS18.020 999 . . K403 = 6: Invalid Character | 5356 cas18 must be numeric.
in Data Element
L 2320.CAS18 must be >= -99,999.99.
2320.CAS18.050 999 - - 402 = 5 Data Element Too | g
9 <=99,999.99.
IK403 = 2: "Conditional If 2320.CAS19 is
2320.CAS19.010 999 S - Required Data Element present, 2320.CAS17 must be
Missing" present.
2320.CAS19.020 999 - - K403 = 5:"Data Element Too | 5255 cAS19 must be 1-15 digits.

Long"
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IK304 = 5:"Segment Exceeds Only one iteration of 2320 AMT
2520AMT.020 299 S i Maximum Use" with AMTO1 ="D" is allowed.
2320 AMT01.010 999 R - IK403 = 1: "Required Data 2320 AMTO1 must be present.

Element Missing
2320.AMT01.020 999 - - IK403 =7:"Invalid Code Value" 2320.AMTO1 must be "D".

2320 AMT02.015 999 R - IK403 = 1: "Required Data 2320 AMTO2 must be present.

Element Missing
2320.AMT02.030 999 - - K403 = &: “Invalid Characterin | 5255 AMTO2 must be numeric.

Data Element

IK403 = 5: "Data Element Too 2320.AMT02 must be >=0
2320.AMT02.010 999 - - Long" and <= 99.999.99.

K403 = 10: "Implementation
2320.AMT03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2320.AMT
2520AMT.020 299 S i Maximum Use" with AMTO1 ="A8" is allowed.
2320 AMT01.010 999 R - IK403 = 1: "Required Data 2320 AMTO1 must be present.

Element Missing
2320.AMT01.020 999 - - IK403 =7:"Invalid Code Value" 2320.AMTO1 must be "A8".
2320 AMT02.005 999 R - IK403 = 1: "Required Data 2320 AMTO2 must be present.

Element Missing
2320.AMT02.010 999 - : K403 = &: ‘Invalid Characterin- | 5255 AMTO2 must be numeric.

Data Element”
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IK403 = 5: "Data Element Too 2320.AMT02 must be >= 0 and
2320.AMT02.020 999 - - Long" <= 99.999.99.

IK403 = 10: "Implementation
2320.AMT03.010 999 N/U - "Not Used" Element Present Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2320.AMT
2320.AMT.020 299 S ) Maximum Use" with AMTO1 = "EAF" is allowed.
2320.AMT01.010 999 R - K403 =1: ‘Required Data 2320.AMTO1 must be present.

Element Missing
2320.AMT01.020 999 - - IK403 = 7:"Invalid Code Value" 2320.AMTO01 must be "EAF".
2320.AMT02.002 999 R - K403 =1: ‘Required Data 2320.AMT02 must be present.

Element Missing
2320.AMT02.005 999 - - K403 = 6:"Invalid Characterin | 5254 AMTO2 must be numeric.

Data Element

IK403 = 5: "Data Element Too 2320.AMT02 must be <=
2320.AMT02.010 999 - - Long" 99.999.99.

IK403 = 110: "Implementation
2320.AMT03.010 999 N/U - "Not Used" Element Present” Must not be present.
2320.01.010 990 R ) K304 = |6: Implemento'gon . If 2320.SBR is present, 2320.0I

Dependent Segment Missing must be present.

232001020 990 ) ) IK304 = 5:"Segment Exceeds Only one iteration of 2320.0l is

Maximum Use"

allowed.
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Data Element”

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
IK403 = 110: "Implementation
2320.0101.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2320.0102.010 999 N/U - "Not Used" Element Present Must not be present.
2320.0103.010 999 R - IK403 = 1: 'Required Data 2320.0103 must be present.
Element Missing
2320.0103.020 999 - - IK403 = 7:"Invalid Code Value" 2320.0103 must be valid values.
2320.0104.010 999 S - IK403 = 7:"Invalid Code Value" 2320.0104 must be "P".
IK403 = 110: "Implementation
2320.0105.010 999 N/U - "Not Used" Element Present” Must not be present.
2320.0106.010 999 R - IK403 = 1: 'Required Data 2320.0106 must be present.
Element Missing
2320.0106.020 999 - - IK403 = 7:"Invalid Code Value" 2320.0106 must be valid values.
. Only one iteration of 2320.MOA
2320.MOA.020 999 s - K304 = 5: 'Segment Exceeds |5 qiiowed on outpatient
Maximum Use )
claims.
2320 MOAO1.010 999 s . K403 = 6: Invalid Character i1 5356 MoA01T must be numeric.
Data Element
IK403 = 12: "Implementation 2320.MOA01 must be >= 0.0
2520 MOA01.020 299 ) ) Pattern Match Failure” and <= 1.0.
2320 MOA02.010 999 s . K403 = o “Invalid Characterin | 5254 Moa02 must be numeric.
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IK403 = 5: "Data Element Too 2320.MOA02 must be >=0
2520 MOA02.020 999 ) ) Long" and <= 99,999.99.
2320 MOAO8.010 990 S ) IK403 = 6: Invqlld Characterin 2320 .MOAOS must be
Data Element numeric.
IK403 = 5: "Data Element Too 2320.MOA08 must be >=0
2320.MOA08.020 999 - - Long’ and <= 99.999.99.
5320 MOAO9.010 990 S ) IK403 = 6: Invqlid Characterin 2320 .MOAOQ must be
Data Element numeric.
IK403 = 5: "Data Element Too 2320.MOA09 must be >=0
2320.MOA09.020 999 - - Long’ and <= 99.999.99.
IK304 = 16: "Implementation If 2320SBR is present,
2350ANM1.010 299 R ! Dependent Segment Missing" 2330A.NM1 must be present.
IK304 = 4:"Loop Occurs Over Only one iteration of
2330ANM1.020 299 ) ) Maximum Times" 2330A.NM1 is allowed.
2330A.NM101.010 999 R - K304 = 2: “Unexpected segment” | 2550ANM101 must be
present and a valid value.
2330ANM102.020 999 - - IK403 = 7: "Invalid Code Value' 3:;3132’\”\4102 must be valid
2330A. 990 R ) IK4Q3 = 1 Required Data Element [ 2330AN.M103 must be
Missing present.
2330ANM103.020 990 i ) IK403 = 5: "Data Element Too 2330A.NM103 must be 1 - 60

Long"

characters.
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o ) ) 2330A.NM103 must be
2330A.NM103.040 999 - - K403 = 6:"Invalid Character in populated with accepted
Data Element
AN characters.
o . . 2330A.NM103 must contain
2330ANM103.060 999 : . K403 = & Invalid Characterin | o 6qst one non-space
Data Element
character.
IK403 = 113: "Implementation If 2330ANM102 is "2",
2330A.NM104.010 999 ) - Dependent "Not Used" Data 2330A.NM104 must not be
Element Present” present.
i . ) 2330A.NM104 must contain
2330A.NM104.020 999 - - K403 = 6: Inv?l|d Characterin at least one non-space
Data Element
character.
2330ANM104.030 999 . . IK403 = 5:"Data Element Too Long" | 200 0ANMI04 must be 1- 35
characters.
D ) ) 2330A.NM104 must be
2330A.NM104.050 999 - - K403 = 6:"Invalid Character in populated with accepted
Data Element
AN characters.
IK403 = 13 "Implementation If 2330A.NM102 is "2",
2330A.NM105.010 999 ) - Dependent "Not Used" Data 2330A.NM105 must not be
Element Present” present.
_ . . 2330A.NM105 must contain
2330A.NM105.020 999 - - K403 = 6. Invcghd Character in at least one non-space
Data Element
character.
2330ANM105.030 999 . . K403 = 5:"Data Element Too Long” | 200 OANMIOS must be 1-25

characters.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
o ) ) 2330A.NM105 must be
2330A.NM105.050 999 - - K403 = 6:"Invalid Character in populated with accepted
Data Element
AN characters.
2330A.NM106.010 999 NU |- K403 = 10: “Implementation "NOt | ;¢ 1ot be present.
Used" Element Present
IK403 = 13 "Implementation If 2330A.NM102 is "2",
2330A.NM107.010 999 S - Dependent "Not Used" Data 2330A.NM107 must not be
Element Present” present.
_ . . 2330A.NM107 must contain
2330A.NM107.020 999 - - K403 = 6. Invcghd Character in at least one non-space
Data Element
character.
2330ANM107.030 990 ) ) |K403”= 5:"Data Element Too 2330A.NM107 must be 1-10
Long characters.
o ) ) 2330A.NM107 must be
2330A.NM107.050 999 - - K403 = 6. Invcghd Character in populated with accepted
Data Element
AN characters.
2330ANM108.010 990 R ) IK{LO3 = 1 Required Data Element | 2330A.NM108 must be
Missing present.
2330ANM108.020 999 - - IK403 = 7: "Invalid Code Value' 37;318&"\”\“08 must be valid
5330ANM109.010 990 R ) IK{LQB = 1 Required Data Element | 2330A.NM109 must be
Missing present.
o ) ) 2330A.NM109 must contain
2330A.NM109.020 999 - - K403 = 6: "Invalid Character in at least two non-space

Data Element”

characters.
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IK403 = 4: "Data Element Too
Short" 2330A.NM109 must be 2-80
2530A.NM109.030 299 ) ) IK403 = 5: "Data Element Too characters.
Long"
o ) . 2330A.NM109 must be
2330ANM109.050 999 - - K403 = 6: "Invalid Characterin | [0 ted with accepted AN
Data Element
characters.
IK403 = 110: "Implementation
2330A.NM110.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2330A.NM111.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2330A.NM112.010 999 N/U - "Not Used" Element Present” Must not be present.
5330A.N3.020 990 S ) IK304 =5: Segment Exceeds iny one iteration of 2330A.N3
Maximum Use is allowed.
2330AN301.010 999 R . K403 =1: ‘Required Data 2330AN301 must be present.
Element Missing
2330AN301.015 099 ) i IK403 = 6: Invqhd Characterin | 2330A.N301 must contain at
Data Element least one non-space character.
2330AN301.020 099 ) i IK4OZ>“= 5:"Data Element Too 2330A.N301 must be 1-55
Long characters.
2330AN301.040 990 ) ) IK403 = 6:"Invalid Characterin | 2330A.N301 must be populated

Data Element”

with accepted AN characters.
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2330AN302.020 099 S ) IK403 = 6: Inv?lld Character in | 2330A.N302 must contain at

Data Element least one non-space character.
2330AN302.030 990 ) ) |K403“= 5:"Data Element Too | 2330A.N302 must be 1-55

Long characters.

IK403 = 6: "Invalid Character in | 2330A.N302 must be populated
2330AN302.050 299 ) ) Data Element” with accepted AN characters.
X224A1.020 2330 AN4.010 990 S ) IK304 =5: Seg[nent Exceeds Only one iteration of 2330A.N4 is

Maximum Use allowed.
2330AN401.010 999 R . K403 = 1: ‘Required Data 2330AN401 must be present.

Element Missing
2330AN401.020 090 ) ) IK403 = ¢: Inv?lld Character in | 2330A.N401 must contain at

Data Element least two non-space characters.

IK403 = 4: "Data Element Too

Short" 2330A.N401 must be 2-30
2350AN401.050 299 ) ) IK403 = 5:"Data Element Too | characters.

Long"

IK403 = 6:"Invalid Character in | 2330A.N401 must be populated
2530AN401.050 299 ) ) Data Element” with accepted AN characters.

IK403 = 2: "Conditional .

} If 2230A.N404 is not present,
2330A.N402.010 999 S - Re_qL_Jlre"d Data Element 2330A.N402 must be present.

Missing

IK403 = 2: "Conditional .
2330AN403.010 999 s - Required Data Element If 2330A.N404 is not present,

Missing"

2330A.N403 must be present.
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2330AN403.020 999 s - K403 = 6:"Invalid Characterin | ¢ 53364 N403 is not numeric.

Data Element

IK403 = 10: "Implementation
2330A.N405.010 999 N/U - "Not Used" Element Present Must not be present.

IK403 = 10: "Implementation
2330A.N406.010 999 N/U - "Not Used" Element Present Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of
2330A.REF.020 999 S - Maximum Use" 2330A.REF is allowed.
2330AREF01.010 999 R - IK403 = 1: 'Required Data 2330AREFOT must be present.

Element Missing
2330A.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2310A.REFO1 must be "SY".
2330AREF02.010 999 R - IK403 = 1: 'Required Data 2330AREFO2 must be present.

Element Missing

IK403 = 110: "Implementation
2330A.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 110: "Implementation
2330A.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

o . Per Payer, If 2320.SBR is
2330B.NM1.010 999 R 1 K304 = 16: Implementation =1 1ot 92308 NMT must be

Dependent Segment Missing

present.
2330B.NM1.020 990 _ ) IK304 = 4:"Loop Occurs Over Per Payer, Only one iteration

Maximum Times"

of 2330B.NM1 is allowed.
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2330B.NM101.010 099 R ) IK304 = 2 Unexpected 23308.NM‘101 must be present
segment and a valid value.
2330B.NM102.010 999 R - IK403 = 1: "Required Data 2330B.NM102 must be present.
Element Missing
2330B.NM102.020 999 - - IK403 =7:"Invalid Code Value" 2330B.NM102 must be "2".
2330B. 999 R - IK403 = 1: "Required Data 2330B.NM103 must be present.
Element Missing
2330B.NM103.020 990 ) ) IK403 = ¢: Inv?lid Characterin | 2330B.NM103 must contain at
Data Element least one non-space character.
5330B.NM103.030 990 ) ) IK403"= 5:"Data Element Too 2300B.NM103 must be 1- 60
Long characters.
o . . 2330B.NM103 must be
2330B.NM103.050 999 - . IK403 = 6:"Invallid Characterin | ' 0 | ied with accepted AN
Data Element
characters.
IK403 = 10: "Implementation
2330B.NM104.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2330B.NM105.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2330B.NM106.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2330B.NM107.010 999 N/U - "Not Used" Element Present” Must not be present.
2330B.NM108.010 999 R - K403 =1: 'Required Data 2330B.NM108 must be present.

Element Missing"
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2330B.NM108.020 999 - - K403 = 7: "Invalid Code Value® | 2230BNMI08 must be valid
2330B.NM109.010 999 R - IK403 = 1: 'Required Data 2330BNM109 must be present.
Element Missing
IK403 = 112: "Implementation 2330B.NM109 must =
2330BNM109.030 299 ) ) Pattern Match Failure" 2430.5VDO1.
IK403 = 110: "Implementation
2330B.NM110.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2330B.NM111.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2330B.NM112.010 999 N/U - "Not Used" Element Present” Must not be present.
2330B.N3.020 990 S ) |K304 =5 Segyment Exceeds iny one iteration of 2330B.N3
Maximum Use is allowed.
2330B.N301.010 999 R - K403 = 1: 'Required Data 2330B.N301 must be present.
Element Missing
5330B.N301.020 990 ) ) IK403 = 6: Invc:lid Characterin | 2330B.N301 must contain at
Data Element least one non-space character.
2330B.N301.030 990 . ) IK4OZ>“: 5:"Data Element Too 2330B.N301 must be 1-55
Long characters.
IK403 = 6:"Invalid Characterin [ 2330B.N301 must be populated
2550B.N301.050 299 ) ) Data Element” with accepted AN characters.
2330B.N302.020 990 S ) IK403 = 6:"Invalid Character in [ 2330B.N302 must contain at

Data Element”

least one non-space character.

National Government Services, Inc.

Page 107 of 159




837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2330B.N302.030 099 ) ) IK403"= 5:"Data Element Too | 2330B.N302 must be 1-55

Long characters.

IK403 = 6: "Invalid Character in | 2330B.N302 must be populated
2330B.N302.050 299 ) ) Data Element” with accepted AN characters.
X224A1.021.2330B.N4.010 990 S ) |K304 =5 Segment Exceeds Only one iteration of 2330B.N4 is

Maximum Use allowed.
2330B.N401.010 999 R - K403 = 1: "Required Data 2330B.N401 must be present.

Element Missing
2330B.N401.020 990 ) ) IK403 = 6: Invqlld Character in | 2330B.N401 must contain at

Data Element least two non-space characters.

IK403 = 4: "Data Element Too

Short" 2330B.N401 must be 2-30
2330B.N401.030 299 ) ) IK403 = 5:"Data Element Too | characters.

Long"

IK403 = 6: "Invalid Character in [ 2330B.N401 must be populated
2330B.N401.050 299 ) ) Data Element” with accepted AN characters.

IK403 = 2: "Conditional .

} If 2330B.N404 is not present,
2330B.N402.010 999 S - Re.ql.Jlre"ol Data Element 2330B.N402 must be present.

Missing

IK403 = 2: "Conditional .

: If 2330B.N404 is not present,
2330B.N403.010 999 ) - R¢q9|r§§j Data Element 2330B.N403 must be present.

Missing
2330B.N403.020 999 S - K403 = 6:"Invalid Characterin | ¢ 52308 N403 is not numeric.

Data Element”
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K403 =110:
2330B.N405.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
K403 =110:
2330B.N406.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK304 = 5:"Segment Per Payer, Only one iteration of
2330B.DTP.020 299 S ) Exceeds Maximum Use" 2330B.DTP is allowed.
o Per Payer, If 2330B.NM1 is present and
2330B.DTP.030 999 - - 'SKG:SOég nzt Unexpected | 5420 DTP with DTPOT = "573" is not
9 present, 2330B.DTP may be present.
2330B.DTP01.010 999 R - K403 =1: ‘Required DAtd | 53308 pTPOT must be present.
Element Missing
2330B.DTP01.020 999 - - '\/Ksl%i - 7-Invalid Code | 53308 DTPO1 must be "573'.
2330B.DTP02.010 999 R . K403 =1: ‘Required Data | 53308 pTpo2 must be present.
Element Missing
2330B.DTP02.020 999 - . \ka03 =7 Invalid Code | 5508.0TP02 must be 'D8".
o i " 2330B.DTPO3 must a valid date in
2330B.DTP03.010 999 R - IK403 = 8: "Invalid Date CCYYMMDD format.
o Only two iterations of 2330B.REF with
2330B.REF.020 999 S - K304 =5:°Segment | 53308 REFO1 = "2U", "EI", "FY" or "NF” are
Exceeds Maximum Use
allowed.
2330B.REF01.010 999 R . K403 =1: ‘Required DAta | 53308 pEF01 must be present.
Element Missing
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2330B.REF01.020 999 - . ka0 = 7: Invalid Code 2330B.REFO1 must be valid values.
2330B.REF02.010 999 R - K403 = 1: 'Required Data | y3365 peron must be present.

Element Missing

- If 2330B.REFO1 = "2U", "FY" or "NF",
2330B.REF02.030 999 - - K403 = 5: 'Data Element 2330B.REFO2 must be must be 1- 50
Too Long
characters.
L ‘ If 2330B.REFO1 = "2U", "FY" or "NF",
2330B.REF02.040 999 - - K403 = é: “Invalid Character | 55305 pEF0) must be populated
in Data Element .
with accepted AN characters.
o . If 2330B.REFO1 = "2U", "FY" or "NF",
2330B.REF02.050 999 - . IK403 = &: “Invalid Character | 52365 pEE0s must contain at ledst
in Data Element
one non-space character.

K403 = 110:
2330B.REF03.010 999 N/U - "Implementation "Not Used" | Must not be present.

Element Present”

K403 =110:
2330B.REF04.010 999 N/U - "Implementation "Not Used" | Must not be present.

Element Present”

IK304 = 5:"Segment Only one iteration of 2330B.REF
2530BREF.020 299 S ) Exceeds Maximum Use" with REFO1 ="G1"is allowed.
2330B.REF01.010 999 R - K403 = 1: 'Required Data | 53365 peco1 must be present.

Element Missing
2330B.REF01.020 999 - . K403 =7:"Invalid Code 2330BREFO1 must be 'GT".

Value"
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837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2330B.REF02.010 999 R - IK403 = 1: "Required Data 2330B.REFO2 must be present.

Element Missing
2330B.REF02.020 990 ) ) |K40§=5:DOK1HementToo 2330B.REF02 must be 1-50

Long characters.

IK403 = 6:"Invalid Character in | 2330B.REFO2 must be populated
2330BREF02.030 299 ) ) Data Element” with accepted AN characters.
2330B.REF02.050 990 ) ) IK403 = 6: Inv?lid Character in | 2330B.REFO2 must contain at

Data Element least one non-space character.

K403 = 10: "Implementation
2330B.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 110: "Implementation
2330B.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2330B.REF
2330BREF.020 299 S ) Maximum Use" with REFO1 ="9F" is allowed.
2330B.REFO1.010 999 R - IK403 = 1: "Required Data 2330B.REFO1 must be present.

Element Missing
2330B.REF01.020 999 - - IK403 = 7:"Invalid Code Value" | 2330B.REFO1 must be "9F".
2330B.REF02.010 999 R - IK403 = 1: "Required Data 2330B.REFO2 must be present.

Element Missing
2330B.REF02.020 990 ) ) IK403 = 5: "Data Element Too | 2330B.REFO2 must be 1-50

Long"

characters.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
o ) ) 2330B.REF02 must be
2330B.REF02.030 999 - - K403 = 6:"Invalid Character in populated with accepted AN

Data Element

characters.
2330B.REF02.050 990 . ) IK403 = 6: Invcghd Characterin | 2330B.REFO2 must contain at

Data Element least one non-space character.

IK403 = 110: "Implementation
2330B.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 110: "Implementation
2330B.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5: "Segment Exceeds Only one iteration of 2330B.REF
2330BREF.020 299 S ) Maximum Use" with REFO1 ="T4" is allowed.
2330B.REF01.010 999 R - K403 = 1: 'Required Data 2330B.REFO1 must be present.

Element Missing
2330B.REF01.020 999 - - IK403 =7:"Invalid Code Value" 2330B.REFO1 must be "T4".
2330B.REF02.010 999 R - K403 = 1: 'Required Data 2330B.REF02 must be present.

Element Missing
2330B.REF02.020 999 - - IK403 =7:"Invalid Code Value" 2330B.REF02 must be "Y".

IK403 = 110: "Implementation
2330B.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.
2330B.REF04.010 999 NU - K403 = 110: Implementation Must not be present.

"Not Used" Element Present"
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"Not Used" Element Present”

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

IK304 = 5: "Segment Exceeds Only one iteration of 2330B.REF
2330B.REF.020 299 S i Maximum Use" with REFO1 = "F8" is allowed.
2330B.REF01.010 999 R - IK403 = 1: "Required Data 2330B.REFOT must be present.

Element Missing
2330B.REF01.020 999 - - IK403 =7:"Invalid Code Value" [ 2330B.REFO1 must be "F8".
2330B.REF02.010 999 R - IK403 = 1: ‘Required Data 2330B.REFO2 must be present.

Element Missing
2330B.REF02.020 990 ) ) |K403”= 5:"Data Element Too [ 2330B.REFO2 must be 1-50

Long characters.

IK403 = 6: "Invalid Character in [ 2330B.REFO2 must be populated
2530BREF02.050 299 ) ) Data Element" with accepted AN characters.
2330B.REF02.050 990 ) ) IK403 = 6: Invcl?lid Character in | 2330B.REFO2 must contain at

Data Element least one non-space character.

IK403 = 110: "Implementation
2330B.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.
2330B.REF04.010 999 NU |- IK403 = 110: Implementation |\ ot 1ot pe present.
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Disposition / Error

Segment Missing"

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
Service Line B B B B B
g Only fifty iterations
2400.Line Loop.010 999 - 50 IK304 = 4. Loop Occurs | ¢h 05400 loop
Over Maximum Times
are allowed.
2400.LX.010 090 R ) IK304 = 3: R_eq_uir?d 2400.LX must be
Segment Missing present.
IK304 = 5: "Segment Only one iteration
2400.LX.020 999 - - Exceeds Maximum of 2400.LX is
Use" allowed.
2400.LX01.010 090 R ) IK403 = 1: Requiﬁeq . 2400.LX01 must be
Data Element Missing" | present.
IK403 = 6: "Invalid
2400.LX01.020 999 - - Character in Data 2400.LX01 must be
" numeric.
Element
IK403 = 12: 2400.LX01 must be
2400.L.X01.030 999 - - "Implementation must be > 0 and <=
Pattern Match Failure" | 50.
IK403 = 112: )
2400..X01.040 999 - - "Implementation :nhfsi' o %ﬁOO.LXM
Pattern Match Failure" :
Subsequent
1K403 = 112:
2400.LX01.050 999 - - "Implementation f;‘ggﬁggﬁelﬁf;
Pattern Match Failure" ] y
2400.SV3.010 990 R ) IK304 = 3: "Required 2400.SV3 must be

present.
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Disposition / Error

Element"

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
K304 = 5:"Segment Only one iteration of
2400.SV3.020 999 - - Ezz?eds Maximum 5400.5V3 is allowed.
IK403 = 1: "Required
2400.5V301-1.010 999 R . Data Element 2400.5V301-1 must be
o present.
Missing
IK403 =7:"Invalid 2400.5V301-1 must be
2400.5V301-1.020 999 - - Code Value" "AD"
IK403 = 1: "Required
2400.5V301-2.010 999 R - Data Element 2400.5V301-2 must be
N present.
Missing
,'.Ei%i:t%ml If 2400.5V301-4 is
2400.5V301-4.010 999 S - - present, 2400.5V301-3
Required Data
BN must be present.
Element Missing
.'.(K:i%i:t%nol If 2400.5V301-5 is
2400.5V301-5.010 999 S - - present, 2400.S5V301-4
Required Data
T must be present.
Element Missing
s If 2400.5V301-6 is
2400.5V301-6.010 999 S - ] present, 2400.S5V301-5
Required Data
T must be present.
Element Missing
IK403 = 6: "Invalid 2400.SV301-7 must
2400.SV301-7.010 999 S - Character in Data contain at least one
Element" non-space character.
IK403 = 5:"Data 2400.SV301-7 must be
2400.5V301-7.020 299 ) ) Element Too Long" | 1-80 characters.
IK403 = 6:"Invalid | Z409SVSOT Must
2400.5V301-7.030 999 - - Character in Data bop

accepted AN
characters.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
IK403 = 110:
5400.SV301-8.010 990 N/U ) Impl"ementotlon Not | Must not be
Used" Element present.
Present"
2400.SV302.010 990 R ) IK403 =1: Requiﬁeq . 2400.5V302 must
Data Element Missing" | be present.
IK403 = 6: "Invalid
2400.5V302.020 999 - - Character in Data 2400.5V502 must
" be numeric.
Element
IK403 = 5: "Data 2400.5V302 must
2400.5V302.025 299 i ) Element Too Long" be <= 99,999.99.
2400.SV304-1.010 990 S ) IK403 =1: Requmed . 2400.5V304-1 must
Data Element Missing" | be present.
K403 = 6: "Invalid 2400 5V30a1 must
2400.5V304-1.020 999 - - Character in Data
" one non-space
Element
character.
IK403 = 5:"Data 2400.5V304-1 must
2400.5V304-1.030 299 ) ) Element Too Long" be 1-3 characters.
K403 = 6: "Invalid 24005v20a 1 muet
2400.5V304-1.040 999 - - Character in Data Pop
" accepted AN
Element
characters.
K403 = 6: "Invalid 24005V304-2 must
2400.5V304-2.010 999 - - Character in Data
" one non-space
Element
character.
IK403 = 5:"Data 2400.5V304-2 must
2400.5V304-2.020 299 ) ) Element Too Long" be 1-3 characters.
K403 = 6: "Invalid 240052042 must
2400.5V304-2.030 999 - - Character in Data pop

Element"

accepted AN
characters.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
IK403 = 6:"Invalid | 2400.5V304-3 must
2400.5V304-3.010 999 - - Character in Data | contain at least one
Element” non-space character.
2400.SV304-3.020 999 i i K403 = 5:"Data | 2400.5V304-3 must be 1
Element Too Long" | - 3 characters.
K403 = 6: "Invalid 2400.5V304-3 must be
2400.5V304-3.030 999 - - Character in Data | POPUIAted with
Element” accepted AN
characters.
IK403 = 6:"Invalid | 2400.5V304-4 must
2400.5V304-4.010 999 - - Character in Data | contain at least one
Element” non-space character.
2400.5V304-4.020 990 i i K403 = 5:"Data | 2400.5V304-4 must be 1
Element Too Long" | - 3 characters.
K403 = 6: "Invalid | 2400-SV304-4 must be
2400.5V304-4.030 999 - - Character in Data | POPUlAted With
Element” accepted AN
characters.
IK403 = 6:"Invalid [ 2400.5V304-5 must
2400.5V304-5.010 999 - - Character in Data | contain at least one
Element” non-space character.
2400.SV304-5.020 999 ) ) IK403 = 5: "Data ) 2400.5V304-5 must be 1
Element Too Long" | - 3 characters.
K403 = 6: "Invalid | 2400-SV304-5 must be
2400.5V304-5.030 999 - - Character in Data | POPUlAted With
Element” accepted AN
characters.
IK403 = 6:"Invalid [ 2400.5V305 must
2400.5V305.010 999 - - Character in Data | contain at least one
Element” non-space character.
2400.SV305.020 099 ) ) IK403 = 5: "Data 2400.SV305 must be 1 -

Element Too Long"

1 characters.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
K403 = 6: "Invalid 2400513505 mmust be
2400.5V305.030 999 - - Character in Data pop
" accepted AN
Element
characters.
K403 = 6: "Invalid
2400.5V306.010 999 - - Character in Datg | 2400:SV306 must be
" numeric.
Element
maximum of 4
o whole numbers and
2400.5V306.020 999 - - K403 = 5:"Data = 14 qecimal position
Element Too Long
(cannot exceed
9999.9).
1K403 = 110:
2400.5V307.010 999 NU |- Implementation "NOt | ¢ not be present.
Used" Element
Present"
1K403 = 110:
2400.5V308.010 999 NU |- mplementation "NOt |yt not pe present.
Used" Element
Present"
1K403 = 110:
2400.5V309.010 999 N/U |- mplementation "NOt |yt not pe present.
Used" Element
Present"
1K403 = 110:
2400.5V3010.010 999 N/U - Impl?mentotlon Not Must not be present.
Used" Element
Present"
IK403 = 1: "Required
2400.5V3011-1.010 999 R - Data Element 2400.5V30M-1 must
S be present.
Missing
1K403 = 2:"Conditional | Y0113 <dn only
2400.S5V3011-3.010 999 S - Required Data P

Element Missing"

2400.SV3011-2 is
present.
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Disposition / Error

Loop/Segment/Element Response [ Usage | Repeat Code Dental edits
J.Eé%z;%ml SV3011-4 can only be
2400.5V3011-4.010 999 S - Required Data present if 2400.5V3011-
Element Missing" 3is present,
IK304 = 5: Only thirty two
2400.TO0.010 999 S - "Segment Exceeds | iterations of 2400.TOO
Maximum Use" are allowed.
Only one iterations of
IK304 = 5:
" 2400.TOO are allowed
2400.TOC.010 999 S ; l\izgﬂiﬁ EU’;Ce?edS when 2400.5V306 does
not equal 1.
K403 =1:
2400.T0001.010 999 R - "Required Data | 2400.TO00T must be
Element Missing" P ’
2400 TO001.020 990 R ) K403 =7: In"vohd ?4(30.TOOO1 must be
Code Value JP".
K403 =1:
2400.T0002.010 999 R . ‘Required Data | 240070002 must be
Element Missing" P ’
—s e If 2400.TO001 is
2400.TO0O02.020 999 R - Required Data present, 2400.TOO02
Element Missing” must be present.
K403 = 6: "Invalid | 2400-TOO02 must be
2400T0002.030 999 R ; Character in Data p°pUlOt§d with
Element" accepted AN
characters.
IK403 = 6: "Invalid 2400.TOO02 must
2400.TO0O02.040 999 R - Character in Data | contain at least one
Element" non-space character.
2400 T0002.050 990 R ) IK403 = 5:"Data . 2400.TOO02 must be 1 -
Element Too Long" | 30 characters.
2400 T0003-01.020 999 R ) IK403 = 7:"Invalid 2400.TOO03-1 must be

Code Value"

valid values.
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837D Disposition / q
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2400 TO003-02.010 900 S ) IK403 =7: In"volid 24QO.TOOO3—2 must be
Code Value valid values.
2400 TO003-03.010 990 S ) IK403 =7: In”volid 24QO.TOOOB-3 must be
Code Value valid values.
2400 TO003-04.010 990 S ) IK403 =7: In”volid 24QO.TOOOB-4 must be
Code Value valid values.
2400 TO003-05.010 990 S ) IK403 =7: In"volid 24QO.TOOOS—5 must be
Code Value valid values.
IK304 = 3:
"Required 2400.DTP with DTPO1 =
2400.DTP.010 299 R ) Segment "472" must be present.
Missing"
I|'§204r1n;2:t Only one iteration of
2400.DTP.020 999 - - 9 2400.DTP with DTPO1 =
Exceeds i,
A " 472" is allowed.
Maximum Use
IK403 =1:
2400.DTP01.010 999 R - 'Required Data | 2400-DTPOT must be
- . .| present.
Element Missing
IK403 =7:"Invalid | 2400.DTPO1 must be
2400.DTP01.020 999 - - Code Value” "7
IK403 = 1:
2400.DTP02.010 999 R - "Required Data | 2*00-DTPO2 must be
~ .~ . | present.
Element Missing
2400.DTP02.020 990 ) ) IK403 =7: In"volid 24QO.DTP02 must be
Code Value valid values.
IK403 = 1:
2400.DTP03.010 999 R - "Required Data | 2*00-DTPO3 must be

Element Missing"

present.
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If 2400.DTP02 is D8, then
IK403 = 8: 2400.DTP0O3 must be a
2400.DTP03.020 299 ) ) "Invalid Date" valid date in the format of
CCYYMMDD.
If 2400.DTPO02 is RDS§, then
K403 = 8: 2400.DTP0O3 must be a
2400.DTP03.030 299 ) ) "Invalid Date" valid date in the format of
CCYYMMDD-CCYYMMDD.
'l‘ézoﬁr:ei:t Only one iteration of
2400.DTP.010 999 S - g 2400.DTP with DTPO1 =
Exceeds " "
: " 139 or 441" is allowed.
Maximum Use
IK403 = 1:
2400.DTPO1.010 099 R ) Required Data | 2400.DTPO1 must be
Element present.
Missing"
K403 =7: "
2400.DTP01.020 999 ; - "Invalid Code | 2400.DTPOT must be "139
" or 441",
Value
K403 = 1:
5400.DTP02.010 099 R ) Required Data |[2400.DTP02 must be
Element present.
Missing"
K403 =7:
2400.DTP02.020 999 - - "Invalid Code 2400.DTP02 must be "D8".
Value"
K403 = 8- 2400.DTP0O3 must be a
2400.DTP03.010 999 R - " o valid date in the format of
Invalid Date

CCYYMMDD.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK304 = 5: Only one iteration of
2400.DTP.010 999 S - "Segment Exceeds | 2400.DTP with DTPO1 =
Maximum Use" "452" is allowed.
K403 =1:
2400.DTP01.010 999 R - "Required Data | 2400 DTFOT must be
Element Missing" P ‘
K403 =7:"Invalid | 2400.DTPO1 must be
2400.DTP01.020 999 - - Code Value" 450"
K403 =1:
2400.DTP02.010 999 R - "Required Data 24:2&??02 must be
Element Missing" P ‘
K403 =7:"Invalid [ 2400.DTPO2 must be
2400.DTP02.020 999 - - Code Value" "DE"
_qun . 2400.DTPO3 must be a
2400.DTP03.010 999 R - 'gsfe‘??. =8nvalid | qlid date in the
format of CCYYMMDD.
IK304 = 5: Only one iteration of
2400.DTP.0O10 999 S - "Segment Exceeds | 2400.DTP with DTPO1 =
Maximum Use" "446" is allowed.
K403 =1:
2400.DTP01.010 999 R - "Required Data | 2490 DTPOT must be
Element Missing" P :
IK403 =7:"Invalid | 2400.DTPO1 must be
2400.DTP01.020 999 - - Code Value" 450"
K403 =1:
2400.DTP02.010 999 R - "Required Data | 2490 DTFOZ must be
Element Missing" P ‘
IK403 =7:"Invalid [ 2400.DTP0O2 must be
2400.DTP02.020 999 - - Code Value" D"
_aun . 2400.DTP0O3 must be a
2400.DTP03.010 999 R . K403 =8:"Invalid || 4 date in the

Date"

format of CCYYMMDD.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK304 = 5: Only one iteration of
2400.DTP.010 999 S - "Segment Exceeds | 2400.DTP with DTPO1 =
Maximum Use" "196" is allowed.
K403 =1:
2400.DTP01.010 999 R - "Required Data | 2400 DTFOT must be
Element Missing" P ‘
K403 =7:"Invalid | 2400.DTPO1 must be
2400.DTP01.020 999 - - Code Value" 106"
K403 =1:
2400.DTP02.010 999 R - "Required Data 24:2&??02 must be
Element Missing" P ‘
K403 =7:"Invalid [ 2400.DTPO2 must be
2400.DTP02.020 999 - - Code Value" "DE"
_a.n . 2400.DTP0O3 must be a
2400.DTP03.010 999 R - 'gsfe‘??. =8nvalid | qlid date in the
format of CCYYMMDD.
IK304 = 5: Only one iteration of
2400.DTP.0O10 999 S - "Segment Exceeds | 2400.DTP with DTPO1 =
Maximum Use" "198" is allowed.
K403 =1:
2400.DTP01.010 999 R - "Required Data | 2490 DTPOT must be
Element Missing" P :
IK403 =7:"Invalid | 2400.DTPO1 must be
2400.DTP01.020 999 - - Code Value" "og".
K403 =1:
2400.DTP02.010 999 R - "Required Data | 2490 DTFOZ must be
Element Missing" P ‘
2400.DTP02.020 990 ) ) IK403 =7:"Invalid [ 2400.DTP0O2 must be

Code Value"

D"
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
2400.DTP0O3 must be
5400 DTPO3.010 990 R ) IK4OZ3I = 8:"Invalid a valid date in the
Date format of
CCYYMMDD.
IK304 = 19:
"Implementation
2400.CN1.010 999 S - Dependent "Not Must not be present.
Used" Segment
Present”
IK304 = 5:"Segment Only 5 iterations of
2400.REF.010 999 S - Exceeds Maximum 2400.REF with REFO1
Use" ="G3"is allowed.
IK403 = 1: "Required
2400.REF01.010 999 R - Data Element 2400.REFOT must be
e present.
Missing
IK403 =7:"Invalid 2400.REFO1 must be
2400.REF01.020 999 - - Code Value" "G3"
IK403 = 1: "Required
2400.REF02.010 999 R - Data Element 2400.REFO2 must be
o present.
Missing
IK403 = 6: "Invalid 2400.REFO2 must
2400.REF02.020 999 - - Character in Data contain at least one
Element” non-space character.
IK403 = 5: "Data 2400.REF02 must be
2400 REF02.030 299 ) i Element Too Long" 1-50 characters.
K403 = 6: "Invalid 2400REFO2 must be
2400.REF02.050 999 - - Character in Data Pop
Element” accepted
AN characters.
IK403 =110:
2400.REF03.010 999 NU |- Implementation Must not be present.

"Not Used" Element
Present”
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Disposition / Error

Value"

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
2400.REFO4-1.010 990 R ) K403 = 7:"Invalid Code 240"0.R"EFO4—1 must
Value be "2U".
K403 = 2: "Conditional | T 2400-REFO4-1is
2400.REF04-2.010 999 R - Required Data present,
: : S 2400.REF04-2 must
Element Missing b
e present.
IK403 = 112:
2400.REF04-2.020 999 - - "Implementation f‘;%gggmj%gw“
Pattern Match Failure” '
1K403 = 110:
2400 REF04-3.010 990 N/U ) Impl"ementotlon Not | Must not be
Used" Element present.
Present"
IK403 = 110:
2400.REFO4-4.010 990 N/U ) Impl"ementoUon Not | Must not be
Used" Element present.
Present"
K403 = 110:
2400.REFO4-5.010 990 N/U ) Impl"ementotlon Not | Must not be
Used" Element present.
Present"
1K403 = 110:
2400 REFO4-6 010 990 N/U ) Impl"ementonon Not | Must not be
Used" Element present.
Present”
K504 = 5:"Segment | O One Iteration
2400.REF.010 999 S - Exceeds Maximum TP
" REFO1="G1"is
Use
allowed.
2400.REFO1.010 990 R ) IK403 = 1: Requmeo[ ) 2400.REFO1 must be
Data Element Missing" | present.
2400 REF01.020 990 ) ) IK403 = 7:"Invalid Code | 2400.REFO1 must be

"Gl
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK403 = 1: "Required
2400 REF02.010 999 R . Data Element 2400.REFO2 must be
S present.
Missing
IK403 = 6: "Invalid 2400.REF02 must
2400.REF02.020 999 - - Character in Data contain at least one
Element" non-space character.
IK403 = 5: "Data 2400.REF02 must be 1-
2400 REF02.030 099 ) ) Element Too Long" | 50 characters.
K403 = 6:"Invalid | 2400REFO2 must be
2400.REF02.050 999 - - Characterin Data | PP~ ©°¢
Element” accepte
AN characters.
K403 =110:
"Implementation
2400.REF03.010 999 N/U - "Not Used" Element Must not be present.
Present"
2400.REFO4-1.010 990 R ) K403 =7: In"vohd %40"O.REFO4—1 must be
Code Value 2U"
,'.E‘C‘)%i:t%ml If 2400.REFO4-1 is
2400.REF04-2.010 999 R - : present, 2400.REF04-2
Required Data
. must be present.
Element Missing
K403 = 112:
"Implementation 2400.REF04-2 must =
2400.REF04-2.020 9799 i i Pattern Match 2330B.NM109
Failure"
K403 =110:
"Implementation
2400.REF04-3.010 999 N/U - "Not Used" Element Must not be present.
Present"
K403 =110:
2400 REF04-4.010 999 NU - Implementation o ot pe present.

"Not Used" Element
Present”
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Disposition / Error

Loop/Segment/Element Response [ Usage | Repeat Code Dental Edits
K403 =110:
"Implementation
2400.REF04-5.010 999 N/U - "Not Used" Element Must not be present.
Present"
IK403 = 10:
"Implementation
2400.REF04-6.010 999 N/U - "Not Used" Element Must not be present.
Present"
IK304 = 5:"Segment | Only 5 iterations of
2400.REF.010 999 S - Exceeds Maximum 2400.REF with REFO1 =
Use" "6R" are allowed.
IK403 = 1: "Required
2400 REF01.010 999 R . Data Element 2400.REFOT must be
S present.
Missing
K403 =7:"Invalid 2400.REFO1 must be
2400.REF01.020 999 - - Code Value" "G1"
IK403 = 1: "Required
2400.REF02.010 999 R . Data Element 2400.REFO2 must be
S present.
Missing
IK403 = 6: "Invalid 2400.REF02 must
2400.REF02.020 999 - - Character in Data contain at least one
Element" non-space character.
IK403 = 5: "Data 2400.REF02 must be 1-
2400.REF02.030 299 ) ) Element Too Long" | 50 characters.
K403 = 6:Invalid | 2400REFO2 must be
2400.REF02.050 999 - - Character in Data | PP~ S8
Element” accepte
AN characters.
K403 =110:
2400.REF03.010 999 N/U - Implementation Must not be present.

"Not Used" Element
Present”
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Disposition / Error

Loop/Segment/Element Response [ Usage | Repeat Code Dental Edits
1K403 =110:
"Implementation
2400.REF04.010 999 N/U - "Not Used" Element Must not be present.
Present”
IK304 = 5:"Segment | Only one iteration of
2400.REF.010 999 S - Exceeds Maximum 2400.REF with REFO1 =
Use" "9A" is allowed.
IK403 = 1: "Required
2400 REF01.010 999 R - Data Element 2400.REFO1 must be
o present.
Missing
K403 = 7:"Invalid 2400.REFO1 must be
2400.REF01.020 999 - - Code Value" "OA"
IK403 = 1: "Required
2400REF02.010 999 R - Data Element 2400.REFO2 must be
o present.
Missing
K403 = 6: "Invalid 2400.REF02 must
2400.REF02.020 999 - - Character in Data contain at least one
Element” non-space character.
IK403 = 5:"Data 2400.REF02 must be 1-
2400 REF02.030 099 ) ) Element Too Long" | 50 characters.
K403 = 6:Invalid [ 2400REFO2 mustbe
2400.REF02.050 999 - - Character in Data | P9P o
Element” accepte
AN characters.
K403 = 110:
"Implementation
2400.REF03.010 999 N/U - "Not Used" Element Must not be present.
Present"
1K403 =110:
2400.REF04.010 999 N/U - Implementation Must not be present.

"Not Used" Element
Present”
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Disposition / Error

Loop/Segment/Element Response [ Usage | Repeat Code Dental Edits
IK304 = 5:"Segment | Only one iteration of
2400.REF.010 999 S - Exceeds Maximum 2400.REF with REFO1 =
Use" "9C" is allowed.
IK403 = 1: "Required
2400 REF01.010 999 R . Data Element 2400.REFO1 must be
N present.
Missing
IK403 =7:"Invalid 2400.REFO1 must be
2400.REF01.020 999 - - Code Value" el
IK403 = 1: "Required
2400.REF02.010 999 R - Data Element 2400REFO2 must be
S present.
Missing
IK403 = 6: "Invalid 2400.REFO2 must
2400.REF02.020 999 - - Character in Data contain at least one
Element” non-space character.
IK403 = 5:"Data 2400.REF02 must be 1-
2400 REF02.030 299 ) ) Element Too Long" | 50 characters.
K403 = 6:"Invalid | 2400REFO2 mustbe
2400.REF02.050 999 - - Character in Data | POP
Element” accepted
AN characters.
K403 =110:
"Implementation
2400.REF03.010 999 N/U - "Not Used" Element Must not be present.
Present"
K403 =110:
"Implementation
2400.REF04.010 999 N/U - "Not Used" Element Must not be present.
Present"
IK304 = 5:"Segment | Only 5 iterations of
2400.REF.010 999 S - Exceeds Maximum 2400.REF with REFO1 =
Use" "9F" is allowed.
IK403 = 1: "Required
2400.REF01.010 999 R - Data Element 2400 REFO1 must be

Missing"

present.
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Disposition / Error

Loop/Segment/Element Response [ Usage | Repeat Code Dental Edits

IK403 = 7:"Invalid 2400.REFO1 must be
2400.REF01.020 999 - - Code Value" "G3"

IK403 =1: "Required
2400.REF02.010 999 R - Data Element 2400.REFO2 must be

o present.

Missing

IK403 = 6: "Invalid 2400.REF02 must
2400.REF02.020 999 - - Character in Data contain at least one

Element” non-space character.

IK403 = 5:"Data 2400.REF02 must be 1-
2400.REF02.030 299 ) ) Element Too Long" | 50 characters.

K403 = 6:"Invalid | 220OREFOZ must be
2400.REF02.050 999 - - Character in Data | POP

Element” accepted

AN characters.

K403 =110:

"Implementation
2400.REF03.010 999 N/U - "Not Used" Element Must not be present.

Present"
2400 REF04-1.010 900 R ) K403 =7: In“vqhd ”240”0.REFO4-1 must be

Code Value 2U"

,'.g?fji:t%ml If 2400.REF04-1is
2400.REF04-2.010 999 R - : present, 2400.REF04-2

Required Data

SN must be present.

Element Missing

K403 = 112:

"Implementation 2400.REF04-2 must =
2400.REF04-2.020 9799 i i Pattern Match 2330B.NM109

Failure"

K403 =110:
2400 REF04-3.010 999 NU - Implementation o ot pe present.

"Not Used" Element
Present”
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Disposition / Error

Loop/Segment/Element Response [ Usage | Repeat Code Dental Edits
K403 = 10: Must not be
2400.REF04-4.010 999 N/U - "Implementation "Not resent
Used" Element Present” | P :
K403 = 110: Must not be
2400.REF04-5.010 999 N/U - "Implementation "Not resent
Used" Element Present” | P ’
K403 = 10: Must not be
2400.REF04-6.010 999 N/U - "Implementation "Not resent
Used" Element Present” | P '
e Only one iteration
K304 = 5:°Segment | ¢ 5400.AMT with
2400.AMT.010 999 S - Exceeds Maximum s
Use" AMTO1= "T"is
allowed.
2400 AMTO1.010 990 R ) K403 =1: Requmeo[ . 2400.AMTO1 must
Data Element Missing" | be present.
2400 AMTO1.020 990 ) ) K403 = 7:"Invalid Code 240,.0;,AMTO1 must
Value be "T".
2400.AMT02.010 990 R ) K403 =1: Requweo[ . 2400.AMTO2 must
Data Element Missing” | be present.
IK403 = 6: "Invalid
2400.AMT02.020 999 - . Character in Data 2400 AMTOZ must
Element’ e numeric.
IK403 = 5:"Data 2400.AMTO02 Must
2400AMT02.030 299 ) ) Element Too Long" be <= 99,999.99.
K403 = 110: Must not be
2400.AMT03.010 999 N/U - "Implementation "Not
present.

Used" Element Present”
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
K504 - 5Seqment | ST C0e Heraton
2400.AMT.010 999 S - Exceeds Maximum T
" AMTO1 = "F4" is
Use
allowed.
2400 AMTO1.010 999 R ) IK403 =1: Requmeo[ . 2400.AMTO1 must
Data Element Missing" | be present.
2400 AMTO1.020 990 ) ) K403 N 7:"Invalid Code 240"O.A;MTO1 must
Value be "F4".
2400 AMT02.010 990 R ) K403 =1: Reqwr'eol' . 2400.AMTO02 must
Data Element Missing” | be present.
IK403 = 6: "Invalid
2400.AMT02.020 999 - . Character in Data 2AD0AMTOZ must
" e numeric.
Element
IK403 = 5:"Data 2400.AMTO2 Must
2400AMT02.025 299 ) i Element Too Long" be <= 99,999.99.
K403 =110:
2400 AMT03.010 990 N/U ) Impl”ementotlon Not [ Must not be
Used" Element present.
Present"
IK304 = 5: "Segment Only ten iterations
2400.K3.010 999 S - Exceeds Maximum of 2400.K3 are
Use" allowed.
2400 K301.010 990 R ) K403 =1: Reqwr'eol' . 2400.K301 must be
Data Element Missing" | present.
IK403 = 5:"Data 2400.K301 must be
2400.K301.020 799 ) ) Element Too Long" 1-80 characters
K403 = 6: "Invalid 240046301 must be
2400.K301.040 999 - - Character in Data Pop

Element"

accepted AN
characters.
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Disposition / Error

Element Too Long"

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
Ie03 = 6itinvali | 20T T one
2400.K301.060 999 - - Character in Data
" non-space
Element
character.
IK403 = 110:
2400.K302.010 990 N/U ) Impl“ementotlon Not | Must not be
Used" Element present.
Present"
IK403 = 110:
2400.K303.010 990 N/U ) Impl“ementotlon Not | Must not be
Used" Element present.
Present"
IK304 = 4: "Loop Only one iteration
2420A.NM1.010 999 S 1 Occurs Over of 2420A.NM1 is
Maximum Times" allowed.
Coa 2420ANM101 must
2420ANM101.010 999 R - K304 = 2: "Unexpected | |0 resent and a
segment !
valid value.
2420ANM102.010 999 R ) K403 = 1: Requmed . 2420A.NM102 must
Data Element Missing" | be present.
2420ANM102.020 990 ) ) IK403 =7: |I’1"\/C|lld 242OAiNM102 must
Code Value be valid values.
IK403 =1: "Required 2420A.NM103 must
2420A. 299 R ) Data Element Missing" | be present.
o3 -6t | 22N TS
2420A.NM103.020 999 - - Character in Data
" non-space
Element
character.
2420ANM103.030 999 ) ) IK403 = 5: "Data 2420A.NM103 must

be 1- 60 characters.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
K403 = 6:"Invalid 2AZOANMIOS must
2420ANM103.050 999 - - Character in Data Pop
" accepted AN
Element
characters.
IK403 = 13: If 2420A.NM102 is
"Implementation "2" 2420A.NM104
2420A.NM104.010 299 S ) Dependent "Not Used" | must not be
Data Element Present" | present.
K403 = 6: "Invalid 2420A NMITDA must
2420A.NM104.020 999 - - Character in Data
. one non-space
Element
character.
o 2420ANM104 must
2420A.NM104.030 999 - - K403 = 5. 'Data be1-35
Element Too Long
characters.
K403 = 6: "Invalid 2A20ANMIO8 must
2420ANM104.050 999 - - Character in Data Pop
" accepted AN
Element
characters.
IK403 = 13: If 2420A.NM102 is
"Implementation "2" 2420A.NM105
2420A.NM105.010 299 S ) Dependent "Not Used" | must not be
Data Element Present” | present.
K403 = 6:"Invalid 2420A NMIDS must
2420A.NM105.020 999 - - Character in Data
" one non-space
Element
character.
L 2420ANM105 must
2420ANM105.030 999 . - K403 =5 'Data be1-25
Element Too Long
characters.
K403 = 6: "Invalid 2AZOANIMIOS Must
2420ANM105.050 999 - - Character in Data Pop

Element"

accepted AN
characters.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
K403 = 110: Must not be
2420A.NM106.010 999 N/U - "Implementation "Not resent
Used" Element Present” | ;
K403 = 113: If 2420A.NM102 is
"Implementation 2", 2420ANM107
2420ANM107.010 299 S ) Dependent "Not Used" | must not be
Data Element Present” | present.
e 2420ANM107 must
2420ANM107.020 999 - - k403 = 5: 'Data | be 1-10
Element Too Long
characters.
K403 = 6: "Invalid 2AZOANIMIOT must
2420ANM107.040 999 - - Character in Data pop q
Element" accepted AN
characters.
2420ANM108.030 990 ) ) IK403 = 7:"Invalid Code 242|QA.|!\JM108 must
Value be "XX".
K403 = 2: "Conditional gfeﬁ%'\”\’”% 's
2420A.NM109.010 999 S - E/ﬁ;q;*red Data Element 5420ANMI09 must
9 be present.
K403 = 110: Must not be
2420A.NM110.010 999 N/U - "Implementation "Not resent
Used" Element Present” | ’
K403 = 110: Must not be
2420A.NM111.010 999 N/U - "Implementation "Not resent
Used" Element Present” | ;
K403 = 110: Must not be
2420A.NM112.010 999 N/U - "Implementation "Not
present.

Used" Element Present”
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Disposition / Error

Used" Segment
Present”

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
K304 = 5 "Segment Only one iteration of
2420A.PRV.020 999 S - Ezz?eds Maximum 5420A PRV is allowed.
IK403 = 1: "Required
2420A PRV01.010 999 R . Data Element 2420A.PRVO1 must be
S present
Missing
2420A.PRVO1.020 990 ) ) K403 =7: In”volid ?42"0A.PRVO1 must be
Code Value PE".
IK403 = 1: "Required
2420A.PRV02.010 999 R - Data Element 2420APRVO2 must be
S present.
Missing
IK403 = 7:"Invalid 2420A.PRV02 must be
2420A.PRV02.020 999 - - Code Value" "PXC"
IK403 = 1: "Required
2420A PRV03.010 999 R - Data Element 2420APRVO3 must be
S present.
Missing
IK403 = 110:
"Implementation
2420A.PRV04.010 999 N/U - "Not Used" Element Must not be present.
Present"
K403 = 110:
"Implementation
2420A.PRV05.010 999 N/U - "Not Used" Element Must not be present.
Present"
K403 = 110:
"Implementation
2420A.PRV06.010 999 N/U - "Not Used" Element Must not be present.
Present"
If 2420A.NM1 is
IK304 =19: present and
"Implementation 2420A.NM109 is not
2420A.REF.010 999 S - Dependent "Not present, 2420A.REF

with REFO1="0B", "1G",
"G2" or "LU" may be
present.
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Disposition / Error

Loop/Segment/Element Response [ Usage | Repeat Code Dental Edits
IK304 =19:
"Implementation
2420AREF.030 999 - ; Dependent "Not i‘gofésgtm““ not
Used" Segment P '
Present"
IK403 = 1: "Required
2420AREF01.010 999 R - Data Element 2420AREFO1 must be
Missing" present.
2420AREFO1.020 990 ) ) K403 =7: In“vqhd 242AOA.REFO1 must be
Code Value valid values.
IK403 = 1: "Required
2420A.REF02.010 999 R - Data Element 2420AREFO2 must be
Missing" present.
When 2420A.REFO1 =
IK403 = 5:"Data "0OB","G2" or "LU",
2420AREF02.030 799 ) ) Element Too Long" 2420A.REF02 must be
1-50 characters.
When 2420A.REF0O1 =
‘ "0B" "G2" or "LU"
K403 = 6: "Invalid ! !
2420AREF02.040 999 - ; Character in Data | 2420AREFO2 thSt be
Element” populated wit
accepted AN
characters.
When 2420A.REF01 =
K403 = 6: "Invalid "0B", "G2" or "LU",
2420A.REF02.050 999 - - Character in Data 2420A.REF02 must
Element” contain at least one
non-space character.
1K403 = 110:
2420AREF03.010 999 NU |- L'J?e%?gj;tecﬂor‘ NOt | Must not be present.
Present"
2420A REF04-1010 999 R _ K403 =7:"Invalid 2420A.REF04-1 must

Code Value"

be "2U".
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
K403 = 2: "Conditional gfe“si?jﬁ'REFO4'1 s
2420A.REF04-2.010 999 R - Required Dgtg . 5420AREFO4-2 must
Element Missing b
e present.
IK403 = 12: 2420A,REF04-2
2420A.REF04-2.020 999 - - "Implementation must =
Pattern Match Failure" | 2330B.NM109.
K403 =110:
2420A REF04-3.010 990 N/U ) Impl”ementotlon Not | Must not be
Used" Element present.
Present"
K403 =110:
2420A REFO4-4.010 990 N/U ) Impl”ementoUon Not | Must not be
Used" Element present.
Present"
IK403 = 10:
2420A REF04-5.010 990 N/U ) Impl“ementotlon Not | Must not be
Used" Element present.
Present"
IK403 =110:
2420A REF04-6.010 099 N/U i Impl:ementotlon Not [ Must not be
Used" Element present.
Present"
IK304 = 4:"Loop Only one iteration
2420B.NM1.020 999 - - Occurs Over of 2420B.NM1 is
Maximum Times" allowed.
A 2420B.NM101 must
2420BNM101.010 999 R - K304 = 2: "Unexpected | o o esent and a
segment !
valid value.
2420B.NM102.010 999 R ) K403 = 1: Requmed . 2420B.NM102 must
Data Element Missing" | be present.
2420B.NM102.020 990 ) ) IK403 =7:"Invalid 2310D.NM102 must

Code Value"

be "1".
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK403 = 1: "Required 2310D.NM103 must
24208. 299 R ) Data Element Missing" | be present.
K403 = 6: "Invalid 231ODNMIDS must
2420B.NM103.020 999 - - Character in Data
. one non-space
Element
character.
L 2310D.NM103 must
2420B.NM103.030 999 - - K403 =5 'Data | be 1-60
Element Too Long
characters.
K403 = 6:"Invalid 2STODNMIDS must
2420B.NM103.050 999 - - Character in Data Pop
El " accepted AN
ement
characters.
K403 = 6: "Invalid 2310DNMIDA must
2420B.NM104.010 999 S - Character in Data
. one non-space
Element
character.
o 2420B.NM104 must
2420B.NM104.020 999 - - K403 = 5. 'Data | be1-35
Element Too Long
characters.
K403 = 6: "Invalid 2420BNIMIOE must
2420B.NM104.050 999 - - Character in Data pop
" accepted AN
Element
characters.
K403 = 13: If 2420B.NM102 is
"Implementation "2",2420B.NM105
2420B.NM105.010 299 S ) Dependent "Not Used" | must not be
Data Element Present" | present.
K403 = 6: "Invalid 2A20BNMIOS must
2420B.NM105.020 999 - - Character in Data
" one non-space
Element
character.
- 2420B.NM105 must
2420B.NM105.030 999 - - k403 = 5: 'Data | be 1-25
Element Too Long
characters.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits

K403 = 6:"Invalid 24208105 must
2420B.NM105.050 999 - - Character in Data Pop

" accepted AN
Element
characters.

IK403 = 110:
2420B.NM106.010 990 N/U ) Impl"ernentonon Not | Must not be

Used" Element present.

Present"

IK403 = 110:
2420B.NM107.010 990 S ) Impl"ernentonon Not | Must not be

Used" Element present.

Present"

IK403 =7: "Invalid 2420B.NM108 must
2420B.NM108.030 999 - - Code Value" be "XX".

IK403 = 2: "Conditional grzeztsze%E.Nwos 'S
2420B.NM109.010 999 S - Required Dgtg . 5420B.NM109 must

Element Missing

be present.

IK403 = 110:
2420B.NM110.010 990 N/U ) Impl"ementotlon Not | Must not be

Used" Element present.

Present"

IK403 = 110:
2420B.NM111.010 990 N/U ) Impl"ernentonon Not | Must not be

Used" Element present.

Present"

IK403 =110:
2420B.NM112.010 099 N/U ) Impl"ementatlon Not | Must not be

Used" Element present.

Present"

IK304 = 5: "Segment Only one iteration
2420B.PRV.020 999 S - Exceeds Maximum of 2420B.PRV is

Use" allowed.

IK403 = 1: "Required
2420B.PRV01.010 999 R - Data Element 2420B.PRVOT must

Missing"

be present
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK403 =7:"Invalid 2420B.PRVO1 must be
2420B.PRV01.020 999 - - Code Value" " AS
IK403 = 1: "Required
2420B.PRV02.010 999 R - Data Element 2420B.PRVO2 must
. be present.
Missing
IK403 =7:"Invalid 2420B.PRV02 must
2420B.PRV02.020 999 - - Code Value" be "PXC".
IK403 = 1: "Required
2420B.PRV03.010 999 R . Data Element 24208 PRVOS must
S e present.
Missing
K403 =110:
2420B.PRV04.010 999 NU |- L'J;“e%f?g?;?f:rﬂo” NOt | Must not be present.
Present”
K403 =110:
2420B.PRV05.010 999 NU |- L'J?e%,.egfee;t;ﬂo” NOt| Must not be present.
Present”
IK403 =110:
2420B.PRV06.010 999 NU - L'Jr:e%?g;':g;{o” NOt| Must not be present.
Present"
K304 = 19: If 2420B.NM1 is
Implementation | PSS SN0 o
2420B.REF.010 999 S - Dependent "Not )
Used” Segment present, 2420B.REF
Present” with REFO1 ="1G"
may be present.
K304 =19:
"Implementation
24208 REF.030 999 - - Dependent "Not 2420BREF mustnot
" e present.
Used" Segment
Present”
IK403 =1: "Required
2420B.REF01.010 999 R - Data Element 2420BREFOT must be

Missing"

present
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Disposition / Error

Element Too Long"

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
2420B.REF02.010 999 R ) K403 = 1: Requmed . 2420B.REFO2 must
Data Element Missing" | be present.
IK403 = 110:
2420B.REF03.010 990 N/U ) Impl“ementotlon Not | Must not be
Used" Element present.
Present"
IK403 = 110:
2420B.REF04.010 990 ) ) Impl“ementotlon Not | Must not be
Used" Element present.
Present"
IK304 = 4: "Loop Only one iteration
2420C.NM1.020 999 - - Occurs Over of 2420B.NM1 is
Maximum Times" allowed.
Coa 2420B.NM101 must
2420C.NM101.010 999 R - K304 = 2: "Unexpected | o esent and a
segment !
valid value.
2420C.NM102.010 999 R ) K403 = 1: Requmed . 2420B.NM102 must
Data Element Missing" | be present.
2420C NM102.020 990 ) ) IK403 =7: |I’1"\/Cllld 2319P.NM102 must
Code Value be "1".
IK403 =1: "Required 2310D.NM103 must
2420C. 299 R ) Data Element Missing" | be present.
K403 = 6: "Invalid 231ODNMIOS must
2420C.NM103.020 999 - - Character in Data
" one non-space
Element
character.
2420C.NM103.030 999 ) ) IK403 = 5: "Data 2310D.NM103 must

be 1- 60 characters.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
K403 = 6: "Invalid 2STODNMIDS must
2420C.NM103.050 999 - - Character in Data Pop
" accepted AN
Element
characters.
K403 = 6: "Invalid 2310DNMIDA must
2420C.NM104.010 999 S - Character in Data
. one non-space
Element
character.
L 2420B.NM104 must
2420C.NM104.020 999 - - K403 =5 'Data | be 1-35
Element Too Long
characters.
K403 = 6:"Invalid 2A2OBNIMIOE must
2420C.NM104.050 999 - - Character in Data Pop
" accepted AN
Element
characters.
IK403 = 13: If 2420B.NM102 is
"Implementation "2" 2420B.NM105
2420C.NM105.010 299 S ) Dependent "Not Used" | must not be
Data Element Present" | present.
K403 = 6: "Invalid 2A20BNMIOS must
2420C.NM105.020 999 - - Character in Data
" one non-space
Element
character.
- 2420B.NM105 must
2420C.NM105.030 999 - - k403 = 5: 'Data | be 1-25
Element Too Long
characters.
K403 = 6: "Invalid 2A20BNIIOS must
2420C.NM105.050 999 - - Character in Data pop
" accepted AN
Element
characters.
K403 =110: Must not be
2420C.NM106.010 999 N/U - "Implementation "Not resent
Used" Element Present" | P ’
IK403 = 110:
2420C.NM107.010 999 s - "Implementation "Not | MUt notbe
present.

Used" Element Present”
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Disposition / Error

Loop/Segment/Element Response [ Usage | Repeat Code Dental Edits
IK403 = 7:"Invalid 2420B.NM108 must
2420C.NM108.030 999 - - Code Value" be "XX"
K403 = 2: If 2420B.NM108 is
"Conditional present,
2420C.NM109.010 799 S - Required Data 2420B.NM109 must
Element Missing" be present.
IK403 = 110:
2420C.NM110.010 999 NU - Implementation 'NOt | ot ot be present.
Used" Element
Present"
K403 =110:
2420C.NM111.010 999 NU - Implementation "NOt |yt not be present.
Used" Element
Present"
K403 =110:
2420C.NM112.010 999 N/U - Impl”emento'uon Not Must not be present.
Used" Element
Present"
K304 = 19 If 2420C.NM1 is
2420C.REF.010 999 S - Dependent "Not i
Used" Segment p(esent, 2420C.REF
" with REFO1="1G"
Present
may be present.
IK304 =19:
"Implementation
2420C REF.030 999 . . Dependent "Not PAZDCREF mustnot
" e present.
Used" Segment
Present"
IK403 = 1: "Required
2420CREFO1.010 999 R . Data Element 2420CREFO1 must be
S present
Missing
IK403 = 1: "Required
2420C.REF02.010 999 R - Data Element 2420CREFO2 must be

Missing"

present.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK403 = 110:
2420C REF03.010 990 N/U ) Impl"ementotlon Not | Must not be
Used" Element present.
Present"
IK403 =110:
2420C.REF04.010 990 ) ) Impl"ernentonon Not | Must not be
Used" Element present.
Present"
IK304 = 4:"Loop Only one iteration
2420D.NM1.010 999 S 1 Occurs Over of 2420D.NM1 is
Maximum Times" allowed.
A 2420D.NM101 must
2420D.NM101.010 999 R - K304 = 2: "Unexpected | |, present and a
segment !
valid value.
IK403 = 1: "Required
2420D.NM102.010 999 R - Data Element 2420DNM102 must
T be present.
Missing
2420D.NM102.020 999 ) ] K403 = 7: "Invalid 2420D.NM102 must
Code Value be "2".
IK403 = 1: "Required
2420D. 999 R - Data Element 2420DNM103 must
T be present.
Missing
IK403 = 6: "Invalid 2420D.NM103 must
2420D.NM103.020 999 - - Character in Data be at least one non-
Element” space character
IK403 = 5: "Data 2420D.NM103 must
2420D.NM103.030 299 i ) Element Too Long" be 1- 50 characters.
K403 = 6: "Invalid 2420DIMIOS must
2420D.NM103.050 999 - - Character in Data Pop

Element"

accepted AN
characters.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
1K403 = 110:

5420D NM104.010 990 N/U ) Impl"ementotlon Not | Must not be
Used" Element present.
Present"
IK403 = 110:

2420D.NM105.010 990 N/U ) Impl"ementoUon Not | Must not be
Used" Element present.
Present"
IK403 = 110:

2420D.NM106.010 990 N/U ) Impl"ementoUon Not | Must not be
Used" Element present.
Present"
K403 = 110:

2420D.NM107.010 990 N/U ) Impl"ementotlon Not | Must not be
Used" Element present.
Present"

2420D.NM108.010 990 s ) K403 = 7:"Invalid Code 242"OD."NM108 must
Value be "XX".
K403 = 2: "Conditional gf{f&?“wog 's

2420D.NM109.010 999 S - Required Dgtg . 5420D.NM109 must
Element Missing b

e present.

IK403 = 110:

2420D.NM110.010 990 N/U ) Impl"ementoUon Not | Must not be
Used" Element present.
Present"
K403 = 110:

2420D.NM111.010 990 N/U ) Impl"ementotlon Not | Must not be
Used" Element present.
Present"
K403 = 110:

2420D.NM112.010 990 N/U ) Impl"ementotlon Not | Must not be
Used" Element present.

Present”
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Disposition / Error

Dependent Segment
Missing"

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
.'.réo‘llezm'z’mo tion If 2420D.NM1 is
2420D.N3.010 999 R - P present, 2420D.N3
Dependent Segment
N must be present.
Missing
IK304 = 5:"Segment Only one iteration
2420D.N3.020 999 - - Exceeds Maximum of 2420D.N3 is
Use" allowed.
2420D.N301.010 999 R ) K403 = 1: ReqU|r.eo|. . 2420D.N301 must
Data Element Missing" | be present.
K403 = 6: "Invalid 24200307 must
2420D.N301.020 999 - - Character in Data
" one non-space
Element
character.
L 2420D.N301 must
2420D.N301.030 999 - - K403 = 5. Data be 1-55
Element Too Long
characters.
K403 = 6: "Invalid 2azOD NSOl must
2420D.N301.050 999 - - Character in Data Pop
El " accepted AN
ement
characters.
K403 = 6:"Invalid 2420DN308 must
2420D.N302.020 999 S - Character in Data
" one non-space
Element
character.
o 2420D.N302 must
2420D.N302.030 999 - - K403 = 5. Data be1-55
Element Too Long
characters.
K403 = 6: "Invalid 2azODNS02 must
2420D.N302.050 999 - - Character in Data Pop
" accepted AN
Element
characters.
.',rrio?eug’nm ton If 2420D.NM1 is
2420D.N4.010 999 R - P present, 2420D.N4

must be present.

National Government Services, Inc.

Page 147 of 159



837D

Disposition / Error

Present”

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK304 = 5:"Segment Only one iteration
2420D.N4.020 999 - - Exceeds Maximum of 2420D.N4 is
Use" allowed.
2420D.N401.010 999 R ) K403 = 1: ReqU|r.eo|. . 2420D.N401 must
Data Element Missing" | be present.
K403 = 6: "Invalid iéﬁ?&}’jéﬂe@:ﬁ
2420D.N401.020 999 - - Character in Data
" two non-space
Element
characters.
IK403 = 4: "Data
Element Too Short" 2420D.N401 must
2420D.N401.030 299 ) ) IK403 = 5: "Data be 2-30 characters.
Element Too Long"
K403 = 6:"Invalid 2420DNA01 must
2420D.N401.050 999 - - Character in Data Pop
" accepted AN
Element
characters.
IK403 = 2: "Conditional grzeii%?’\mo“ Is not
2420D.N402.010 999 S - Required Dotg . 5420D.N402 must
Element Missing
be present.
K403 = 2: "Conditional grzeize?]'?'mo“ 's not
2420D.N403.010 999 ) - Required Dgtq . 5420D.N403 must
Element Missing
be present.
IK403 = 6: "Invalid )
2420D.N403.020 999 s - Character in Data If 2420D N403 is not
" numeric.
Element
IK403 =110:
2420D.N404.010 099 S ) Impl:ementotlon Not [ Must not be
Used" Element present.
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Disposition / Error

"Not Used" Element
Present”

Loop/Segment/Element Response [ Usage | Repeat Code Dental Edits
K403 =110:
"Implementation
2420D.N405.010 999 N/U - "Not Used" Element Must not be present.
Present”
IK403 = 10:
"Implementation
2420D.N406.010 999 N/U - "Not Used" Element Must not be present.
Present"
IK403 = 10:
"Implementation
2420D.N407.005 999 S - "Not Used" Element Must not be present.
Present"
. If 2420D.NM1 is
mplementation | BESTRNC, oy
2420D.REF.010 999 S - Dependent "Not :
Used” Segment pfesent, 2420D.REF
" with REFO1 ="1G" may
Present
be present.
K304 =19:
"Implementation
2420D.REF.030 999 - ; Dependent "Not 2420D.REF must not
f be present.
Used" Segment
Present"
IK403 = 1: "Required
2420D.REF01.010 999 R - Data Element 2420D.REFOT must be
S present
Missing
IK403 =1: "Required
2420D.REF02.010 999 R - Data Element 2420D.REFO2 must be
S present.
Missing
K403 =110:
"Implementation
2420D.REF03.010 999 N/U - "Not Used" Element Must not be present.
Present”
K403 =110:
2420D.REF04.010 999 - - mplementation Must not be present.
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837D

Disposition / Error

Loop/Segment/Element Response [ Usage | Repeat Code Dental Edits
o Only fifteen
2430.010 999 - 15 K304 = 4: 'LOOP OCCUTS | 140 Gtions of 2430
Over Maximum Times
are allowed.
IK304 = 5:"Segment Only one iteration
2430.5VD.010 999 S - Exceeds Maximum of 2430.5VD is
Use" allowed.
2430.SVD01.010 990 R ) K403 =1: Requiﬁeq . 2430.SVDO1 must
Data Element Missing" | be present.
K403 = 112: 2430.SVDO1 must =
2430.5VD01.020 999 - - "Implementation 2330B.NM109 (for
Pattern Match Failure" | the same payer).
2430.5VD02.010 990 R ) K403 =1: Requiﬁeq . 2430.SVD02 must
Data Element Missing" | be present.
IK403 = 6: "Invalid
2430.5VD02.020 999 - - Character in Data 2430.5VD02 must
" be numeric.
Element
. 2430.SVD02 must
2430.5VD02.040 999 - - 'Eﬁg?nse;fffootgn . be >= 0 and <=
9 99,999.99.
2430 SVD03-1010 990 R ) IK403 = 1: Requireo{ ) 2430.5VD03-1 must
Data Element Missing" | be present.
2430 SVD03-2.010 990 R ) IK403 = 1: Requmed ) 2430.5VD03-2 must
Data Element Missing" | be present.
IK403 = 2: "Conditional éigésn\{Do}AL 1S
2430.5VD03-4.010 999 S - Required Dgtq ) 5430 SVDO3-3 must
Element Missing b
e present.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
K403 = 2: "Conditional é‘ig'esn\{m“ s
2430.5VD03-5.010 999 S - Required Dotg . 5430.SVD03-4 must
Element Missing b
e present.
IK403 = 2: "Conditional Eﬁggésn\iDO}é 1S
2430.5VD03-6.010 999 S - Required D_ot_cl . 5430.SVD03-5 must
Element Missing b
e present.
K403 = 6: “Invalid 2430.5VD0 7 must
2430.5VDO03-7.010 999 S - Character in Data
" one non-space
Element
character.
IK403 = 5:"Data 2430.SVDO03-7 must
2430.5VD03-7.020 299 ) ) Element Too Long" be 1-80 characters.
IK403 = 6: "Invalid 2AS0.SVE0S T must
2430.5VD03-7.040 999 - - Character in Data pop
" accepted AN
Element
characters.
IK403 = 110:
5430 SVD03-8.010 990 N/U ) Impl"ementotlon Not | Must not be
Used" Element present.
Present"
IK403 = 110:
2430.5VD04.010 990 N/U . Impl"ernentonon Not | Must not be
Used" Element present.
Present"
2430 SVD05.010 990 R ) IK403 = 1: Reqwr'ed' . 2430.5VDO0O5 must
Data Element Missing” | be present.
IK403 = 6: "Invalid
2430.5VD05.020 999 . - Character in Data 2430.5VDOS must
" be numeric.
Element
. 2430.SVDO0O5 must
2430.5VD05.025 999 ) ) IK403 = 5:"Data b oo 0 and <=

Edit Deactivated

Element Too Long"

999.9.
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837D Disposition / Error -
Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK403 = 5:"Data 2430.5VDO05 must be
2430.5VD05.035 299 ) ) Element Too Long" >= 0 and <= 9,999.9.
IK403 = 6: "Invalid
2430.5VD06.010 999 S - Character in Data | 2430-SVDOS must be
. numeric.
Element
IK403 = 6: "Invalid 2430.5VD06 must be
2430.5VD06.020 999 - - Character in Data ainteger (whole
Element" number).
IK403 = 5: "Data 2430.SVD06 must 1-
2430.5VD06.030 299 ) ) Element Too Long" 6 digits.
IK304 =19:
"Implementation
Dependent "Not
Used" Segment
Present" If 2430.CAS is
2430.CAS.010 999 S - present, 2430.SVD
OR must be present.
IK304 = 2:
"Unexpected
Segment”
IK304 = 5:"Segment Only five iterations
2430.CAS.020 999 - - Exceeds Maximum of 2430.CAS are
Use" allowed.
IK403 = 1: "Required
2430.CAS01.010 999 R - Data Element 2430 CASOT must be
. present.
Missing
2430 CAS01.020 990 ) ) K403 =7: In“vohd 243_O.CASO1 must be
Code Value valid values.
IK403 = 1: "Required
2430.CAS02.010 999 R - Data Element 2430.CAS02 must be
S present.
Missing
IK403 = 1: "Required
2430.CAS03.010 999 R - Data Element 2430.CAS03 must be
S present.
Missing
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Required Data
Element Missing"

837D Disposition / q
Loop/Segment/Element Response | Usage | Repeat Error Code Dental Edits
IK403 = 6: "Invalid
2430.CAS03.020 999 . - Character in 2430.CAS03 must be
. numeric.
Data Element
IK403 = 5:"Data 2430.CAS03 must be >= -
2430.CAS03.050 999 - - Element Too 99,999.99 and
Long" <=99,999.99.
IK403 = 5:"Data
2430.CAS04.010 999 S - Element Too 2320.CAS04 must be 1-15
" digits.
Long
.',Ei%fj;iﬁnol If 2430.CASO5 is
2430.CAS05.010 999 S - : present, 2430.CAS02
Required Data
.~ | must be present.
Element Missing
'I'(Kii?iii:tizc;nol If 2430.CASO5 is present,
2430.CAS06.010 999 S - ; 2430.CAS06 must be
Required Data resent
Element Missing" P ‘
IK403 = 6: "Invalid
2430.CAS06.020 999 : - Character in 2430.CAS06 must be
" numeric.
Data Element
IK403 = 5:"Data 2430.CAS06 must be >= -
2430.CAS06.050 999 - - Element Too 99,999.99. and <=
Long" 99,999.99.
.',Ei%fj;iﬁnol If 2430.CASO7 is
2430.CAS07.010 999 S - : present, 2430.CAS0O5
Required Data
.~ | must be present.
Element Missing
IK403 = 5: "Data
2430.CAS07.020 999 . - Element Too 2520.CASO7 must be 115
" digits.
Long
BSESE If 2430.CASO8 is
2430.CAS08.010 999 S - present, 2430.CASO5

must be present.
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837D Disposition / .
Loop/Segment/Element OIS | DERED | e Error Code el el
BSESME If 2430.CASO8 is present,
2430.CAS09.010 999 S - Required Data 2430.CASO9 must be
Element Missing" present.
IK403 = 6: "Invalid
2430.CAS09.020 999 - - Character in iﬁf;)écrﬁ:soo must be
Data Element” '
IK403 = 5:"Data 2430.CAS09 must be >= -
2430.CAS09.050 999 - - Element Too 99,999.99. and
Long" <= 9999999,
.',(K:i?%i:t%ngl If 2430.CAS10 is
2430.CAS10.010 999 S - Required Data present, 2430.CAS08
Element Missing" must be present.
IK403 = 5:"Data
2430.CAS10.020 999 - - Element Too f?o'CAS”O must be 1-15
Long" igits.
.',(K:i?%i:t%ngl If 2430.CAST1 is
2430.CAS11.010 999 S - Required Data present, 2430.CAS08
Element Missing" must be present.
.',g?él;%ml If 2430.CAS11 is present,
2430.CAS12.010 999 S - Required Data 2430.CAS12 must be
Element Missing" present.
IK403 = 6: "Invalid
2430.CAS12.020 999 i - Character in 2430 CAST2 must be
Data Element” ’
IK403 = 5: "Data 2430.CAS12 must be >= -
2430.CAS12.050 999 - - Element Too 99,999.99. and
Long" <= 9999999,
.',g?%i:tizc;ml If 2430.CAS13 is
2430.CAS13.010 999 S - present, 2430.CAS11

Required Data
Element Missing"

must be present.
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837D Disposition / .
Loop/Segment/Element FEEOTED | AR | R 20C1E Error Code SR
IK403 = 5:"Data
2430.CAS13.020 999 - . Element Too 2320 CASTS must be 115
Long" igits.
.'.Ei%zi:t%nol If 2430.CAS14 is
2430.CAS14.010 999 S - Required Data present, 2430.CAS11
Element Missing" must be present.
.'.Ei%zi:t%nol If 2430.CAS14 is present,
2430.CAS15.010 999 S - Required Data 2430.CAS15 must be
Element Missing" present.
IK403 = 6: "Invalid
2430.CAS15.020 999 . . Character in Data | 2430:CAS1S must be
Element” numeric.
IK403 = 5:"Data | 2430.CAS15 must be >= -
2430.CAS15.050 999 - - Element Too 99,999.99. and
Long" <=99,999.99.
.',g%i:t%ml If 2430.CAS16 is
2430.CAS16.010 999 S - Reguired Data present, 2430.CAS14
d .~ .~ . | must be present.
Element Missing
IK403 = 5:"Data
2430.CAS16.020 999 - . Element Too 2320 CAS16 must be 113
Long" igits.
.',g%i:t%ml If 2430.CAS17 is
2430.CAS17.010 999 S - Reguired Data present, 2430.CAS14
d .~ .~ . | must be present.
Element Missing
.',g%i:t%ml If 2430.CAS17 is present,
2430.CAS18.010 999 S - Required Data 2430.CAS18 must be
Element Missing" present.
IK403 = 6: "Invalid
2430.CAS18.020 999 - i Character in Data | 2430-CAS18 must be

Element"

numeric.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
o 2430.CAS18 must be >=
2430.CAS18.050 999 - - 'Eﬁgfje‘nfffooign . -99.999.99. and
9 | <=99,999.99.
.',Ei%fj;%nol If 2430.CAS19 is
2430.CAS19.010 999 S - : present, 2430.CAS17
Required Data
S must be present.
Element Missing
IK403 = 5:"Data 2320.CAS19 must be 1-
2430.LAS19.020 299 ) ) Element Too Long" | 15 digits.
O 1 ion | Per Payer,If 24305VD
2430.DTP.010 999 R - P is present, 2430.DTP
Dependent
N must be present.
Segment Missing
IK304 = 5:"Segment | Per Payer, Only one
2430.DTP.020 999 - - Exceeds Maximum | iteration of 2430.DTP is
Use" allowed.
IK403 = 1: "Required
2430.DTP01.010 999 R - Data Element 2430DTPOT must be
S present.
Missing
IK403 =7: "Invalid 2430.DTPO1 must be
2430.DTP01.020 999 - - Code Value" 573"
IK403 = 1: "Required
2430.DTP02.010 999 R - Data Element 2430DTPO2 must be
S present.
Missing
IK403 =7: "Invalid 2430.DTP0O2 must be
2430.DTP02.020 999 - - Code Value" "DS"
IK403 = 1: "Required
2430.DTP03.010 999 R - Data Element 2430.DTPO3 must be
S present.
Missing
. . 2430.DTP0O3 must be a
2430.DTP03.020 999 - - K403 =8:"Invalid | | i date in the

Date"

format of CCYYMMDD.
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837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental Edits
Only one
IK304 = 5:"Segment iteration of
2430.AMT.020 299 S ) Exceeds Maximum Use" | 2430.AMT is
allowed.
2430 AMTO1.010 990 R ) IK403 = 1: Reqwr”ed Data | 2430.AMTO1 must
Element Missing be present.
2430 AMTO1.020 990 ) ) IK403 = 7:"Invalid Code 243”0.AIVJTO1 must
Value be "EAF".
2430 AMT02.005 990 R ) IK403 = 1: Reqwrﬂed Data | 2430.AMT02 must
Element Missing be present.
IK403 = 6: "Invalid
2430 AMT02.010 999 : : Character in Data 2430.AMTO2 must
" be numeric.
Element
IK403 = 5: "Data Element | 2430.AMT02 must
2430.AMT02.020 999 - - Too Long" be <= 99.999.99.
K403 = 10. Must not be
2430.AMT03.010 999 N/U - "Implementation "Not resent
Used" Element Present” P ’
SE010 990 R ) IK502 ='2: Trqn;ocflon SE must be
Set Trailer Missing". present.
IK502 = 4: "Number of
SE01.010 999 R - Included Segments Does SIrEé);er:tust be
Not Match Actual Count". | P ‘
IK502 = 4:"Number of
SE01.020 999 - - Included Segments Does iE?geTigSt be
Not Match Actual Count". ’
IK502 = 4: "Number of SEO1 must equal
SE01.030 999 - - Included Segments Does | the transaction

Not Match Actual Count".

segment count.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK502 = 4: "Number of
Included Segments
SEO01.040 999 - - Does Not Match SEO1 must be > 0.
Actual Count".
IK502 = 3:
"Transaction Set
SE02.010 999 R - Control Numberin [ 2592 must be
Header and Trailer P ’
Do Not Match".
IK502 = 3:
"Transaction Set
SE02.020 999 - - Control Number in SEO02 must = ST02.
Header and Trailer
Do Not Match".
AKQ05 = 3:
GE.0O10 999 R - "Functional Group GE must be present.
Trailer Missing"
AK905 = 5:"Number
of Included
GEO01.010 999 R - Transaction Sets OEDT must be
Does Not Match P ’
Actual Count".
AK905 = 5:"Number
of Included
GE01.020 999 - - Transaction Sets Sfr?:er:;gSt be
Does Not Match ’
Actual Count".
AK905 = 5:"Number GEO1 must equal the
of Included number of
GE01.030 999 - - Transaction Sets transaction sets
Does Not Match included in the
Actual Count". functional group.
AK905 = 5:"Number
of Included
GE01.040 999 - - Transaction Sets GEO1 must be > 0.

Does Not Match
Actual Count".
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837D . A .
Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental Edits
AK905 = 4:"Group Control
Number in the Functional
GE02.010 999 R - Group Sgoie”;gf&
Header and Trailer Do Not P '
Agree".
AK9O05 = 4:"Group Control
Number in the Functional B
GE02.020 999 - ; Group gggi must =
Header and Trailer Do Not '
Agree".
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